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A%m% | Nz [ veol oka Tos00 | e N e e
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M$EZI511/3/7 1 EER(10A30~31BEESD) JTA

EEEAR 2019/11/21  ~

10/30 10/31
BRI A 5 EI(7 B HE917 C| 4547 D[ 458547 Al 158547 B {8547 C| #8547 D)

T FH# FH# FH EE EE EE EE EE EE EE EE
BAME | BAMR | mAME | BABE EEE | EAdE | ERE | Eae | BN | ERs | Enas | EaE

H5{E917 Al BE S 7B HHE 47 C ¥ E447D|

B Ea

KR (BAE) =50k (AR ER) KR (B#E) % | _NUoo1 35500 | 35400 | 34400 35500 | 35400 | 35,100

NU005 35500 | 35400 | 24,000 35500 | 35400 | 27,200
NU009 35500 | 35400 | 29,800 — 35500 | 35400 | 26,200 —
NU002 35500 | 35400 | 24,700 — 35500 | 35400 | 22,700 —
NU004 35500 | 35400 | 19,900 — 35500 | 35400 | 19,900 —
NU008 35500 | 35400 | 33400 35500 | 35400 | 33400
WRECRR)=RE FR(CPE)FE | _NUoTI 58,700 | 58600 | 55500 58700 | 58,600 | 58400
NU073 58,700 | 58,600 | 52500 58,700 | 58,600 | 55500
wER NU070 58,700 | 58,600 | 51,500 58,700 | 58,600 | 51,500
NU076 58,700 | 58,600 | 55500 58,700 | 58,600 | 55500
1BRE=h 4% (IRE) FHEES NUO51 28,600 | 28500 | 27.200 28600 | 28,500 | 27,800
NU053 28,600 | 28,500 | 27.800 28,600 | 28500 | 27,800
NU057 28600 | 28500 | 27,800 28,600 | 28500 | 27,800
NUO6 1 28,600 | 28500 | 24,100 28,600 | 28500 | 24,100
NU063 28,600 | 28500 | 24,100 — 28,600 | 28500 | 24,100 —
NU065 28,600 | 28500 | 24,100 — 28,600 | 28500 | 24,100 —
WOERFF [ NU0sO 28,600 | 28,500 19,000 -— 28,600 | 28500 | 21,000 -—
NU052 28,600 | 28500 | 21,500 28,600 | 28500 | 22,000
NUO054. 28,600 | 28500 | 22,000 28,600 | 28500 | 22,500
NU058 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —
NU060 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —
NU062 28,600 | 28500 | 25,600 — 28,600 | 28500 | 25,900 —
RRECAR)=8H FRCPE)E | NUo21 54,900 | 54800 | 54,100 54,900 | 54800 | 54,700
=h% NU022 54,900 | 54,800 | 54,100 54,900 | 54,800 | 54,100
KR (BFE) =R KRR (BS#E) % | NU083 48400 | 48,300 | 40,600 48400 | 48,300 | 41,600
GiE% NU086 48,400 | 48,300 | 39,500 48,400 | 48,300 | 40,500
MR=3EE GIRER) AT NU037 | 3HAT 3B AT 39,000 | 35900 | 32,700 -— 41,800 | 41,500 | 40500
CPEB(ARE)SR | NU036 | 3HET 3B AT 39,000 | 35900 | 32,700 39,000 | 35900 | 32,700

BEE (PER) =5

WMOBH) | 2EE(PED R [ NU043 39,600 | 39200 | 35300 39,600 | 39200 | 38,700

< eofeo]eoeo feofeo]eo|eofeo]eoeo feo[eo]eo feofeo]eoeo feo[eo oo feofeo]eo]eo feofeo]eo|eofeo ||~ feo|eo]eofeofeo]eoeo feo |~ feofeo]eo|eofeo|eo]eofeofeo]eoeo feo|eo]eo feofe]eo|eofeo]eo]eofeofeo]eo|eo feo

NU045 E] 39,600 | 39200 | 35,300 39,600 | 39200 | 38,700
NU047 E] 39,600 | 39200 | 28,900 39,600 | 39,200 | 38,700
NU049 E] 39,600 | 39200 | 38,700 — 39,600 | 39200 | 38,700 —
SPREGIRER) & | _NU042 B 39,600 | 39200 | 30,300 -— 39,600 | 39,200 | 34,700 -—
NU044. E] 39,600 | 39200 | 35,300 — 39,600 | 39,200 | 35300 —
NU046 E] 39,600 | 39200 | 35,300 39,600 | 39,200 | 35300
NU048 E] 39,600 | 39200 | 35,300 39,600 | 39,200 | 35300
FEIL=3#8 GIRER) [EES NUoit | 3HET 3BAI B 33,800 | 33600 | 32,700 -— 35300 | 35000 | 34,200 -—
MR (IRE) S [ NUOT6 | 3HAT 3B AT B 33,800 | 32000 | 29,700 -— 33,800 | 32000 | 29,700 -—
4B (R =F1E BRE K | NUe0T B 14300 | 11,200 | 10,600 — 14800 | 11,700 | 11,200 —
NU605 B 15500 | 12,300 | 10,900 15700 | 12,500 | 11,700
NU607 B 15500 | 12,300 | 10,900 15700 | 12,500 | 11,700
NU609 B 15500 | 12,300 | 10,900 15700 | 12,500 | 11,700
NU617 B 14300 | 11,200 | 10,600 14800 | 11,700 | 11,200
NU621 B 14200 | 11,200 | 10,400 14700 | 11,700 | 11,000
NU625 B 14200 | 11,200 | 10,600 14700 | 11,700 | 11,200
aiER NU600 B 14200 | 11,200 | 10,500 14200 | 11,200 | 10,600
NU608 B 14200 | 11,200 | 10,600 14200 | 11,200 | 10,600
NU610 B 14200 | 11,200 | 10,400 14200 | 11,200 | 10,400
NU612 B 14200 | 11,200 | 10,400 — 14200 | 11,200 | 10,400 —
NU614 B 14200 | 11,200 | 10,600 — 14200 | 11,200 | 10,600 —
NU622 B 15500 | 12,300 | 10,600 — 15500 | 12,300 | 10,900 —
NU626 B 14200 | 11,200 | 10,600 14200 | 11,200 | 10,600
B RT)=EE B (M) K | NUSS51 E] 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700
NU557 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 —
NU559 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 —
NU563 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 —
NU565 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900
NU567 B 12600 | 11,900 | 11,000 12600 | 11,900 | 11,000
NU571 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900
NU573 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900
EET S NU552 B 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 —
NU556 B 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700
NU558 B 12600 | 11,900 | 11,000 12,600 | 11,900 | 11,000
NU560 B 12600 | 11,900 | 11,000 12600 | 11,900 | 11,000
NU562 = 13,100 | 12,500 | 11,700 13,100 | 12,500 [ 11,700
NU564 = 13,100 | 12,500 | 11,700 — 13,100 | 12,500 [ 11,700 —
NU566 = 13,100 | 12,500 | 11,700 — 13,100 | 12,500 [ 11,700 —
NU572 = 13,100 | 12,500 | 11,700 — 13,100 | 12,500 [ 11,700 —
PRI =A%KE NU211 | 3EAT EEd E] 8,500 8,000 7.900 — 8500 8000 7.900 —
NU212 [ 3EAT | 3HAT E] 8,600 8,500 8400 — 8500 8000 7.900 —




THEZIE11/3/7BEXR(11A1~3BBESD) JTA

EEEAR 2019/11/21  ~

1171 11/2 I 11/3 |
B {7 A 151547 B[ 1585 (7 C[ 4518547 D 1B 57 Al {8547 B[ B E 547 C[ #5857 DS B2 [5 1B 57 [BE547 (37 T

T FH# FH FH i i i i . . . . B | EELE | EEsE | B
FAKR | WARR | HALE | mABE EEE | EAd | ENE | B0 | BN | BN | Ead | 8RS | BRSNS EaE | En

H5{E917 Al BE S 7B HHE 47 C ¥ E447D|

B Ea

KR (BAE) =50k (AR ER) KBz (BA#E) % | NU0O1 35500 | 35400 | 33400 35500 | 35400 | 33400 35,500 | 35400 | 33,400

NU005 35500 | 35400 | 23900 35500 | 35400 | 19,900 35,500 | 35.400 | 19,900

NU009 35500 | 35400 | 26800 — 35500 | 35400 | 23,700 —— | 35,500 | 35.400 | 23,700

NU002 35500 | 35400 | 22,700 — 35500 | 35400 | 22,700 —— | 35,500 | 35.400 | 31,100

NU004 35500 | 35400 | 19,900 — 35500 | 35400 | 24,100 —— | 35,500 | 35.400 | 33,100

NU008 35500 | 35400 | 35100 35500 | 35400 | 31,100 35,500 | 35.400 | 34,500

WRECRR)=RE RECRE)SE | NU0T1 58,700 | 58600 | 55500 58,700 | 58600 | 55500 58,700 | 58,600 | 48,500
NU073 58,700 | 58,600 | 52500 58,700 | 58,600 | 52500 58,700 | 58,600 | 48,500

BER NU070 58,700 | 58,600 | 54,500 58,700 | 58,600 | 54,500 58,700 | 58,600 | 54,500

NU076 58,700 | 58,600 | 58400 58,700 | 58,600 | 58400 58,700 | 58,600 | 58,400

1BRE=h 4% (IRE) FHEES NUO51 28,600 | 28500 | 27.200 28,600 | 28500 | 25900 28,600 | 28,500 | 25,900
NU053 28,600 | 28,500 | 27,200 28,600 | 28,500 | 25900 28,600 | 28,500 | 25,900

NU057 28600 | 28500 | 27,200 28,600 | 28500 | 25,900 28,600 | 28,500 | 25,900

NUO6 1 28,600 | 28500 | 23,600 28,600 | 28500 | 19,400 28,600 | 28,500 | 19,400

NU063 28,600 | 28500 | 23,600 — 28,600 | 28500 | 20,400 —— [ 28,600 | 28,500 | 20,400

NU065 28,600 | 28500 | 23,600 — 28,600 | 28500 | 20,400 —— [ 28,600 | 28,500 | 20,400

WOERFF [ NU0sO 28,600 | 28500 | 21,300 -— 28,600 | 28500 | 20400 -— 28,600 | 28,500 | 24,000

NU052 28600 | 28500 | 22,500 28,600 | 28500 | 20,400 28,600 | 28,500 | 24,000

NUO054. 28600 | 28500 | 23,500 28,600 | 28500 | 21,500 28,600 | 28,500 | 24,000

NU058 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —— [ 28,600 | 28,500 | 26,900

NU060 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —— [ 28,600 | 28,500 | 26,900

NU062 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —— [ 28,600 | 28,500 | 26,600

RRECAR)=8H FRCPE)E | NUo21 54,900 | 54800 | 54,100 54,900 | 54800 | 54,100 54,900 | 54,800 | 45,800
HE R NU022 54,900 | 54,800 | 54,700 54,900 | 54,800 | 54,700 54,900 | 54,800 | 54,700

KR (BFE) =R KRR (BS#E) % | NU083 48400 | 48,300 | 40500 48400 | 48,300 | 40500 48,400 | 48,300 | 40,500
GIEH NU086 48,400 | 48,300 | 40,600 48,400 | 48,300 | 40,600 48,400 | 48,300 | 41,600

MR=3EE GIRER) AT NU037 | 3HAT 3B AT 41,800 | 41,500 | 40500 -— 39,000 | 34800 | 31,700 39,000 | 34,800 | 31,700
CPEB(ARE)SR | NU036 | 3HET 3B AT 39,000 | 35900 | 32,700 39,000 | 34800 | 31,700 41,800 | 41,700 | 41,400

BEE (PER) =5

(R E) ZEE(RER) R | NU043 39,600 39,200 38,700 39,600 39,200 35,300 39,600 | 39,200 | 35,300

< eofeo]eoeo feofeo]eo|eofeo]eoeo feo[eo]eo feofeo]eoeo feo[eo oo feofeo]eo]eo feofeo]eo|eofeo ||~ feo|eo]eofeofeo]eoeo feo |~ feofeo]eo|eofeo|eo]eofeofeo]eoeo feo|eo]eo feofe]eo|eofeo]eo]eofeofeo]eo|eo feo

NU045 E] 39,600 | 39200 | 38,700 39,600 | 39,200 | 35,300 39,600 | 39,200 | 35,300

NU047 E] 39,600 | 39200 | 38,700 39,600 | 39,200 | 28,300 39,600 | 39,200 | 28,300

NU049 E] 39,600 | 39200 | 38,700 — 39,600 | 39,200 | 27,000 —— 39,600 [ 39,200 | 27,000

SPREGIRER) & | _NU042 B 39,600 | 39200 | 28300 -— 39,600 | 39200 | 38,700 -— 39,600 | 39,200 | 38,700
NU044. E] 39,600 | 39200 | 35,300 — 39,600 | 39200 | 38,700 —— 39,600 [ 39,200 | 38,700

NU046 E] 39,600 | 39200 | 35,300 39,600 | 39,200 | 38,700 39,600 | 39,200 | 38,700

NU048 E] 39,600 | 39200 | 35,300 39,600 | 39200 | 38,700 39,600 | 39,200 | 38,700

FEIL=3#8 GIRER) [EES NUoit | 3HET REEED B 33,800 | 32000 | 31,700 -— 33,800 | 32000 | 29,700 -— 33,800 | 32,000 | 29,700
PR GIRE) S | NUO16 | SHEAT REEED B 33,800 | 33600 | 32,700 -— 33,800 | 32,600 | 32,000 -— 35,300 | 35,000 | 34,200
4B (R =F1E BRE K | NUe0T B 14800 | 11,700 | 11,200 — 13700 | 11,100 | 10,900 — | 14,800 | 11.700 | 11,200
NU605 B 15700 | 12,500 | 11,700 14800 | 12,200 | 11,400 15,700 | 12,500 | 11,700

NU607 B 15700 | 12,500 | 11,700 14800 | 12,200 | 11,400 15,700 | 12,500 | 11,700

NU609 B 15700 | 12,500 | 11,700 14800 | 12,200 | 11,400 15,700 | 12,500 | 11,700

NU617 B 14800 | 11,700 | 11,200 13700 | 11,100 | 10,600 14,800 | 11,700 [ 11,200

NU621 B 14700 | 11,700 | 11,000 13600 | 11,100 | 9,700 14,700 | 11,700 [ 11,000

NU625 B 14700 | 11,700 | 11,200 13600 | 11,100 | 10,600 14,700 | 11,700 [ 11,200

aiER NU600 B 14200 | 11,200 | 10,600 13600 | 11,100 | 10,900 14,200 | 11,200 | 10,600
NU608 B 14200 | 11,200 | 10,600 13600 | 11,100 | 10,900 14,200 | 11,200 | 10,600

NU610 B 14200 | 11,200 | 10,400 13600 | 11,100 | 9,700 14,200 | 11,200 | 10,400

NU612 B 14200 | 11,200 | 10,400 — 13600 | 11,100 | 9,700 —— | 14,200 | 11.200 | 10,400

NU614 B 14200 | 11,200 | 10,600 — 13600 | 11,100 | 10,900 —— | 14,200 | 11.200 | 10,600

NU622 B 15500 | 12,300 | 10,900 — 14800 | 12,200 | 11,700 — | 15,500 | 12,300 | 10,900

NU626 B 14200 | 11,200 | 10,600 13600 | 11,100 | 10,900 14,200 | 11,200 | 10,600

B RT)=EE SRHRCIRER) % | NUS51 E] 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 12,400 | 11,200 | 10,600
NU557 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700

NU559 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700

NU563 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700

NU565 B 12600 | 11,900 | 11,000 12600 | 11,900 | 11,000 12,600 | 11,900 [ 11,000

NU567 B 12600 | 11,900 | 11,000 12,100 | 10,600 | 9,600 12,100 [ 10,600 | 9,600

NU571 B 12600 | 11,900 | 11,000 12,100 | 10,600 | 9,600 12,600 | 11,900 [ 11,000

NU573 B 12600 | 11,900 | 11,000 12,100 | 10,600 | 9,600 12,100 [ 10,600 | 9,600

EET S NU552 B 13,100 | 12,500 | 11,700 12400 | 11,500 | 10,800 —— 12,400 | 11.200 | 10,600
NU556 B 13,100 | 12,500 | 11,700 12400 | 11,500 | 10,800 12,400 | 11,200 | 10,600

NU558 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900 12,100 [ 10,600 | 9,600

NU560 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900 12,600 | 11,900 [ 11,000

NU562 = 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700

NU564 = 13,100 | 12,500 | 11,700 — 12400 | 11,500 | 10,800 -— [ 12,400 [ 11.200 | 10,600

NU566 = 13,100 | 12,500 | 11,700 — 12400 | 11,500 | 10,800 -— [ 18,100 [ 12,500 | 11,700

NU572 = 13,100 | 12,500 | 11,700 — 12400 | 11,200 | 10,600 -— [ 12,400 [ 11.200 | 10,600

PRI =A%KE NU211 | 3EAT EEd E] 8,600 8,500 8,400 — 8,500 8,000 7.800 — 8500 | 8,000 | 7.800
NU212 [ 3EAT | 3HAT E] 8,500 8,000 7.900 — 8,500 8,000 7.800 — 8500 | 8000 | 7.800




M$EZI511/3/71EER(11A20~23B B ESD) JTA

EEEAR 2019/11/21  ~

11/20 11/21 I 11/22 | 11/23 |
BB {7 Al 147 B 1585 (7 C[ 4B 547 D 1B 57 Al B {E 547 B[ B F 547 C[ #2547 DSBS 47 [SEI7 B E 57 (5E347 5 ES (7 [5E57 (5547 (3T T

T FH# FH# FH EE EE EE EE EE EE EE EE EEE | EELE | EELE | EEE | B | BEE | EEE | EE
FAKR | WARR | HALE | mABE EEE | EAd | ERE | S0 | BN | EAS | BN | ERS | B0 | ERS | ENH | ERE | BN | BN | B0E | 8N

H5{E917 Al BE S 7B HHE 47 C ¥ E447D|

B Ea

KR (BAE) =50k (AR ER) KBz (BA#E) % | NU0O1 35500 | 35400 | 33400 35500 | 35400 | 35100 35,500 | 35400 | 33,400 35,500 | 35400 | 33,400

NU005 35500 | 35400 | 19,900 35500 | 35400 | 30,000 35,500 | 35.400 | 19,900 35,500 | 35.400 | 19,900
NU009 35500 | 35400 | 26800 — 35500 | 35400 | 26,800 —— | 35,500 | 35.400 | 26,800 35,500 | 35,400 | 26,800 | ——
NU002 35500 | 35400 | 22,700 — 35500 | 35400 | 22,700 —— | 35,500 | 35.400 | 22,700 35,500 | 35,400 | 24,700 | ——
NU004 35500 | 35400 | 19,900 — 35500 | 35400 | 19,900 —— | 35,500 | 35.400 | 23,900 35,500 | 35,400 | 34,300 | ——
NU008 35500 | 35400 | 33400 35500 | 35400 | 33400 35,500 | 35.400 | 34,400 35,500 | 35.400 | 35,100
WRECRR)=RE RECRE)SE | NU0T1 58,700 | 58500 | 55500 58,700 | 58500 | 58400 58,700 | 58,500 | 55,500 58,700 | 58,500 | 55,500
NU073 58,700 | 58,500 | 52500 58,700 | 58,500 | 55500 58,700 | 58,500 | 52,500 58,700 | 58,500 | 52,500
wER NU070 58,700 | 58500 | 52,500 58,700 | 58500 | 53,500 58,700 | 58,500 | 54,500 58,700 | 58,500 | 54,500
NU076 58,700 | 58,500 | 55500 58,700 | 58,500 | 55500 58,700 | 58,500 | 55,500 58,700 | 58,500 | 58,400
1BRE=h 4% (IRE) RS NUO51 28,600 | 28500 | 25900 28,600 | 28500 | 28,100 28,600 | 28,500 | 27,200 28,600 | 28,500 | 25,900
NU053 28,600 | 28,500 | 25900 28,600 | 28500 | 27,800 28,600 | 28,500 | 27.200 28,600 | 28,500 | 25,900
NU057 28,600 | 28500 | 25,900 28,600 | 28500 | 27,800 28,600 | 28,500 | 26,700 28,600 | 28,500 | 25,900
NUO6 1 28,600 | 28500 | 21,300 28,600 | 28500 | 24,100 28,600 | 28,500 | 21,300 28,600 | 28,500 | 19,400
NU063 28,600 | 28500 | 24,100 — 28,600 | 28500 | 23,100 —— [ 28,600 | 28,500 | 21,300 28,600 | 28,500 | 19,400 [ ——
NU065 28,600 | 28500 | 24,100 — 28,600 | 28500 | 22,100 —— [ 28,600 | 28,500 | 24,100 28,600 | 28,500 | 20,400 [ ——
WOERFF [ NU0sO 28,600 | 28500 | 21,300 -— 28,600 | 28500 | 21,300 -— 28,600 | 28,500 | 21,300 28,600 | 28,500 | 22,300 | ———
NU052 28,600 | 28500 | 22,000 28,600 | 28500 | 22,500 28,600 | 28,500 | 22,500 28,600 | 28,500 | 24,600
NUO054. 28600 | 28500 | 22,500 28,600 | 28500 | 22,500 28,600 | 28,500 | 23,500 28,600 | 28,500 | 26,100
NU058 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —— [ 28,600 | 28,500 | 27,100 28,600 | 28,500 | 28,100 [ ——
NU060 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —— [ 28,600 | 28,500 | 27,100 28,600 | 28,500 | 28,100 [ ———
NU062 28,600 | 28500 | 25,900 — 28,600 | 28500 | 25,900 —— [ 28,600 | 28,500 | 26,800 28,600 | 28,500 | 27,800 [ ——
RRECAR)=8H FRCPE)E | NUo21 54,900 | 54700 | 54,600 54,900 | 54700 | 54,600 54,900 | 54,700 | 54,600 54,900 | 54,700 | 54,600
HE R NU022 54,900 | 54700 | 54,600 54,900 | 54700 | 54,600 54,900 | 54,700 | 54,600 54,900 | 54,700 | 54,600
KR (BFE) =R KRR (BS#E) % | NU083 48400 | 48,300 | 40,600 48400 | 48,300 | 41,600 48,400 | 48,300 | 40,500 48,400 | 48,300 | 40,500
RiES NU086 48,400 | 48,300 | 40,500 48,400 | 48,300 | 40,500 48,400 | 48,300 | 40,600 48,400 | 48,300 | 41,600
MR=3EE GIRER) AT NU037 | 3HAT REEED 39,000 | 35900 | 32,700 -— 41,800 | 41,500 | 40500 -— 39,000 | 35,900 | 32,700 39,000 | 34,800 | 31,700
SREBGIREE | NU036 | 3HAEI 3ET 39,000 | 35900 | 32,700 39,000 | 35900 | 32,700 39,000 | 35,900 | 32,700 41,800 | 41,700 | 41,400

BEE (PER) =5

(R E) ZEE(RER) R | NU043 39,600 39,200 35,300 39,600 39,200 38,700 39,600 | 39,200 | 35,300 39,600 | 39,200 | 35,300

< eofeo]eoeo feofeo]eo|eofeo]eoeo feo[eo]eo feofeo]eoeo feo[eo oo feofeo]eo]eo feofeo]eo|eofeo ||~ feo|eo]eofeofeo]eoeo feo |~ feofeo]eo|eofeo|eo]eofeofeo]eoeo feo|eo]eo feofe]eo|eofeo]eo]eofeofeo]eo|eo feo

NU045 E] 39,600 | 39200 | 35,300 39,600 | 39200 | 38,700 39,600 | 39,200 | 35,300 39,600 | 39,200 | 35,300
NU047 E] 39,600 | 39200 | 30,300 39,600 | 39,200 | 38,700 39,600 | 39,200 | 30,900 39,600 | 39,200 | 34,700
NU049 E] 39,600 | 39200 | 38,700 — 39,600 | 39200 | 38,700 —— 39,600 [ 39,200 | 27,000 39,600 | 39,200 | 33,000 [ ——
SPREGIRER) & | _NU042 5] 39,600 | 39200 | 30,300 -— 39,600 | 39,200 | 34,700 -— 39,600 | 39,200 | 38,700 39,600 | 39,200 | 38,700 | ———
NU044. E] 39,600 | 39200 | 35,300 — 39,600 | 39200 | 35,300 —— 39,600 [ 39,200 | 38,700 39,600 | 39,200 | 38,700 [ ——
NU046 B 39,600 | 39200 | 35,300 39,600 | 39,200 | 35,300 39,600 | 39,200 | 38,700 39,600 | 39,200 | 38,700
NU048 B 39,600 | 39200 | 35,300 39,600 | 39,200 | 35,300 39,600 | 39,200 | 38,700 39,600 | 39,200 | 38,700
FEIL=3#8 GIRER) [EES NUoit | 3HET REEED ] 33,800 | 33000 | 32900 -— 35300 | 35000 | 34,200 -— 33,800 | 32,000 | 29,700 33,800 | 32,000 | 29700 | ———
MR (IRE) S [ NUOT6 | 3HAT 3B AT B 33,800 | 32000 | 29,700 -— 33,800 | 32000 | 29,700 -— 33,800 | 33,600 | 32,900 35,300 | 35,000 | 34200 | ———
4B (R =F1E BRE K | NUe0T E] 14300 | 11,200 | 10,600 — 14800 | 11,700 | 11,200 — | 14,800 | 11.700 | 11,200 14,800 [ 11,700 [ 11,200 [ —
NU605 B 15500 | 12,300 | 10,900 15700 | 12,500 | 11,700 15,700 | 12,500 | 11,700 15,700 | 12,500 | 11,700
NU607 B 15500 | 12,300 | 10,900 15700 | 12,500 | 11,700 15,700 | 12,500 | 11,700 15,700 | 12,500 | 11,700
NU609 B 15500 | 12,300 | 10,900 15700 | 12,500 | 11,700 15,700 | 12,500 | 11,700 15,700 | 12,500 | 11,700
NU617 B 14300 | 11,200 | 10,600 14800 | 11,700 | 11,200 14,800 | 11,700 [ 11,200 14,800 | 11,700 | 11,200
NU621 B 14200 | 11,200 | 10,400 14700 | 11,700 | 11,000 — | 14700 ] 11,700 | 11,000 14,700 [ 11,700 | 11,000
NU625 B 14200 | 11,200 | 10,600 14700 | 11,700 | 11,200 14,700 | 11,700 [ 11,200 14,700 [ 11,700 [ 11,200
aiER NU600 E] 14200 | 11,200 | 10,500 14200 | 11,200 | 10,600 14,200 | 11,200 | 10,600 14,200 | 11,200 | 10,600
NU608 B 14200 | 11,200 | 10,600 14200 | 11,200 | 10,600 14,200 | 11,200 | 10,600 14,200 | 11,200 | 10,600
NU610 B 14200 | 11,200 | 10,400 14200 | 11,200 | 10,400 14,200 | 11,200 | 10,400 14,200 | 11,200 | 10,400
NU612 B 14200 | 11,200 | 10,400 — 14200 | 11,200 | 10,400 —— | 14,200 | 11.200 | 10,400 14,200 | 11,200 [ 10,400 [ ——
NU614 B 14200 | 11,200 | 10,600 — 14200 | 11,200 | 10,600 —— | 14,200 | 11.200 | 10,600 14,200 | 11,200 [ 10,600 [ ——
NU622 B 15500 | 12,300 | 10,600 — 15500 | 12,300 | 10,900 — | 15,500 | 12,300 | 10,900 15,500 | 12,300 | 10,900 [ ——
NU626 B 14200 | 11,200 | 10,600 14200 | 11,200 | 10,600 14,200 | 11,200 | 10,600 14,200 | 11,200 | 10,600
B RT)=EE SRHRCIRER) % | NUS51 E] 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 12,400 | 11,500 | 10,800 13,100 | 12,500 | 11,700
NU557 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 —— | 12,400 | 11,500 | 10,800 13,100 [ 12,500 [ 11,700 [ —
NU559 B 13,100 | 12,500 | 11,700 — 12400 | 11,500 | 10,800 —— | 12,400 | 11,500 | 10,800 13,100 [ 12,500 [ 11,700 [ —
NU563 B 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 —— | 12,400 | 11,500 | 10,800 13,100 [ 12,500 [ 11,700 [ —
NU565 B 12600 | 11,900 | 11,000 12600 | 11,900 | 11,000 12,100 [ 10,900 | 9,900 12,600 | 11,900 | 11,000
NU567 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900 12,100 [ 10,900 | 9,900 12,600 | 11,900 | 11,000
NU571 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900 12,600 | 11,900 [ 11,000 12,600 | 11,900 | 11,000
NU573 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900 12,100 [ 10,900 | 9,900 12,600 | 11,900 | 11,000
EET S NU552 E] 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 — 13,100 | 12,500 | 11,700 12,400 | 11,500 | 10,800
NU556 B 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 12,400 | 11,500 | 10,800 13,100 [ 12,500 | 11,700
NU558 B 12600 | 11,900 | 11,000 12,600 | 11,900 | 11,000 12,600 | 11,900 [ 11,000 12,600 | 11,900 | 11,000
NU560 B 12600 | 11,900 | 11,000 12,100 | 10,900 | 9,900 12,600 | 11,900 [ 11,000 12,600 | 11,900 | 11,000
NU562 = 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 13,100 | 12,500 [ 11,700 13,100 | 12,500 | 11,700
NU564 = 13,100 | 12,500 | 11,700 — 12400 | 11,500 | 10,800 — 13,100 | 12,500 | 11,700 13,100 | 12,500 | 11,700 | —
NU566 = 13,100 | 12,500 | 11,700 — 12400 | 11,500 | 10,800 — | 12,400 | 11,500 | 10,800 12,400 | 11,500 | 10,800 | —
NU572 = 13,100 | 12,500 | 11,700 — 12400 | 11,500 | 10,800 — | 12,400 | 11,500 | 10,800 13,100 | 12,500 | 11,700 | —
PRI =A%KE NU211 | 3EAT EEd E] 8,500 8,000 7.900 — 8,500 8,000 7.900 — 8500 | 8,000 | 7.900 8,600 | 8500 | 8400 | -——
NU212 [ 3EAT | 3HAT E] 8,600 8,500 8400 — 8,600 8,500 8,400 — 8,500 | 8,000 | 7.900 8,500 | 8000 | 7.800 | ——




MEEZIE21 1 EER(10825~11 AsHEES)

SEREAE 2019/11/21 _~
10/25-29,11/4-8
) B4 BEMTE
FH Ewm | BEY .
AR e
KR (BAE) =50k (AR ER) KR (B#E) % | _NUoo1 27,400 30% | 1:30,200. H:25,000
NU005 12200 | 69%
NU009 13800 | 65% |+ H:15.300
NU002 13800 | 65% |+ H:15.300
NU004 12200 | 69%
NU008 26700 | 32% |#1:26,400, H:30,400
WRECRR)=RE FR(CPE)FE | _NUoTI 33,500 50% 35,500, H:34,500
NU073 33500 | 50% 34,000, + H:35,500
wER NU070 33500 | 50% :34,500
NU076 33500 | 50% |+:34,000, H:35.500
1BRE=h 4% (IRE) BE% NUO51 14,100 55% £:15,300
NU053 15300 | 51% |A:16.500, A%:14,700, +:15.900
NU057 15300 | 51% |A:16,500, A%:14,700, +:15.900
NUO6 1 13,000 E
NU063 13,000 E
NU065 13,000
WOERFF [ NU0sO 13.000
NU052 13,000
NUO054. 13,600
NU058 14,700
NU060 14,700
NU062 14,100
RRECAR)=8H FRCPE)E | NUo21 33,700
oEE NU022 33,700
KR (BFE) =R KRR (BSF) % | NU083 23,200 58% |+ H:25,000
RIEF NU086 23,200 58% 23,900, H:26,600
MR=3EE GIRER) IMRFE NU037 28,500 39% |#+H:31,700
SPEBGRE) K | NU036E 28500 | 39% |&FH:31,700
BEHE(PE)=3EGREH) | BHEE(PE) R | NU043 18,500 58% | :X:18,400, 7K:19,800, #:21,200, £:20,100, H:20,200
NU045 19500 | 56% | A:19.600, 7k:22,100, #:21,900, £:21,100, H:21,200
NU047 18.000 59% | 7k7K:24,500, + H:19.700
NU049 18,000 59% | 7K7K:23,500, £:27,200. +:18.900. H:19.400
SPREGIRER) & | _NU042 19.400 56% [ ::17.700, 7k:19.800, A:17,600, £:19,000, H:20,700
NU044. 25400 | 42% |+:27,500, B:27.300
NU046 21,800 | 51% |:19,800, 7K:22,100, :19,600, +:21,200, H:23,200
NU048 19.600 | 56% |X:17.700. 7k:19.900, A:17,800, £:19.100. H:21,000
FEIL=3#8 GIRER) NUO11 26,200 33% | #1:29.600
NUO16 26200 | 33% |H:29,600
4B (R =F1E NU601 9,400 64% | kok:9.200
NU605 9,700 63% |+ H:10,000
NU607 9,700 63%
NU609 9,700 63%
NU617 9,200 65%
NU621 8,700 67% |k+:8.400
NU625 9,200 65% | H:9,400
BEH NU600 9,400 64% | kok:
NU608 9,400 64% | dok:
NU610 8,700 67%
NU612 8,700 67%
NU614 9,400 64%
NU622 10000 [ 62%
NU626 9,400 64%
() =B SRR (RFR) S | NUS51 9,900 51%
NU557 9,900 51%
NU559 9,900 51%
NU563 9,900 51%
NU565 9,500 53%
NU567 9,200 54%
NU571 9,200 54%
NU573 9,200 54%
EET S NU552 9,900 51%
NU556 9,900 51%
NU558 9,500 53%
NU560 9,500 53%
NU562 9,900 51%
NU564 9,900 51%
NU566 9,900 51%
NU572 9,500 53%

JTA



MEEEISI21 EEXR(11AI~19BERED)

SEREAE 2019/11/21 _~
11/9-19
Ry B4 BEMTE
FH Ewm | BEY e
AR e
KR (BAE) =50k (AR ER) KR (B#E) % | _NUoo1 27,400 30% | 1:30,200. H:25,000
NU005 12200 | 69%
NU009 13800 | 65% |+ H:15.300
NU002 13800 | 65% |+ H:15.300
NU004 12200 | 69%
NU008 26700 | 32% |#1:26,400, H:30,400
WRECRR)=RE FR(CPE)FE | _NUoTI 33,500 50% 35,500
NU073 33500 | 50% :34,000, £ H:35,500
RiER NU070 33,500 50% :34,000
NU076 33500 | 50% :34,000, H:35,500
1BRE=h 4% (IRE) FHEES NUO51 14,100 55% 15,300
NU053 14700 | 53% £:15,900, 7:15,300
NU057 14,700 | 53% 15,900, A& H:15,300
NUO6 1 13000 | 59% 14,200
NU063 13000 | 59% 14,200
NU065 13000 | 59% 14,200
WOERFF [ NU0sO 13.000 59% 14,200
NU052 13000 | 59%
NUO054. 13600 | 57%
NU058 14,700 | 53%
NU060 14,700 | 53%
NU062 14,100 | 55%
RRECAR)=8H FRCPE)E | NUo21 33,700 47%
oEE NU022 33,700 47%
KR (BFE) =R KRR (BSF) % | NU083 23,200 58% |+ H:25,000
RIEF NU086 23,200 58% 23,900, H:26,600
MR=3EE GIRER) IMRFE NU037 28,500 39% |#+H:31,700
SPEBGRE) K | NU036E 28500 | 39% |&FH:31,700
BEHE(PE)=3EGREH) | BHEE(PE) R | NU043 20,200 54% | :K7K:18,700. A:19,600. %:21,200
NU045 19600 | 56% |A:20900, £:22,100, £:21,900, + H:21,200
NU047 18000 | 59% |A:19,500, £ H:19,700
NU049 17,300 | 61% |A:18,800, #:27,200, + H:18.900
SPREGIRER) & | _NU042 19.400 56% | JK:17,700, A:19,800. +:19.200. H:20,700
NU044. 25200 | 43% |+ H:27.300
NU046 21,800 | 51% [XJK:19.800, £:22,100, F:21,400, B:23,200
NU048 19600 | 56% |kzk:17.700, :19,900, 1:19.200, H:21,000
FEIL=3#8 GIRER) NUO11 26,200 33% | #1:29.600
NUO16 26200 | 33% |H:29,600
4B (R =F1E NU601 9,400 64% | kok:9.200
NU605 9,700 63% |+ H:10,000
NU607 9,700 63%
NU609 9,700 63%
NU617 9,200 65%
NU621 8,700 67% |k+:8.400
NU625 9,200 65% | H:9,400
BEH NU600 9,400 64% | kok:
NU608 9,400 64% | dok:
NU610 8,700 67%
NU612 8,700 67%
NU614 9,400 64%
NU622 10000 [ 62%
NU626 9,400 64%
() =B SRR (RFR) S | NUS51 9,900 51%
NU557 9,900 51%
NU559 9,900 51%
NU563 9,900 51%
NU565 9,500 53%
NU567 9,200 54%
NU571 9,200 54%
NU573 9,200 54%
EET S NU552 9,900 51%
NU556 9,900 51%
NU558 9,500 53%
NU560 9,500 53%
NU562 9,900 51%
NU564 9,900 51%
NU566 9,900 51%
NU572 9,500 53%

JTA



MEHEZI5I21 1 EEXR(11H24~30BERS)

SEREAE 2019/11/21 _~
11/24-30
] &2 9‘1’% ﬂ% _ RBEMTE
2| 2B TR | g | BEM =
AR EIEES
KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX [ OKA| 21 27,400 30% |#:30,200, H:25,000
NU005 | KIX | OKA| 21 12200 | 69%
NU009 | KIX | OKA| 21 13800 | 65% |+ H:15.300
NU002 | KIX | OKA| 21 13800 | 65% |+ H:15.300
NU004 | KIX | OKA| 21 12200 | 69%
NU008 | KIX | OKA| 21 26700 | 32% |%+:26400, H:30,400
WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG | 21 33,500 50% | A H:31,500, £:35,500
NUO73 | HND | ISG | 21 33500 | 50% |H:31,500, £:34,000, F H:35.500
BER NU070 | ISG | HND| 21 33500 | 50% |f:31.500, £ H:32,000
NUO76 | ISG | HND| 21 33500 | 50% |A+:34,000, H:35,500
BE=HE B S NUO51 | FUK | OKA| 21 14100 | 55% |/ +:15,300, £:14,300
NU053 | FUK | OKA| 21 15300 | 51% |/ +:15900, £:15500, H:14.700
NUO057 | FUK| OKA[ 21 15300 | 51% |A+:15.900, #:15,500
NUO61 | FUK| OKA| 21H 13000 | 59% £ H:14,200
NU063 | FUK| OKA| 21H 13000 | 59% :14,200
NU065 | FUK| OKA| 21H 13000 | 59% :14,200
#B(FREF | NUOSO | OKA[ FUK|[ 218 13.000 59% 14,200
NU052 | OKA| FUK]| 21H 13000 | 59%
NU054 | OKA| FUK]| 21H 13600 | 57%
NU058 | OKA| FUK| 21H 14,700 | 53%
NU060 | OKA| FUK| 21H 14,700 | 53%
NU062 | OKA| FUK| 21H 14,100 | 55%
RRECAR)=8H RECRE)%E | NU021 | HND | MMY| 21H 33,700 47%
oEE NU022 [ MMY [ HND|[ 218 33,700 47%
KR (BFE) =R KM (BAFE) % | NU0s3 | KIX | ISG | 21H 23,200 58%
GIEH NU086 | ISG | KIX | 21H 23200 | 58% :23,900, H:26,600
MR=3EE GIRER) IMRFE NU037 [ KMQ[ OKA| 21H 28,500 39% + H:31,700
ShEB(RE) % | NU036 | OKA| KMQ| 21H 28,500 39% |1 H:31,700
AEE(PED=PEERE) | BEE(PE)R | _NU043 | NGO[ OKA[ 21H 19,600 56% H:20,200, £:21,200. +:22.400
NU045 [ NGO| OKA| 21H 22100 | 50% |%:23,200, £:25300. H:21,200
NU047 [ NGO| OKA[ 21H 19500 | 56% 120,700, +:24,900, H:21,200
NU049 [ NGO| OKA[ 21H 18800 | 57% |£:27,200. £:23.900, H:20,400
Fh#B(ARER) % | NU042 | OKA|NGO| 21H 19.800 55% :19,400, #:20,800, 1:19,200, H:20,700
NU044 | OKA| NGO 21H 25200 | 43% |:JK:22,800. + H:26.900
NU046 | OKA| NGO | 21H 22100 | 50% [F8:22,400, £:23,200, 1:22,800, A:23,100
NU048 | OKA| NGO 21H 19900 [ 55% |fA:20.200, %:21,000, £:20,600, A:20,900
FEIL=3#8 GIRER) NUO11 | OKJ [ OKA| 21H 26,200 33% | #4:29,600
NU016 | OKA| OKJ| 21H 26200 | 33% |H:29,600
4B (R =F1E NU601 | OKA[ ISG | 218 9,400 64% | Aok :9.200
NU605 | OKA| ISG | 218 9,700 63% |+ H:10,000
NU607 | OKA[ ISG | 218 9,700 63%
NU609 | OKA[ ISG | 218 9,700 63%
NU617 | OKA[ ISG | 218 9,200 65%
NU621 | OKA[ ISG | 218 8,700 67% |k+:8.400
NU625 | OKA[ ISG | 218 9,200 65% | H:9,400
aiER NU600 | ISG | OKA| 218 9,400 64% | kok:9.200
NU608 | ISG | OKA| 218 9,400 64% | Akok:9.200
NU610 | ISG | OKA| 218 8,700 67%
NU612 | ISG | OKA| 218 8,700 67%
NU614 | ISG | OKA| 218 9,400 64% | k)
NU622 | ISG | OKA| 218 10000 | 62% |t
NU626 | ISG | OKA| 218 9,400 64% | k)
B RT)=EE SPHE (W) % | NU551 | OKA [ MMY [ 21H 9,900 51%
NU557 | OKA [ MMY| 218 9,900 51%
NU559 | OKA [ MMY| 218 9,900 51%
NU563 | OKA [ MMY| 218 9,900 51%
NU565 | OKA [ MMY| 218 9,500 53%
NU567 | OKA [ MMY| 218 9,200 54%
NU571 | OKA[MMY| 218 9,200 54%
NU573 | OKA [ MMY| 218 9,200 54%
EET S NU552_| MMY | OKA| 218 9,900 51%
NU556_| MMY | OKA| 218 9,900 51%
NU558 | MMY | OKA| 218 9,500 53%
NU560 | MMY | OKA| 218 9,500 53%
NU562 | MMY [ OKA| 218 9,900 51%
NU564 | MMY | OKA| 218 9,900 51%
NU566 | MMY | OKA| 218 9,900 51%
NU572 | MMY[ OKA] 218 9,500 53%

JTA



MEEZIS21 1 EER(12A1~3BBED) JTA

EEEAR 2019/11/21  ~

12/1-3
] &2 9‘1’% ﬂ% RBEMTE
2| 2 FH EE E—# ez

AR EEES

KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX [ OKA| 21 32,000 23% | K:27.400
NU005 | KIX | OKA| 21 12200 | 71%
NU009 | KIX | OKA| 21 12800 | 69%
NU002 | KIX | OKA| 21 12800 | 69%
NU004 | KIX | OKA| 21 12200 | 71%
NU008 | KIX | OKA| 21 26,700 | 36%
WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG | 21 31,500 55%
NUO73 | HND | ISG | 21 31500 | 55%
wER NU070 | ISG | HND | 21 31500 | 55%
NUO76 | ISG | HND| 21 31500 | 55%
1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA|[ 21 14,000 59%
NU053 | FUK | OKA| 21 15200 | 55%
NUO057 | FUK| OKA[ 21 14000 | 59%
NUO61 | FUK| OKA| 21H 12,700 | 62%
NU063 | FUK| OKA| 21H 12,700 | 62%
NU065 | FUK| OKA| 21H 12,700 | 62%
#B(FREF | NUOSO | OKA[ FUK|[ 218 12,700 62%
NU052 | OKA| FUK]| 21H 12,700 | 62%
NU054 | OKA| FUK]| 21H 12,700 | 62%
NU058 | OKA| FUK| 21H 14600 | 57%
NU060 | OKA| FUK| 21H 14600 | 57%
NU062 | OKA| FUK| 21H 14000 | 59%
RRECAR)=8H RECRE)%E | NU021 | HND | MMY| 21H 31,700 52%
oEE NU022 [ MMY [ HND|[ 218 31,700 52%
KR (BFE) =R KM (BAFE) % | NU0s3 | KIX | ISG | 21H 22,900 60%
RIEF NU086 [ ISG [ KIX [ 21H 22,900 60%
MR=3EE GIRER) AT NU037 [ KMQ[ OKA| 21H 28,500 42%
ShEB(RE) % | NU036 | OKA| KMQ| 21H 28,500 42%

AEE(PED=PEERE) | BEE(PE)R | _NU043 | NGO[ OKA[ 21H 21,700 53% | 7K:22,400
NU045 [ NGO| OKA| 21H 23200 | 50%
NU047 [ NGO| OKA[ 21H 20500 | 56%
NU049 [ NGO| OKA[ 21H 19500 | 58%
Fh#B(ARER) % | NU042 | OKA|NGO| 21H 20,800 55%
NU044 | OKA| NGO 21H 25000 | 46%
NU046 | OKA| NGO | 21H 23200 | 50%
NU048 | OKA| NGO 21H 21,000 | 55%
FEIL=3#8 GIRER) NUO11 | OKJ [ OKA| 21H 26,200 37%
NU016 | OKA| OKJ| 21H 26200 | 37%
4B (R =F1E NU601 | OKA[ ISG | 218 9,400 66%
NU605 | OKA| ISG | 218 9,800 64%
NU607 | OKA[ ISG | 218 9,800 64%
NU609 | OKA[ ISG | 218 9,800 64%
NU617 | OKA[ ISG | 218 9,400 66%
NU621 | OKA[ ISG | 218 8,400 70%
NU625 | OKA[ ISG | 218 9,400 66%
aiER NU600 | ISG | OKA| 218 9,400 66%
NU608 | ISG | OKA| 218 9,400 66%
NU610 | ISG | OKA| 218 8,400 70%
NU612 | ISG | OKA| 218 8,400 70%
NU614 | ISG | OKA| 218 9,400 66%
NU622 | ISG | OKA| 218 9,800 64%
NU626 | ISG | OKA| 218 9,000 67%
B RT)=EE SPHB (B K | NUs51 [ OKA[ MMY| 218 10200 | 52%
NU557 | OKA [ MMY| 218 10200 | 52%

NU559 | OKA [ MMY| 218 10200 | 52% [A:10500

NU563 | OKA [ MMY| 218 10200 | 52% [A:10500
NU565 | OKA [ MMY| 218 9,700 54%
NU567 | OKA [ MMY| 218 9,700 54%
NU571 | OKA[MMY| 218 9,700 54%
NU573 | OKA [ MMY| 218 9,700 54%
EET S NU552_| MMY | OKA| 218 10200 | 52%
NU556_| MMY | OKA| 218 10200 | 52%
NU558 | MMY | OKA| 218 9,700 54%
NU560 | MMY | OKA| 218 9,700 54%
NU562 | MMY [ OKA| 218 10200 | 52%
NU564 | MMY | OKA| 218 10200 | 52%
NU566 | MMY | OKA| 218 10200 | 52%
NU572 | MMY[ OKA] 218 10200 | 52%




MEEEIS121 SEEXR(12B4~10BEED) JTA

EEEAR 2019/11/21  ~

12/4-10
Ry B4 BEMTE
FH | mme B8 =
AR e
KIR (BE) =048 (FRE) ABR(BAE) % | NU0OT 32000 | 23% |HH:30500, A:27,400, £:30.200
NU005 12200 | 71%
NU009 12,800 | 69% |#:18,000, £ H:14,200
NU002 12800 | 69% |+ H:14.200
NU004 12200 | 71%
NU008 26,700 | 36% 26,400, H:30.400
WRECRR)=RE FR(CPE)FE | _NUoTI 31,500 55% 35,500
NU073 31500 | 55% -+ H:34,000
RiER NU070 31,500 55% |+ H:34,000
NU076 31500 | 55% :34,000, H:35,500
1BRE=h 4% (IRE) FHEES NUO51 14,000 59% 115,200
NU053 15200 | 55% :16.400
NU057 14000 | 59% 15,200
NUO6 1 12,700 | 62%
NU063 12,700 | 62%
NU065 12,700 | 62%
WOERFF [ NU0sO 12,700 62%
NU052 12,700 | 62%
NUO054. 12,700 | 62%
NU058 14600 | 57%
NU060 14600 | 57%
NU062 14000 | 59%
RRECAR)=8H RECHHE)SE | NU021 31,700 52% X
oEE NU022 31,700 52% 35,700
KR (BFE) =R KRR (BSF) % | NU083 22,900 60% :20,700, H:24,900
GiE % NU086 22,900 | 60% |f:20,700, + H:24,900
MR=3EE GIRER) AT NU037 28,500 42% |+ R:31,700
hEBGIRER) % | NU036 28,500 42% | H:31,700
BEHE(PE)=3EGREH) | BHEE(PE) R | NU043 21,700 53% |£:22,400. 1 H:23,700
NU045 23200 | 50%
NU047 20500 | 56%
NU049 19500 | 58%
SPREGIRER) & | _NU042 20,800 55%
NU044. 25000 | 46%
NU046 23200 | 50%
NU048 21,000 | 55%
FEIL=3#8 GIRER) [EES NUO11 26,200 37%
RGBS | NUOTE 26,200 37%
R (ARFR) =R 1B BRI S | NU60! 9,700 65%
NU605 10100 [ 63%
NU607 10100 [ 63%
NU609 10100 [ 63%
NU617 9,700 65%
NU621 8,400 70%
NU625 9,400 66%
aiER NU600 9,700 65%
NU608 9,700 65%
NU610 8,400 70%
NU612 8,400 70%
NU614 9,700 65%
NU622 10100 [ 63%
NU626 9,300 66%
() =B SRR (RFR) S | NUS51 10,500 51%
NU557 10500 [ 51%
NU559 10500 [ 51%
NU563 10500 [ 51%
NU565 10000 [ 53%
NU567 9,700 54%
NU571 9,700 54%
NU573 9,700 54%
EET S NU552 10500 [ 51%
NU556 10500 [ 51%
NU558 10000 [ 53%
NU560 10000 [ 53%
NU562 10500 | 51%
NU564 10500 | 51%
NU566 10500 | 51%
NU572 10200 | 52%




MEHEZISI21 1 EER(12A11~17BEBRS) JTA

EEEAR 2019/11/21  ~

12/11-17
] &2 9‘1’% ﬂ% RBEMTE
2| 2 FH EEE E—# ez
AR EEES
KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX [ OKA| 21 32,000 23% | A H:30,500, £:30,200
NU005 | KIX | OKA| 21 12200 | 71%
NU009 | KIX | OKA| 21 12,800 | 69% |#:18,000, £ H:14,200
NU002 | KIX | OKA| 21 12800 | 69% |+ H:14.200
NU004 | KIX | OKA| 21 12200 | 71%
NU008 | KIX | OKA| 21 26,700 | 36% :30,200, % +:26,400, H:30.400
WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG | 21 31,500 55% | +:35,500
NUO73 | HND | ISG | 21 31500 | 55% |%+ H:34,000
BEH NU070 | ISG | HND | 21 31500 | 55% | H:34,000
NUO76 | ISG | HND| 21 31500 | 55% | F:34,000, H:35500
1BRE=h 4% (IRE) BE% NUO51 | FUK [ OKA|[ 21 14,000 59% H:15.200
NU053 | FUK | OKA| 21 15200 | 55% H:16.400
NUO057 | FUK| OKA[ 21 14000 | 59% 114,300, £ H:15,200
NUO61 | FUK| OKA[ 21 12,700 | 62%
NU063 | FUK | OKA[ 21 12,700 | 62%
NUO065 | FUK | OKA[ 21 12,700 | 62%
#B(FREF | NUOSO | OKA[ FUK|[ 21 12,700 62%
NU052 | OKA| FUK] 21 12,700 | 62%
NUO054 | OKA| FUK] 21 12,700 | 62%
NU058 | OKA| FUK | 21 14600 | 57%
NU060 | OKA| FUK| 21 14600 | 57%
NU062 | OKA| FUK| 21 14000 | 59%
RRECAR)=8H FECRE)%E | NU021 | HND | MmY| 21 31,700 52% X
Eh% NU022 | MMY| HND [ 21 31,700 | 52% 35,700
KR (BFE) =R KRR (BS7E) % | NU083 | KIX | ISG | 21 22,900 60% :20,700, H:24,900
GIEH NU086 | ISG | KIX | 21 22900 | 60% [F:20,700, + H:24,900
MR=3EE GIRER) IMRFE NU037 [ KMQ[ OKA|[ 21 28,500 42% |+ R:31,700

SPEEGRE S | NUO36 | OKA[ KMQ| 21 28,500 42% | H:31,700

BEE(PE)=5HEGRE) | REE (AR | NU043 | NGO| OKA| 21 21,700 53% 122,400, 1 H:23,700
NU045 | NGO| OKA[ 21 23200 | 50% H:25,300
NU047 [ NGO| OKA[ 21 20500 | 56% 124,700, B:22,200
NU049 [ NGO| OKA[ 21 19500 | 58% 127,200, +:23,700, H:21,200
h#B(ARER) & | NU042 | OKA| NGO| 21 20,800 55% :21,600, B:22,700
NU044 | OKA| NGO| 21 25000 | 46% H:26,800
NU046 | OKA| NGO | 21 23200 | 50% H:25,300
NU048 | OKA| NGO | 21 21,000 | 55% H:23,000
L= 48 (B E) NUOT1 | OKJ| OKA[ 21 26200 | 37% 128,900, % +:29,600

26,200 37% :29,600

SRR (B =R 9,700 65% :9,400, 7K A:10,400

10,100 63% | A :X:9,800, /K7K:10,900
:10,200, KA:10,900

10,100 63% |5:10,200, 7KAK:10,900

600, JKK:10,700

9,900 64% [H:10,100

9,700 65% | A :X:9,400, JKK:10,400

RIER NU600 | ISG | OKA| 21 9,700 65% 400, 7KK:10,400
NU608 | ISG | OKA| 21 9,700 65% 400, 7KK:10,400
NU610 | ISG | OKA| 21 9,900 64%
NU612 | I1SG | OKA| 21 9,900 64%
NU614 | I1SG | OKA| 21 9,700 65% 400, 7KK:10,400
NU622 | ISG | OKA| 21 10,100 63% 800, 7KK:10,900

10,000 64% [7KK:10,400. £:10,200

10,700 50% | Kb
10,700 50% | Kb
10,700 50% [AY
10,700 50% [AX
10,300 52% | Kb

EE

() =B SHEB(ARER) | NUS51 | OKA| MMY| 21
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MEHEZI5I21 1 EEXR (12 18~24BEBRS) JTA

EEEAR 2019/11/21  ~

12/18-24
] &2 9‘1’% ﬂ% RBEMTE
2| 2 FH EEE E—# ez
AR EEES
KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX [ OKA| 21 32,000 23% | A H:30,500, £:30,200
NU005 | KIX | OKA| 21 12200 | 71%
NU009 | KIX | OKA| 21 12,800 | 69% |#:18,000, £ H:14,200
NU002 | KIX | OKA| 21 12800 | 69% |+ H:14.200
NU004 | KIX | OKA| 21 12200 | 71%
NU008 | KIX | OKA| 21 26,700 | 36% :30,200, % +:26,400, H:30.400
WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG | 21 31,500 55%
NUO73 | HND | ISG | 21 31500 | 55%
wER NU070 | ISG | HND | 21 31500 | 55%
NUO76 | ISG | HND| 21 31500 | 55%
1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA|[ 21 14,000 59%
NU053 | FUK | OKA| 21 15200 | 55% H:16.400
NUO057 | FUK| OKA[ 21 14000 | 59% 114,300, £ H:15,200
NUO61 | FUK| OKA[ 21 12,700 | 62%
NU063 | FUK | OKA[ 21 12,700 | 62%
NUO065 | FUK | OKA[ 21 12,700 | 62%
#B(FREF | NUOSO | OKA[ FUK|[ 21 12,700 62%
NU052 | OKA| FUK] 21 12,700 | 62%
NUO054 | OKA| FUK] 21 12,700 | 62%
NU058 | OKA| FUK | 21 14600 | 57%
NU060 | OKA| FUK| 21 14600 | 57%
NU062 | OKA| FUK| 21 14000 | 59%
RRECAR)=8H FECRE)%E | NU021 | HND | MmY| 21 31,700 52% X
Eh% NU022 | MMY| HND [ 21 31,700 | 52% 35,700
KR (BFE) =R KRR (BS7E) % | NU083 | KIX | ISG | 21 22,900 60% :20,700, H:24,900
GIEH NU086 | ISG | KIX | 21 22900 | 60% [F:20,700, + H:24,900
MR=3EE GIRER) IMRFE NU037 [ KMQ[ OKA|[ 21 28,500 42% |+ R:31,700

SPEEGRE S | NUO36 | OKA[ KMQ| 21 28,500 42% | H:31,700

BEE(PE)=5HEGRE) | REE (AR | NU043 | NGO| OKA| 21 21,700 53% 122,400, 1 H:23,700
NU045 | NGO| OKA[ 21 23200 | 50% H:25,300
NU047 [ NGO| OKA[ 21 20500 | 56% 124,700, B:22,200
NU049 [ NGO| OKA[ 21 19500 | 58% 127,200, +:23,700, H:21,200
h#B(ARER) & | NU042 | OKA| NGO| 21 20,800 55% :21,600, B:22,700
NU044 | OKA| NGO| 21 25000 | 46% H:26,800
NU046 | OKA| NGO | 21 23200 | 50% H:25,300
NU048 | OKA| NGO | 21 21,000 | 55% H:23,000
L= 48 (B E) NUOT1 | OKJ| OKA[ 21 26200 | 37% 128,900, % +:29,600

26,200 37% :29,600

SRR (B =R 9,700 65% :9,400, 7K A:10,400

10,100 63% | A :X:9,800, /K7K:10,900
:10,200, KA:10,900

10,100 63% |5:10,200, 7KAK:10,900

600, JKK:10,700

9,900 64% [H:10,100

9,700 65% | A :X:9,400, JKK:10,400

RIER NU600 | ISG | OKA| 21 9,700 65% 400, 7KK:10,400
NU608 | ISG | OKA| 21 9,700 65% 400, 7KK:10,400
NU610 | ISG | OKA| 21 9,900 64%
NU612 | I1SG | OKA| 21 9,900 64%
NU614 | I1SG | OKA| 21 9,700 65% 400, 7KK:10,400
NU622 | ISG | OKA| 21 10,100 63% 800, 7KK:10,900

10,000 64% [7KK:10,400. £:10,200

10,700 50% | Kb
10,700 50% | Kb
10,700 50% [AY
10,700 50% [AX
10,300 52% | Kb

EE

() =B SHEB(ARER) | NUS51 | OKA| MMY| 21
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MEEZI5121 1 EEXR(10A30~31 BERS)

SEREAE 2019/11/21 _~

10730 [ 10/31
- as |o2| e[ EE o RRGY

2 | 225 FiHh HE =

AR EEE | EAE

KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX [ OKA| 21 30,400 | 33,500
NU005 | KIX | OKA| 21 18900 | 25200

NU009 | KIX | OKA| 21 28400 | 20,000

NU002 | KIX | OKA| 21 13,800 | 17,300

NU004 | KIX | OKA| 21 16,700 | 14,200

NU008 | KIX | OKA| 21 26,700 | 26400

WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG | 21 40,500 | 53,400
NUO73 | HND | ISG | 21 37500 | 50500

BER NU070 | ISG | HND| 21 34500 | 34,500

NUO76 | ISG | HND| 21 40500 | 40,500

1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA|[ 21 23,900 | 26,700
NU053 | FUK | OKA| 21 25000 | 26,700

NUO057 | FUK| OKA[ 21 26,400 | 26,200

NUO61 | FUK| OKA| 21H 20500 | 20,300

NU063 | FUK| OKA| 21H 20500 | 19,100

NU065 | FUK| OKA| 21H 20500 | 18,800

#B(FREF | NUOSO | OKA[ FUK|[ 218 16,000 16,700

NU052 | OKA| FUK]| 21H 17,700 | 17,700

NU054 | OKA| FUK]| 21H 18,000 | 18,000

NU058 | OKA| FUK| 21H 19,000 | 19,000

NU060 | OKA| FUK| 21H 19,000 | 18,000

NU062 | OKA| FUK| 21H 21,000 | 16,800

RRECAR)=8H RECRE)%E | NU021 | HND | MMY| 21H 42,700 | 50,700
oEE NU022 [ MMY [ HND|[ 218 42,700 | 42,700

KR (BFE) =R KM (BAFE) % | NU0s3 | KIX | ISG | 21H 35100 | 36,100
RIEF NU086 [ ISG [ KIX [ 21H 23200 | 23,200

MR=3EE GIRER) IMRFE NU037 [ KMQ[ OKA| 21H 31,700 | 35,500
ShEB(RE) % | NU036 | OKA| KMQ| 21H 31,700 | 31,700
BEE(PE)=3EGRH) | AHEE(PEDF | NU043 | NGO| OKA| 21H 21,200 | 37,300
NU045 [ NGO| OKA| 21H 21,900 | 37,800

NU047 [ NGO| OKA[ 21H 18,000 | 36,800

NU049 [ NGO| OKA[ 21H 32,600 | 31,600

Fh#B(ARER) % | NU042 | OKA|NGO| 21H 19.400 19,000

NU044 | OKA| NGO 21H 25400 | 27,500

NU046 | OKA| NGO | 21H 21,800 | 21,200

NU048 | OKA| NGO 21H 19,600 | 19,100

FEIL=3#8 GIRER) NUO11 | OKJ [ OKA| 21H 30,200 | 33,200
NU016 | OKA| OKJ| 21H 26,200 | 26,200

4B (R =F1E NU601 | OKA[ ISG | 218 9300 | 10300
NU605 | OKA| ISG | 218 9800 | 11,000

NU607 | OKA[ ISG | 218 9800 | 11,000

NU609 | OKA[ ISG | 218 9800 | 11,000

NU617 | OKA[ ISG | 218 9500 | 10,300

NU621 | OKA[ ISG | 218 8,900 | 10,000

NU625 | OKA[ ISG | 218 9500 | 10,300

aiER NU600 | ISG | OKA| 218 9,200 9,600

NU608 | ISG | OKA| 218 9,300 9,600

NU610 | ISG | OKA| 218 8,700 9,200

NU612 | ISG | OKA| 218 8,700 9,200

NU614 | ISG | OKA| 218 9,300 9,600

NU622 | ISG | OKA| 218 9700 | 10,000

NU626 | ISG | OKA| 218 9,300 9,600

B RT)=EE SPHE (W) % | NU551 | OKA [ MMY [ 21H 11,000 | 11,000
NU557 | OKA [ MMY| 218 11,000 | 11,000

NU559 | OKA [ MMY| 218 11,000 | 11,000

NU563 | OKA [ MMY| 218 11,000 | 11,000

NU565 | OKA [ MMY| 218 10700 | 9,500

NU567 | OKA [ MMY| 218 10700 | 10,700

NU571 | OKA[MMY| 218 10700 | 9,500

NU573 | OKA [ MMY| 218 10700 | 9,500

EET S NU552_| MMY | OKA| 218 11,000 | 11,000

NU556_| MMY | OKA| 218 11,000 | 11,000

NU558 | MMY | OKA| 218 10700 | 10,700

NU560 | MMY | OKA| 218 10700 | 10,700

NU562 | MMY [ OKA| 218 11,000 | 11,000

NU564 | MMY | OKA| 218 11,000 | 11,000

NU566 | MMY | OKA| 218 11,000 | 11,000

NU572 | MMY[ OKA] 218 11,000 | 11,000

JTA



MEEZIS21 1 EEXR(11A1~3BARED) JTA

EEEAR 2019/11/21  ~

45 @547 11/1 11/2 11/3

] B4 3‘4"% f\!% FEH7E| B ETE[ BT E]

R\ ER| TH| wEa | wme | wRe

KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX [ OKA| 21 30,500 | 27,000 | 27,400
NU005 | KIX | OKA| 21 20100 | 12200 | 12200

NU009 | KIX | OKA| 21 18800 | 15800 | 15.800

NU002 | KIX | OKA| 21 15800 | 13,800 | 21,800

NU004 | KIX | OKA| 21 14200 | 20500 | 29,100

NU008 | KIX | OKA| 21 27100 | 28500 | 33,500

WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG | 21 40,500 | 40500 | 33,500
NUO73 | HND | ISG | 21 37500 | 37500 | 33,500

wER NU070 | ISG | HND | 21 34500 | 37500 | 49400

NUO76 | ISG | HND| 21 40400 | 53400 | 53400

1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA|[ 21 23,500 17.300 14,100
NU053 | FUK | OKA| 21 23500 | 18500 | 15300

NUO057 | FUK| OKA[ 21 20800 | 18,500 | 15,300

18,100 15,000 13,000
18,800 13,000 13,000
17,800 13,000 13,000
14,200 13,000 20,300
14,200 13,000 23,500
14,800 13,600 23,500
15,900 20,900 26,000
15,900 20,900 26,000
15,300 20,300 25,000

#B(FREF | NUOSO | OKA[ FUK|[ 21

RRECAR)=8H FECRE)%E | NU021 | HND | MmY| 21 42,700 | 42,700 | 33700
oEE NU022 | MMY [ HND| 21 42,700 | 50,700 | 50,700
KR (BFE) =R KBz (BAFE) S | NU08S3 | KIX [ ISG | 21 24,200 | 24200 | 24,200
RIEF NU086 | ISG [ KIX [ 21 23200 | 35100 | 36,100
MR=3EE GIRER) IMRFE NU037 [ KMQ[ OKA|[ 21 35500 | 28,500 | 28500

SRR E | NU036 | OKA| KMQ| 21 31,700 | 28,500 | 40400

BEE (PER) =5

WOBH) | BEE(PEDR | _NU043 | NGO| OKA| 21 35600 | 20,200 18,700
36,800 | 20,900 | 19,600
34,600 | 18,000 | 18,000
28500 | 17,300 | 17.300
20700 | 23,300 | 36,700
27,300 | 37,700 | 38,600
23200 | 36,600 | 37.700
21,000 | 33600 | 35600
30200 | 26,200 | 26,200
28200 | 30,200 | 33,200

h#B(ARER) & | NU042 | OKA| NGO| 21

FEIL=3#8 GIRER)

(T =B B 10,300 | 9400 | 10300
11,000 | 9700 | 11,000
11,000 | 9700 | 11,000
11,000 | 9700 | 11,000
10,300 | 9200 | 10300
10,000 | 8700 | 10000

RIER NU600 | ISG | OKA| 21

() =B SHEB(ARER) | NUS51 | OKA| MMY| 21
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MEHEZI5I21 1 EEXR(11H20~23BERS)

SEREAE 2019/11/21 _~

s msqod_1/20 [ 1i/21 T 11722 [ 11/23
ES) By || EE FHEITE[ BEMTE| BHEMTE[ HEIMTE
wa | ERE | SEa | wRe | ERE
KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX [ OKA| 21 31,200 | 33500 [ 27,000 | 27.000
NU005 | KIX | OKA| 21 12200 | 27,600 | 14700 | 14,700
NU009 | KIX | OKA| 21 23400 | 20000 | 16,800 | 16,800
NU002 | KIX | OKA| 21 13800 | 15300 | 15300 | 19,700
NU004 | KIX | OKA| 21 12900 | 12200 | 19,100 | 29,900
NU008 | KIX | OKA| 21 28200 | 26400 | 27600 | 33,500
WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG | 21 40500 | 53,400 40,500
NUO73 | HND | ISG | 21 38500 | 51,500 38,500

wER NU070 | ISG | HND | 21 37500 | 38,500
NUO76 | ISG | HND| 21 40500 | 40,500 53,400
1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA|[ 21 17,100 | 26,900 15,300
NU053 | FUK | OKA| 21 18700 | 26,700 15,900
NUO057 | FUK| OKA[ 21 18,700 | 26,400 15,900
NUO61 | FUK| OKA| 21H 13,000 | 20,300 13,000
NU063 | FUK| OKA| 21H 20500 | 19,100 13,000
NU065 | FUK| OKA| 21H 20500 | 19,400 13,000
#B(FREF | NUOSO | OKA[ FUK|[ 218 13.000 14,200 19,500
NU052 | OKA| FUK]| 21H 13,000 | 14,200 21,400
NU054 | OKA| FUK]| 21H 14,800 | 14,800 25,100
NU058 | OKA| FUK| 21H 15,500 | 15,500 26,300
NU060 | OKA| FUK| 21H 15,500 | 15,500 26,300
NU062 | OKA| FUK| 21H 14,100 | 14,900 25,800
RRECAR)=8H RECRE)%E | NU021 | HND | MMY| 21H 42,700 | 50,700 38,700
oEE NU022 | MMY [ HND| 218 42,700 | 40,700 50,700
KR (BFE) =R KM (BAFE) % | NU0s3 | KIX | ISG | 21H 35100 | 36,100 24,200
GIEH NU086 | ISG | KIX | 21H 23200 | 24,200 36,100
MR=3EE GIRER) IMRFE NU037 [ KMQ[ OKA| 21H 31,700 | 37,000 28,500
ShEB(RE) % | NU036 | OKA| KMQ| 21H 31,700 | 31,700 40,400
BEE(PE)=3EGRH) | AHEE(PEDF | NU043 | NGO| OKA| 21H 28,600 | 37,300 22,700
NU045 [ NGO| OKA| 21H 31,500 | 37,800 25,000
NU047 [ NGO| OKA[ 21H 26,800 | 35,600 21,300
NU049 [ NGO| OKA[ 21H 32,600 | 34,600 20,300
Fh#B(ARER) % | NU042 | OKA|NGO| 21H 20,800 19,200 35,600
NU044 | OKA| NGO 21H 25200 | 26,900 38,300
NU046 | OKA| NGO | 21H 23200 | 22,800 38,300
NU048 | OKA| NGO 21H 21,000 | 20,600 32,600
FEIL=3#8 GIRER) NUO11 | OKJ [ OKA| 21H 29,600 | 33,200 26,200
NU016 | OKA| OKJ| 21H 26,200 | 26,200 33,200
4B (R =F1E NU601 | OKA[ ISG | 218 9300 | 10300 10,300
NU605 | OKA| ISG | 218 9800 | 11,000 11,000
NU607 | OKA[ ISG | 218 9800 | 11,000 11,000
NU609 | OKA[ ISG | 218 9800 | 11,000 11,000
NU617 | OKA[ ISG | 218 9500 | 10,300 10,300
NU621 | OKA[ ISG | 218 8,900 | 10,000 10,000
NU625 | OKA[ ISG | 218 9500 | 10,300 10,300
aiER NU600 | ISG | OKA| 218 9,200 9,600 9,600
NU608 | ISG | OKA| 218 9,300 9,600 9,600
NU610 | ISG | OKA| 218 8,700 9,200 9,200
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OKA 23,901
AHR (hER) =48 (FB5R) 0] OKA ,000 19,500
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[EBE5 1 ESER (10830~31 B ES)

EEEAR 2019/11/21  ~
PR AP 10730 10/31
|z | | R e R s | AT A S
e B s 2t 0 T 38 T wer | meee | werr | e
BAME | BALR e R e R
KR (BAE) =50k (AR ER) KW (BA%E) % | NU0OT | KIX | OKA[ 28 il 23,200 22,500 31,800 27,300
NU005 | KIX | OKA[ 28 | 14,200 13,600 23,200 21,900
NU009 | KIX | OKA[ 28 | 22,900 19,600 17,000 15,200
NU002 | KIX | OKA[ 28 | 12,600 11,900 14,800 13,600
NU004 | KIX | OKA[ 28 | 11,700 10,600 12,700 11,600
NU008 | KIX | OKA[ 28 | 22,400 20,300 22,400 20,300
WRECRR)=RE RECAE)% | NUO71 | HND| ISG| 28 il 36,300 31,700 44,200 37,600
NUO73 | HND| ISG | 28 | 34,300 29,700 41,300 34,700
wER NU070 | 1SG [ HND[ 28 | 30,300 28,700 30,300 28,700
NUO76 | I1SG | HND| 28 | 37.300 32,700 36,300 31,700
1BRE=h 4% (IRE) FHEES NUO51 [ FUK| OKA| 28 il 21,900 20,200 24,600 23,600
NU053 | FUK| OKA[ 28 | 24,200 22,500 24,600 23,600
NU057 | FUK| OKA| 28 | 24,200 22,500 24,000 22,900
NUO61 | FUK| OKA| 28R | 18,000 16,800 18,200 16,800
NU063 | FUK| OKA| 28R | 19,300 18,200 17,500 15,800
NU065 | FUK| OKA| 28R | 18,800 17,300 17,100 15,200
MBS | _NU0S0 | OKA| FUK| 28H i 14,700 12,800 14,700 12,800
NU052 | OKA| FUK| 28R | 15,700 12,800 15,700 12,800
NU054 | OKA| FUK| 28R | 15,300 13,400 16,500 13,400
NU058 | OKA| FUK| 28R | 18,000 15,000 18,000 16,700
NU060 | OKA| FUK| 28R | 18,000 15,500 17,000 13,700
NU062 | OKA| FUK| 28R | 19,000 18,000 16,000 13,200
RRECAR)=8H FECRE)%E | NU021 | HND|MMY[ 28H i 38,200 35,200 41,200 37,200
oEE NU022 [ MMY|HND| 28H i 38,200 35,200 38,200 35,200
KR (BFE) =R AMR(BAFE) % | NU083 | KIX | ISG| 28H i 30,100 26,100 32,100 28,100
GIEH NU086 | I1SG | KX | 28R | 21,400 19,700 21,400 19,700
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 28H i 27,400 23,900 33,500 30,500
ShEB(ARE) % | NU036 | OKA|KMQ[ 28H i 27,400 23,900 27,400 23,900
BEE(PE) =3 GRH) | AEE(PAE)F | NU043 | NGO| OKA| 28H i 16,800 14,700 36,600 36,100
NU045 | NGO| OKA| 28R | 18,800 16,600 37,100 37,000
NU047 | NGO| OKA| 28R | 16,200 14,100 35,600 32,600
NU049 [ NGO| OKA| 28R | 29,500 26,500 28,500 25,500
Fh#B(ARER) & | NU042 | OKA|NGO[ 28H i 18,500 16,100 17,700 15,400
NU044 | OKA[NGO| 28R | 24,700 22,100 26,600 23,900
NU046 | OKA|NGO| 28R | 21,400 18,800 20,400 18,000
NU048 | OKA[NGO| 28R | 19,300 16,800 18,400 16,000
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 28H i 27,700 26,600 31,200 30,200
NU016 | OKA| okJ| 28R | 23,000 19,300 23,000 19,300
4B (R =F1E NU601 | OKA[ ISG | 28H i 8,900 7,800 9,300 8,800
NU605 | OKA[ ISG | 28H i 9,400 9,000 9,700 9300
NU607 | OKA[ ISG | 28H i 6,900 6,300 9,700 9300
NU609 | OKA[ ISG | 28H i 6,900 6,300 9,700 9300
NU617 | OKA[ ISG | 28H i 8,900 7.800 9,000 8,800
NU621 | OKA[ ISG | 28H i 6,900 6,300 9,200 8,100
NU625 | OKA[ ISG | 28H i 8,900 7.800 9,000 8,100
aiER NU600 | I1SG [ OKA| 28H i 8,700 7,600 8500 7600
NU608 | 1SG [ OKA| 28H i 8,700 7,600 8500 7.600
NU610 | 1SG [ OKA| 28H i 6,900 6300 7.900 7400
NU612 | I1SG [ OKA| 28H i 6,900 6300 7.900 7400
NU614 | I1SG [ OKA| 28H i 8,700 7600 8500 7.600
NU622 | I1SG [ OKA| 28H i 9,400 8,700 8,900 8,700
NU626 | I1SG [ OKA| 28H i 8,700 7,600 8,700 7600
B RT)=EE PHB (B K | NUs51 [ OKA[MMY| 28H i 9,600 9,200 9,600 9,200
NU557 | OKA[MMY| 28H i 9,600 9,200 9,600 9,200
NU559 | OKA[MMY| 28H i 9,600 9,200 9,600 9,200
NU563 | OKA[MMY| 28 i 9,600 9,200 9,600 9,200
NU565_| OKA[MMY| 28 i 9,000 8,200 8,400 7400
NU567 | OKA[MMY| 28H i 9,000 8,200 9,000 8,200
NU571 | OKA[MMY| 28 i 9,000 8,200 8,400 7400
NU573 | OKA[MMY| 28 i 9,000 8,200 8,400 7400
EET S NU552_| MMY| OKA| 28H i 9,600 9,200 9,600 9,200
NU556_| MMY| OKA|  28H i 9,600 9,200 9,600 9,200
NU558 | MMY| OKA| 28H i 9,000 8,200 9,000 8,200
NU560 | MMY| OKA| 28H i 9,000 8,200 9,000 8,200
NU562_| MMY| OKA| 28H i 9,600 9,200 9,600 9,200
NU564 | MMY| OKA| 28H i 9,600 9,200 9,600 9,200
NU566_| MMY| OKA|  28H i 9,600 9,200 9,600 9,200
NU572 | MMY| OKA| 28H i 9,600 9,200 9,600 9,200
PRI =A%KE NU211 | OKA[UEO| 28H i 7.800 7,700 7.800 7.700
NU212 [UEO[ OKA| 28H i 7.300 6,700 6,900 6500

JTA



I%&BE5 1 EEXR(11A1~3AEESD)

EEEAR 2019/11/21  ~
PR AP /1 1172 1173
HSE | B35 EEHTA| RSB FABIMTA| 18547 B| K£1B4MTA| 18547 B[ k18517 A| %8417 B
= B8 a2t FH | I | wwe | mee | ave | mme | sre | s
BAME | BALR e R e B | EEE | EEE
KR (BAE) =50k (AR ER) KW (BA%E) % | NU0OT | KIX | OKA[ 28 il 28,800 23,300 22,400 20,300 22,400 | 20,300
NU005 | KIX | OKA[ 28 | 16,700 13,600 11,700 10600 | 11,700 | 10,600
NU009 | KIX | OKA[ 28 | 15,200 14,100 14,000 12,900 | 14,000 | 12,900
NU002 | KIX | OKA[ 28 | 13,800 13,100 12,600 11,900 | 18800 | 15,800
NU004 | KIX | OKA[ 28 | 12,700 11,600 17,800 16300 | 26,100 | 24,100
NU008 | KIX | OKA[ 28 | 24,500 22,800 25,800 22,300 | 31,500 | 29,500
WRECRR)=RE RECAE)% | NUO71 | HND| ISG| 28 il 36,300 31,700 36,300 31,700 29300 | 26,700
NUO73 | HND| ISG | 28 | 33,300 28,700 33,300 28,700 | 29,300 | 26,700
wER NU070 | 1SG [ HND| 28 | 30,300 28,700 33,300 31,700 | 40,200 | 33,600
NUO76 | I1SG | HND| 28 | 36,300 31,700 44,200 37,600 | 44,200 | 37,600
1BRE=h 4% (IRE) FHEES NUO51 [ FUK| OKA| 28 il 17,400 14,700 14,300 13.200 13,200 12,100
NU053 | FUK| OKA[ 28 | 18,600 15,800 15,500 14300 | 14300 | 13,300
NU057 | FUK| OKA| 28 | 19,000 17,000 15,500 14300 | 14300 | 13300
NUO61 | FUK| OKA| 28R | 15,700 13,800 12,500 11,300 | 12500 | 11,300
NU063 | FUK| OKA| 28R | 15,400 13,500 12,500 11,300 | 12500 | 11,300
NU065 | FUK| OKA| 28R | 16,800 14,900 12,500 11,300 | 12500 | 11,300
MBS | _NU0S0 | OKA| FUK| 28H i 13,600 12,300 12,500 11,300 18,300 17,000
NU052 | OKA| FUK| 28R | 13.600 12,300 12,500 11,300 | 20500 | 18,500
NU054 | OKA| FUK| 28R | 14,200 12,800 13,000 11,800 | 20500 | 18,500
NU058 | OKA| FUK| 28R | 14,900 13,700 18,900 17,700 | 24000 | 22,000
NU060 | OKA| FUK| 28R | 14,900 13,700 18,900 17,700 | 24000 | 22,000
NU062 | OKA| FUK| 28R | 14,300 13,200 18,300 17,200 | 22000 | 20,000
RRECAR)=8H FECRE)%E | NU021 | HND|MMY[ 28H i 38,200 35,200 38,200 35,200 30,200 | 27,200
oEE NU022 [ MMY|HND| 28H i 38,200 35,200 41,200 37,200 41,200 | 37,200
KR (BFE) =R KBz (BAFE)SE | NU083 | KIX | ISG| 28H i 21,500 19,700 21,500 19,700 21,500 19,700
GIEH NU086 | I1SG | KX | 28R | 21,400 19,700 31,600 27,600 | 32,100 | 28,100
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 28H i 33,500 30,500 23,800 20,700 23,800 | 20,700
ShEB(ARE) % | NU036 | OKA|KMQ[ 28H i 27,400 23,900 23,800 20,700 38,400 | 35400
BEE(PE) =3 GRH) | AEE(PAE)F | NU043 | NGO| OKA| 28H i 33,600 30,500 16,900 14,700 16.900 14,700
NU045 | NGO| OKA| 28R | 36,100 35,600 18,900 16,600 | 18900 | 16,600
NU047 | NGO| OKA| 28R | 31,600 28,500 16,300 14,100 | 16300 | 14,100
NU049 [ NGO| OKA| 28R | 25500 22,300 15,600 13500 | 15600 | 13,500
hHB (T K | NU042 [ OKA[NGO| 28H | 19.800 17,300 20,000 19,100 | 35100 | 34,600
NU044 | OKA[NGO| 28R | 26,500 23,800 37,600 35600 | 38500 | 38,000
NU046 | OKA|NGO| 28R | 22,700 20,100 35,600 32,600 | 36,100 | 35,600
NU048 | OKA[NGO| 28R | 20,600 18,000 29,900 27,900 | 32,600 | 29,900
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 28H i 27,700 25,600 23,000 19.300 23,000 19,300
NU016 | OKA| okJ| 28R | 27,700 26,600 26,700 25600 | 31,200 | 30,200
4B (R =F1E NU601 | OKA[ ISG | 28H i 9,300 8,800 8,900 7,800 8,800 8300
NU605 | OKA[ ISG | 28H i 9,700 9,300 9,400 8,300 9,200 8,800
NU607 | OKA[ ISG | 28H i 9,700 9,300 6,900 6,300 9.200 8,800
NU609 | OKA[ ISG | 28H i 9,700 9,300 6,900 6,300 9.200 8,800
NU617 | OKA[ ISG | 28H i 9,000 8,800 8,600 7,500 8,500 8,300
NU621 | OKA[ ISG | 28H i 9,200 8,100 6,900 6.300 8,700 7,600
NU625 | OKA[ ISG | 28H i 9,000 8,100 8,600 7500 8500 7,600
aiER NU600 | I1SG [ OKA| 28H i 9,000 8,100 8,900 7.800 9,000 8,100
NU608 | 1SG [ OKA| 28H i 9,000 8,100 8,900 7.800 9,000 8,100
NU610 | 1SG [ OKA| 28H i 8,400 7.900 6,900 6,300 8,400 7,900
NU612 | I1SG [ OKA| 28H i 8,400 7.900 6,900 6,300 8,400 7,900
NU614 | I1SG [ OKA| 28H i 9,000 8,100 8,900 7.800 9,000 8,100
NU622 | I1SG [ OKA| 28H i 9,400 9,200 9,700 8,700 9.400 9,200
NU626 | I1SG [ OKA| 28H i 9,200 8,100 8,900 7.800 9.200 8,100
B RT)=EE PHB (B K | NUs51 [ OKA[MMY| 28H i 9,600 9,200 9,600 9,200 8,600 7.600
NU557 | OKA[MMY| 28H i 9,600 9,200 9,600 9,200 9,600 9,200
NU559 | OKA[MMY| 28H i 9,600 9,200 9,600 9,200 9,600 9,200
NU563 | OKA[MMY| 28 i 9,600 9,200 9,600 9,200 9,600 9,200
NU565_| OKA[MMY| 28 i 9,000 8,200 9,000 8,200 9,000 8,200
NU567 | OKA[MMY| 28H i 9,000 8,200 8100 7.100 8100 7.100
NU571 | OKA[MMY| 28 i 9,000 8,200 8,100 7.100 9,000 8,200
NU573 | OKA[MMY| 28 i 9,000 8,200 8100 7.100 8100 7.100
EET S NU552_| MMY| OKA| 28H i 9,600 9,200 9,000 8,000 8,600 7.600
NU556_| MMY| OKA|  28H i 9,600 9,200 9,000 8,000 8,600 7.600
NU558 | MMY| OKA| 28H i 9,000 8,200 8,400 7400 8100 7.100
NU560 | MMY| OKA| 28H i 9,000 8,200 8,400 7,400 9,000 8,200
NU562_| MMY| OKA| 28H i 9,600 9,200 9,600 9,200 9,600 9,200
NU564 | MMY| OKA| 28H i 9,600 9,200 9,000 8,000 8,600 7.600
NU566_| MMY| OKA|  28H i 9,600 9,200 9,000 8,000 9,600 9,200
NU572 | MMY| OKA| 28H i 9,600 9,200 8,600 7,600 8,600 7.600
PRI =A%KE NU211 [ OKA[UEO| 28R i 8300 8,100 7.700 7,400 7.700 7.400
NU212 [UEO[ OKA| 28H i 6.900 6,500 6,600 5,900 6,600 5900
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TEBE5 EER (11H20~2381B %)

SEREA R 2019/11/21  ~
PR AP 11/20 11721 11/22 11/23
] B4 Ei ﬁ)’g ERITA| £RITB FABITA| k18547 B| 18T A| 18547 B[ k1857 A| %£18417 B| £ 1BIMT A %£18517B
T | e | TRE | ERE | ERE | SRa | SR | SRE | SRE | SRS
KB (BAEE) =R (BF) | ABR(BIF) S | NU001 [ KIX | OKA| 28 45 B Rl 26,100 23,900 31,800 27,300 22400 | 20,300 | 22400 [ 20,300
NU005 | KIX | OKA[ 28 456081 | 11,700 10,600 23,200 21,900 | 11,700 | 10600 | 11,700 | 10,600
NU009 | KIX | OKA[ 28 456081 | 22,900 19,600 17,800 15200 | 12,800 | 11,900 | 12,800 | 11,900
NU002 | KIX | OKA[ 28 456081 | 12,600 11,900 13,800 13,100 | 14200 | 13,100 | 18,000 | 16,100
NU004 | KIX | OKA[ 28 456081 | 11,700 10,600 11,700 10600 | 17.900 | 16,400 | 25800 | 23000
NU008 | KIX | OKA[ 28 456081 | 22,400 20,300 22,400 20,300 | 24500 | 22800 | 31800 | 29,300
RRECPE)=RIE HR(FE)F [ NUO71 [HND[ ISG| 28 45 B Rl 36,300 31,700 44,200 37,600 36300 | 31,700 | 36,300 [ 31,700
NUO73 | HND| ISG | 28 456081 | 34,300 29,700 42,300 35700 | 34300 | 29,700 | 34300 | 29,700
wER NU070 | 1SG [ HND| 28 456081 | 33,300 28,700 34,300 29,700 | 35300 | 29,700 | 36300 | 29,700
NUO76 | I1SG | HND| 28 456081 | 36,300 31,700 36,300 31,700 | 365300 | 31,700 | 44200 | 37,600
[EEL ) EHEES NUO51 [ FUK| OKA| 28 45 B Rl 15,700 14,600 24,600 22,600 17.400 16,700 14,300 13,200
NU053 | FUK| OKA[ 28 45681 | 16,700 15,700 24,600 22,600 | 17400 | 16700 | 14900 | 13,700
NU057 | FUK| OKA[ 28 45HET | 16,700 15,700 23,800 22,100 | 16700 | 15700 | 14,900 | 13,700
NUO61_| FUK| OKA| 28R 45881 | 12,500 11,300 18,200 16,800 | 13600 | 12,300 | 12,500 | 11,300
NU063 | FUK| OKA| 28R 45881 | 15,700 13,800 17,200 15800 | 13600 | 12,300 | 12,500 | 11,300
NU065 | FUK| OKA| 28R 45881 | 14,700 12,800 17,500 16,100 | 13600 | 12,300 | 12,500 | 11,300
FR#B(FRE)F | NU050 | OKA| FUK| 28H 45 B8l 12,500 11,300 13,600 12,300 13,600 12,300 17,600 16,200
NU052 | OKA| FUK| 28R 45881 | 12,500 11,300 13,600 12,300 | 13600 | 12,300 | 19,100 | 17,600
NU054 | OKA| FUK| 28R 45881 | 14,200 12,800 14,200 12,800 | 14,200 | 12,800 | 22500 | 21,500
NU058 | OKA| FUK| 28R 45881 | 14,500 13,400 14,500 13400 | 21,00 | 19,900 | 24,800 | 23,800
NU060 | OKA| FUK| 28R 45881 | 14,500 13,400 14,500 13400 | 21,00 | 19,900 | 24,800 | 23,800
NU062 | OKA| FUK| 28R 45881 | 13,200 12,100 14,000 12,800 | 20600 | 19,100 | 24,100 | 23,100
RRECPE)=EH FR(HE)HE | NU021 | HND[MMY| 28H 45 B8l 38,200 35,200 41,200 37,200 38,200 | 35200 [ 34200 | 31,200
et NU022 [ MMY|HND| 28R 45EET | 38,200 33,200 36,200 33200 | 38200 | 35200 | 41,200 | 37.200
KR (BEE)=R1E AMR(BAFE) % | NU0s3 | KIX | ISG| 28H 45 B8l 30,100 26,100 32,100 28,100 27,500 | 24500 [ 23500 | 21,500
FiE % NU086 | 1SG | KIX | 28H 45EET | 21400 19,700 22,400 19,700 | 22500 | 19,700 | 32,100 | 28,100
IR (AR ER) INRF NU037 [KMQ| OKA| 28H 45 B8l 27,400 23,900 35,000 32,000 27,400 | 23900 [ 23800 | 20,700
SR#B(FRE) S | NU036 | OKA|KMQ| 28H 45 B8l 27,400 23,900 27,400 23,900 27,400 | 23900 [ 38400 | 35400
AEE(PED =4 (A | BHE (PED) K| _NU043 |NGO| OKA| 28H 45 B8l 23,600 19,800 37,200 35,600 18,400 16,000 | 20,300 17,400
NU045 | NGO| OKA| 28R 45881 | 25800 20,100 37,200 37000 | 20400 | 18,000 | 22,300 | 19,100
NU047 | NGO| OKA| 28R 45881 | 22,700 19,100 34,200 32600 | 17,700 | 15400 | 19,000 | 16,200
NU049 [ NGO| OKA| 28R 45EET | 29,500 26,500 31,600 28500 | 17,000 | 14,800 | 18,100 | 15400
FR#B(FRE) K | NU042 | OKA|NGO[ 28H 45 B8l 19,400 17,100 17,800 15,500 19,800 19,100 | 32,600 | 29,500
NU044 | OKA[NGO| 28R 45881 | 24,500 21,900 26,500 23800 | 33600 | 30,500 | 38,200 | 38,000
NU046 | OKA|NGO| 28R 45881 | 22,300 19,800 20,600 18,100 | 32,600 | 29,500 | 37,300 | 34,000
NU048 | OKA[NGO| 28R 45881 | 20,200 17,800 18,500 16,200 | 27500 | 24500 | 29,900 | 26,500
R Li=3h 8 (IR ER) [EIES NUO11 [ OKJ| OKA| 28H 45 B8l 24,300 23,300 31,200 30,200 27,700 | 26,600 [ 23000 19,300
SR#B(FRE) S | NU0I6 | OKA| OKJ| 28H 45 B8l 23,000 19.300 23,000 19.300 27,700 | 26,600 [ 31,200 | 30,200
B8 G =H 18 SR (AE F | NUso1 [ OKA[ 1SG| 28H 45E T 8,900 7,800 9,300 8,800 9,300 8,800 9,300 8300
NU605 | OKA[ ISG | 28H 45E T 9,400 9,000 9,700 9300 9,700 9.300 9,700 8,800
NU607 | OKA[ ISG | 28H L 6,900 6300 9,700 9300 9,700 9.300 9,700 8,800
NU609 | OKA[ ISG | 28H i 6,900 6,300 9,700 9300 9,700 9.300 9,700 8,800
NU617 | OKA[ ISG | 28H i 8,900 7.800 9,000 8,800 9,000 8,800 9,000 8300
NU621 | OKA[ ISG | 28H i 6,900 6.300 9,200 8,100 9,200 8,100 9,200 7.600
NU625 | OKA[ ISG | 28H i 8,900 7,800 9,000 8,100 9,000 8,100 9,000 7.600
aiER NU600 | I1SG [ OKA| 28H i 8,700 7,600 9,000 7600 9,000 8,100 9,000 8,100
NU608 | 1SG [ OKA| 28H i 8,700 7,600 9,000 7600 9,000 8,100 9,000 8,100
NU610 | 1SG [ OKA| 28H i 6,900 6300 8,400 7400 8,400 7.900 8400 7.900
NU612 | I1SG [ OKA| 28H i 6,900 6300 8,400 7400 8,400 7.900 8400 7.900
NU614 | I1SG [ OKA| 28H i 8,700 7.600 9,000 7600 9,000 8,100 9,000 8,100
NU622 | I1SG [ OKA| 28H i 9,400 8,700 9,400 8,700 9,400 9,200 9.400 9,200
NU626 | I1SG [ OKA| 28H i 8,700 7,600 9.200 7600 9,200 8,100 9,200 8,100
B GRE) =EE B (IRE F | NUs51 [ OKA[MMY| 28H i 9,600 9,200 9,600 9,200 9,000 8,000 9,600 9,200
NU557 | OKA[MMY| 28 i 9,600 9,200 9,600 9,200 9,000 8,000 9,600 9,200
NU559 | OKA[MMY| 28 i 9,600 9,200 9,000 8,000 9,000 8,000 9,600 9,200
NU563 | OKA[MMY| 28 i 9,600 9,200 9,600 9,200 9,000 8,000 9,600 9,200
NU565_| OKA[MMY| 28H i 9,000 8,200 9,000 8,200 8,400 7.400 9,000 8,200
NU567 | OKA[MMY| 28 i 9,000 8,200 8,400 7400 8,400 7.400 9,000 8,200
NU571 | OKA[MMY| 28H i 9,000 8,200 8,400 7400 9,000 8,200 9,000 8,200
NU573 | OKA[MMY| 28 i 9,000 8,200 8,400 7400 8,400 7.400 9,000 8,200
EEES NU552_| MMY| OKA| 28H i 9,600 9,200 9,600 9,200 9,600 9,200 9,000 8,000
NU556_| MMY| OKA| 28H i 9,600 9,200 9,600 9,200 9,000 8,000 9,600 9,200
NU558 | MMY| OKA| 28H i 9,000 8,200 9,000 8,200 9,000 8,200 9,000 8,200
NU560 | MMY| OKA| 28H i 9,000 8,200 8,400 7400 9,000 8,200 9,000 8,200
NU562_| MMY| OKA| 28H i 9,600 9,200 9,600 9,200 9,600 9.200 9.600 9.200
NU564 | MMY| OKA| 28H i 9,600 9,200 9,000 8,000 9,600 9.200 9.600 9.200
NU566_| MMY| OKA| 28H i 9,600 9,200 9,000 8,000 9.000 8000 9.000 8000
NU572 | MMY| OKA| 28H 45E 8T 9,600 9,200 9.000 8,000 9.000 8000 9.600 9.200
PRI =A%KE ShEGRE R | NU211 [ OKA[UEO| 28H 45E 8T 7.800 7,700 7.800 7,700 7.800 7.700 8300 8,100
ARER NU212 [UEO[ OKA| 28H 45E 8T 7.300 6,700 7.300 6,700 6,900 6500 6,600 5.900

JTA



[R—/IR—%BIEER(10A25~11 B8AEBES)

SEREAE 2019/11/21 _~
10/25-29,11/4-8
ES) B2 2‘4"% f\!% FH _ A==k
PN — e
| #iziE "
KR (BAE) =50k (AR ER) KBz (BA#E) S | NUOO1 | KIX [ OKA| 55 17,300 56% |#1:19,500, H:14,600
NU005 | KIX | OKA| 55 9,200 76%
NU009 | KIX | OKA| 55 11,500 | 71% |X:11.600, +H:12,700
NU002 | KIX | OKA| 55 11,500 | 71% | X:11,600, £:12,700, H:12.800
NU004 | KIX | OKA| 55 9,200 76%
NU008 | KIX | OKA| 55 17.300 | 56% £:17,100, H:20,000
WRECRR)=RE RECFIE)S | NUO71 | HND[ ISG | 55 24,700 63% 27,700, H:26,700
NU073 | HND| ISG | 55 24,700 | 63% 25,700, + H:26.700
wER NU070 | ISG | HND| 55 24,700 | 63% :26,700
NUO76 | ISG | HND| 55 24700 | 63% |+ H:26.700
BE=HE B S NUO51 | FUK| OKA| 55 11,300 | 64% £:12,300, X B:11,500
NU053 | FUK | OKA| 55 12,400 | 61% |/:13.400, X:12,600, A:11,800, F:12,800
NUO057 | FUK| OKA| 55 11,800 | 63% |F:13.400. 12,400, £:12,800, B:12,500
NUO61 | FUK| OKA| 558 10,900 | 65% |X:11,200, £:11,900, B:12,100
NU063 | FUK| OKA| 558 10,900 | 65% |X:11,200, £:11,900, B:12,100
NUO065 | FUK| OKA| 558 10,900 | 65% |XK:11,200, £:11,900, B:12,100
# (T K | NU0S0 [ OKA| FUK] 558 10,900 | 65% |X:11,200, £:11,900, B:12,100
NU052 | OKA| FUK| 558 10,900 | 65% |X:11,200, £:11,900, B:12,100
NU054 | OKA| FUK| 558 11500 | 63% |&:11,700, %:12,500, H:12,700
NU058 | OKA| FUK| 558 11,800 | 63% |X:12,000, £:12,500, B:13,000
NU060 | OKA| FUK| 558 11,800 | 63% |X:12,000, £:12,500, B:13,000
NU062 | OKA| FUK| 558 11,300 | 64% £:11,900, B:12,500
RRECAR)=8H FECRE)% | NU021 | HND| MMY| 55H 25,200 60%
oEE NU022 [ MMY [ HND| 55H 25,200 60%
KR (BFE) =R AMR(BSFE)% | NU0s3 | KIX | ISG | 55H 18,300 67%
RIEF NU086 [ ISG [ KIX | 55H 18,300 67%
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 55H 18,500 60%
ShEB(IREE | NU036 | OKA| KMQ| 55H 18,500 60%
AEE(PE)=PEEE) | BEE(PE)F | _NU043 [NGO| OKA| 55H 13,200 70% . £:12,600. £:13,800. H:14,000
NU045 [ NGO| OKA| 558 14,700 | 67% 16,000, H:16,200
NU047 [ NGO| OKA| 558 13,200 | 70% 12,400, +:13,600, F:13,900
NU049 [ NGO| OKA| 558 13,200 | 70% |F:14,100. 7 £:18,400, £:13,600, H:13,900
Sh#B(ARE) % | NU042 | OKA|NGO| 55H 14,700 67% | AK:13,900, 7k:13,500, £:13,700, H:15.800
NU044 | OKA| NGO| 558 18,700 | 58% |+ H:20,300
NU046 | OKA| NGO| 558 16,500 | 63% | XK:15,000, 7K:15,200, +:15,500, H:17.600
NU048 | OKA| NGO| 558 14,900 | 66% |X7:13,500. k+:13900, H:16,100
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 55H 16,800 57% | £:21.400. +:22,500. H:17.100
NUO016 | OKA| OKJ| 558 16,800 | 57% |H:23,200
4B (R =F1E NU601 | OKA[ ISG | 55H 7.200 73% | kIKA:6.900
NU605 | OKA[ ISG | 55H 8,000 70% |£+H:8300
NU607 | OKA| ISG | 55H 5500 79% | H:5,800
NU609 | OKA[ ISG | 55H 5500 79% | H:5,800
NU617 | OKA[ ISG | 55H 6.900 74% |£+H:7.200
NU621 | OKA[ ISG | 55H 5500 79% | H:5,800
NU625 | OKA| ISG | 55H 6.900 74% | H:7.200
aiER NU600 | ISG | OKA| 55H 7.200 73% | kIKA:6.900
NU608 | ISG | OKA| 55H 7.200 73% | kIKA:6.900
NU610 | ISG | OKA| 55H 5500 79% | H:5,800
NU612 | ISG | OKA| 55H 5500 79% | H:5,800
NU614 | ISG | OKA| 55H 7.200 73% | KIKHAK:6.900
NU622 | ISG | OKA| 55H 8300 68% | JkIK7K:8,000
NU626 | ISG | OKA| 55H 7.200 73% | KIKHK:6,900
B RT)=EE B (B K | NUs51 [ OKA[ MMY[ 558 7.600 62% | kIkAK:7.300
NU557 | OKA [ MMY| 558 7.600 62% | KIKAK:7.300
NU559 | OKA [ MMY| 558 7.600 62% | A kIK:7.300
NU563 | OKA [ MMY| 558 7.600 62% | A kIK:7.300
NU565 | OKA [ MMY| 558 6.900 66% | KIKAK:6.500
NU567 | OKA [ MMY| 558 6500 68% |&+H:6900
NU571 | OKA[MMY| 558 6500 68% |&+H:6900
NU573 | OKA[MMY| 558 6500 68% |4
EET S NU552 | MMY | OKA| ™ 558 7.600 62% | ;
NU556 | MMY | OKA| 558 7.600 62% | kIKAK:7.300
NU558 | MMY | OKA| 558 6.900 66% | KIKAK:6.500
NU560 | MMY | OKA| 558 6.900 66% | KIKAK:6.500
NU562_| MMY | OKA| 558 7.600 62% | kIkA:7.300
NU564 | MMY | OKA| ™ 558 7.600 62% | kIKA:7.300
NU566 | MMY [ OKA| 558 7.600 62% | kIKA:7.300
NU572 | MMY | OKA| 558 7.300 64%
PRI =A%KE NU211 [ OKA| UEO| 558 6.900 44%
NU212 [ UEO| OKA| 558 5400 56%

JTA



[R—N—%FIEEXRN1AI~19BEED)

SEREAE 2019/11/21 _~
11/9-19
HE g P A==k
e B8 o | x| masm i | BEW o
TR #mEE "
KR (BAE) =50k (AR ER) KBz (BA#E) S | NUOO1 | KIX [ OKA| 55 17,300 56% |#1:19,500, H:14,600
NU005 | KIX | OKA| 55 9,200 76%
NU009 | KIX | OKA| 55 11,600 | 70% [+:12,800, H:12,700
NU002 | KIX | OKA| 55 11,600 | 70% [+:12,700, H:12,800
NU004 | KIX | OKA| 55 9,200 76%
NU008 | KIX | OKA| 55 17,300 | 56% |#:+:17,100, H:20.000
WRECRR)=RE RECFIE)S | NUO71 | HND[ ISG | 55 24,700 63% | +:27,700. H:26,700
NU073 | HND| ISG | 55 24,700 | 63% 125,700, £ H:26.700
wER NU070 | ISG | HND| 55 24,700 | 63% :26,700
NUO76 | ISG | HND| 55 24,700 | 63% :25,700, 1 H:26.700
1BRE=h 4% (IRE) FHEES NUO51 [ FUK [ OKA| 55 11,500 63% 12,500
NU053 | FUK | OKA| 55 12,000 | 62% 13,000, A:12,600
NUO057 | FUK| OKA| 55 12,000 | 62% :13,000, A:12,600, H:12,500
NUO61 | FUK| OKA| 558 11,200 | 64%
NU063 | FUK| OKA| 558 11,200 | 64%
NUO065 | FUK| OKA| 558 11,200 | 64%
#B(FREF | NUOSO | OKA| FUK| 558 11,200 64%
NU052 | OKA| FUK| 558 11,200 | 64%
NU054 | OKA| FUK| 558 11,700 | 63% |4 ,
NU058 | OKA| FUK| 558 12,000 | 62% |+:12,700, H:13,000
NU060 | OKA| FUK| 558 12,000 | 62% |+:12,700, H:13,000
NU062 | OKA| FUK| 558 11,500 | 63% |+:12,100, H:12,500
RRECAR)=8H FECRE)% | NU021 | HND| MMY| 55H 25,200 60% H:27.200
oEE NU022 [ MMY [ HND| 55H 25,200 60% H:27.200
KR (BFE) =R AMR(BSFE)% | NU0s3 | KIX | ISG | 55H 18,300 67% | +:20,000. H:19.400
GIEH NU086 | ISG | KIX | 55H 18,300 | 67% 18,900, H:20,100
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 55H 18,500 60%
ShEB(IREE | NU036 | OKA| KMQ| 55H 18,500 60%
BEE(PE) =R GRH) | REE (AR | NU043 | NGO| OKA| 55H 12,800 7%
NU045 [ NGO| OKA| 558 14,900 | 66%
NU047 [ NGO| OKA| 558 12,600 | 71%
NU049 [ NGO| OKA| 558 12,600 | 71% X
h#B (T K | NU042 | oKA|NGO[ s5R 14,700 | 67% |X:13,200, 7k:13,400, A:13,600, F:13,700, H:15.800
NU044 | OKA| NGO| 558 18,700 | 58% |+ H:20,300
NU046 | OKA| NGO| 558 16,500 | 63% | X:15,000, 7K:15.100, A:15,300, F:15,500, B:17.600
NU048 | OKA| NGO| 558 14,900 | 66% |X:13,500, 7k:13,600, A:13,800, £:13,900, H:16.100
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 55H 17,100 56% | £:22,200, £:23,200
NUO016 | OKA| OKJ| 558 17,100 | 56% |H:23,200
4B (R =F1E NU601 | OKA[ ISG | 55H 7.200 73% | kIKA:6.900
NU605 | OKA[ ISG | 55H 8,000 70% |£+H:8300
NU607 | OKA| ISG | 55H 5.800 78%
NU609 | OKA[ ISG | 55H 5.800 78%
NU617 | OKA[ ISG | 55H 6.900 74% |£+H:7.200
NU621 | OKA[ ISG | 55H 5.800 78%
NU625 | OKA| ISG | 55H 6.900 74% | H:7.200
aiER NU600 | ISG | OKA| 55H 7.200 73% | kIKA:6.900
NU608 | ISG | OKA| 55H 7.200 73% | kIKA:6.900
NU610 | ISG | OKA| 55H 5.800 78%
NU612 | ISG | OKA| 55H 5.800 78%
NU614 | ISG | OKA| 55H 7.200 73% | KIKHAK:6.900
NU622 | ISG | OKA| 55H 8300 68% | JkIK7K:8,000
NU626 | ISG | OKA| 55H 7.200 73% | KIKHK:6,900
B RT)=EE B (B K | NUs51 [ OKA[ MMY[ 558 7.600 62% | kIkAK:7.300
NU557 | OKA [ MMY| 558 7.600 62% | KIKAK:7.300
NU559 | OKA [ MMY| 558 7.600 62% | A kIK:7.300
NU563 | OKA [ MMY| 558 7.600 62% | A kIK:7.300
NU565 | OKA [ MMY| 558 6.900 66% | KIKAK:6.500
NU567 | OKA [ MMY| 558 6500 68% |&+H:6900
NU571 | OKA[MMY| 558 6500 68% |&+H:6900
NU573 | OKA[MMY| 558 6500 68% |4
EET S NU552 | MMY | OKA| ™ 558 7.600 62% | ;
NU556 | MMY | OKA| 558 7.600 62% | kIKAK:7.300
NU558 | MMY | OKA| 558 6.900 66% | KIKAK:6.500
NU560 | MMY | OKA| 558 6.900 66% | KIKAK:6.500
NU562_| MMY | OKA| 558 7.600 62% | kIkA:7.300
NU564 | MMY | OKA| ™ 558 7.600 62% | kIKA:7.300
NU566 | MMY [ OKA| 558 7.600 62% | kIKA:7.300
NU572 | MMY | OKA| 558 7.300 64%
PRI =A%KE NU211 [ OKA| UEO| 558 6.900 44%
NU212 [ UEO| OKA| 558 5400 56%

JTA



[R—/IR—%BHEEXR(11A24~30BEES)

SEREAE 2019/11/21 _~
11/24-30
FEIEES FH Z—/\—H 1=
e B8 o | x| masm i | BEW o
TR #mEE "
KR (BAE) =50k (AR ER) KBz (BA#E) S | NUOO1 | KIX [ OKA| 55 17,300 58% |#1:19,500, H:14,600
NU005 | KIX | OKA| 55 9,200 78%
NU009 | KIX | OKA| 55 11,600 | 72% |+:12,800, H:12,700
NU002 | KIX | OKA| 55 11,600 | 72% [+:12,700, H:12,800
NU004 | KIX | OKA| 55 9,200 78%
NU008 | KIX | OKA| 55 17,300 | 58% |#+:17,100, H:20,000
WRECRR)=RE RECFIE)S | NUO71 | HND[ ISG | 55 24,700 65% | A 27,700, H:26,700
NU073 | HND| ISG | 55 24,700 | 65% |A: 25,700, + H:26,700
RiER NU070 [ ISG [ HND| 55 24,700 65% | A 126,700
NUO76 | ISG | HND| 55 24700 | 65% |H:25.700, +H:26.700
1BRE=h 4% (IRE) FHEES NUO51 [ FUK [ OKA| 55 11,500 66% 12,500
NU053 | FUK | OKA| 55 12,600 | 63% 13,000, B:12.000
NUO057 | FUK| OKA| 55 12,600 | 63% 113,000, H:12,500
NUO61 | FUK| OKA| 558 11,200 | 67%
NU063 | FUK| OKA| 558 11,200 | 67%
NUO065 | FUK| OKA| 558 11,200 | 67%
#B(FREF | NUOSO | OKA| FUK| 558 11,200 67%
NU052 | OKA| FUK| 558 11,200 | 67%
NU054 | OKA| FUK| 558 11,700 | 65%
NU058 | OKA| FUK| 558 12,000 | 64% [+
NU060 | OKA| FUK| 558 12,000 | 64% |+:12,700, H:13,000
NU062 | OKA| FUK| 558 11,500 | 66% | +:12,100, H:12,500
RRECAR)=8H EECRHE)S | NUO21 | HND [ MMY| 558 25,200 62% 23,200, £ B:27.200
HE R NU022 [ MMY| HND| 558 25200 | 62% 23,200 + H:27.200
KR (BFE) =R AMR(BSFE)% | NU0s3 | KIX | ISG | 55H 18,300 68% | +:20,000. H:19.400
GIEH NU086 | ISG | KIX | 55H 18,300 | 68% 18,900, H:20,100
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 55H 18,500 62%
ShEB(IREE | NU036 | OKA| KMQ| 55H 18,500 62%
BEE(PE) =R GRH) | REE (AR | NU043 | NGO| OKA| 55H 14,700 68%
NU045 [ NGO| OKA| 558 17,000 | 64% |
NU047 [ NGO| OKA| 558 14500 | 69% | A
NU049 [ NGO| OKA| 558 14,500 | 69% |A:12,600, #:18,400, + H:13,800
h#B (T K | NU042 | oKA|NGO[ s5R 13600 | 71% |A:14.700, #:15.200, 13,700, B:15800
NU044 | OKA| NGO| 558 18700 [ 60% |kKk:17.100, £ H:20,300
NU046 | OKA| NGO| 558 15300 [ 67% |A:16.500, #:17,100, +:15,500, H:17.600
NU048 | OKA| NGO| 558 13,800 [ 70% |A:14.900, #:15500, +:13,900, H:16,100
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 55H 17,100 59% | KJK:14,900, #:23,900, +£:25,000
NUO016 | OKA| OKJ| 558 17,100 | 59% | Xsk:14,900, H:25000
4B (R =F1E NU601 | OKA[ ISG | 55H 7.200 74% | kIKA:6,900
NU605 | OKA[ ISG | 55H 8,000 71% | &+ H:8,300
NU607 | OKA| ISG | 55H 5.800 79%
NU609 | OKA[ ISG | 55H 5.800 79%
NU617 | OKA[ ISG | 55H 6.900 75% |&+H:7.200
NU621 | OKA[ ISG | 55H 5.800 79%
NU625 | OKA| ISG | 55H 6.900 75% | H:7.200
aiER NU600 | ISG | OKA| 55H 7.200 74% | kIKA:6.900
NU608 | ISG | OKA| 55H 7.200 74% | kIKA:6.900
NU610 | ISG | OKA| 55H 5.800 79%
NU612 | ISG | OKA| 55H 5.800 79%
NU614 | ISG | OKA| 55H 7.200 74% | RIKAK:6.900
NU622 | ISG | OKA| 55H 8300 70% | kIK7K:8,000
NU626 | ISG | OKA| 55H 7.200 74% | RIKHAK:6.900
B RT)=EE B (B K | NUs51 [ OKA[ MMY[ 558 7.600 64% | kIKAK:7.300
NU557 | OKA [ MMY| 558 7.600 64% | kIKAK:7.300
NU559 | OKA [ MMY| 558 7.600 64% | A kIK:7.300
NU563 | OKA [ MMY| 558 7.600 64% | A kIK:7.300
NU565 | OKA [ MMY| 558 6.900 68% | KIKAK:6.500
NU567 | OKA [ MMY| 558 6500 69% |&+H:6900
NU571 | OKA[MMY| 558 6500 69% |&+H:6900
NU573 | OKA[MMY| 558 6500 69% |4
EET S NU552 | MMY | OKA| ™ 558 7.600 64% | ;
NU556 | MMY | OKA| 558 7.600 64% | kIKAK:7.300
NU558 | MMY | OKA| 558 6.900 68% | KIKAK:6.500
NU560 | MMY | OKA| 558 6.900 68% | KIKAK:6.500
NU562_| MMY | OKA| 558 7.600 64% | kIKA:7.300
NU564 | MMY | OKA| ™ 558 7.600 64% | kIKA:7.300
NU566 | MMY [ OKA| 558 7.600 64% | kIKAK:7.300
NU572 | MMY | OKA| 558 7.300 66%
PRI =A%KE NU211 [ OKA| UEO| 558 6.900 47%
NU212 [ UEO| OKA| 558 5400 58%

JTA



[R——5%BEER(12R1~3AEBED)

SEREAE 2019/11/21 _~
12/1-3
ES) B2 2‘4"% f\!% FH A—I—%&
T 2| AR [ . [E—0H =
T | s "

KR (BAE) =50k (AR ER) KBz (BA#E) S | NUOO1 | KIX [ OKA| 55 17,400 58% | A:17.300
NU005 | KIX | OKA| 55 9,200 78%
NU009 | KIX | OKA| 55 10600 | 75%
NU002 | KIX | OKA| 55 10600 | 75%
NU004 | KIX | OKA| 55 9,200 78%
NU008 | KIX | OKA| 55 17.300 | 58%
WRECRR)=RE RECFIE)S | NUO71 | HND[ ISG | 55 23,700 66%
NU073 | HND| ISG | 55 22,700 | 68%
wER NU070 | ISG | HND| 55 22,700 | 68%
NUO76 | ISG | HND| 55 22,700 | 68%
1BRE=h 4% (IRE) FHEES NUO51 [ FUK [ OKA| 55 11,200 67%
NU053 | FUK | OKA| 55 12300 | 64%
NUO057 | FUK| OKA| 55 11,200 | 67%
NUO61 | FUK| OKA| 558 10,600 | 69%
NU063 | FUK| OKA| 558 10,600 | 69%
NUO065 | FUK| OKA| 558 10,600 | 69%
#B(FREF | NUOSO | OKA| FUK| 558 10,600 69%
NU052 | OKA| FUK| 558 10,600 | 69%
NU054 | OKA| FUK| 558 10,600 | 69%
NU058 | OKA| FUK| 558 11,700 | 65%
NU060 | OKA| FUK| 558 11,700 | 65%
NU062 | OKA| FUK| 558 11,200 | 67%
RRECAR)=8H FECRE)% | NU021 | HND| MMY| 55H 23,200 65%
Eh% NU022 [ MMY| HND| 558 23200 | 65%
KR (BFE) =R KBz (BAFE)S | NU0S3 | KIX [ ISG | 558 14,700 75%
RIEF NU086 [ ISG [ KIX | 55H 14,700 75%
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 55H 18,500 62%
ShEB(IREE | NU036 | OKA| KMQ| 55H 18,500 62%
BEE(PE) =R GRH) | REE (AR | NU043 | NGO| OKA| 55H 15,500 67%
NU045 [ NGO| OKA| 558 17,800 | 62%
NU047 [ NGO| OKA| 558 15200 | 67%
NU049 [ NGO| OKA| 558 15200 | 67%
Sh#B(ARE) % | NU042 | OKA|NGO| 55H 13,600 7%
NU044 | OKA| NGO| 558 18,000 | 61%
NU046 | OKA| NGO| 558 15300 | 67%
NU048 | OKA| NGO| 558 13,800 | 70%
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 55H 14,900 64%
NUO016 | OKA| OKJ| 558 14,900 | 64%
4B (R =F1E NU601 | OKA[ ISG | 55H 7.100 74%

NU605 | OKA[ ISG | 55H 8,100 71% | A:8.400
NU607 | OKA| ISG | 55H 5.800 79%
NU609 | OKA[ ISG | 55H 5.800 79%
NU617 | OKA[ ISG | 55H 7.100 74%
NU621 | OKA[ ISG | 55H 5.800 79%
NU625 | OKA| ISG | 55H 7.000 75%
aiER NU600 | ISG | OKA| 55H 7.000 75%
NU608 | ISG | OKA| 55H 7.000 75%
NU610 | ISG | OKA| 55H 5.800 79%
NU612 | ISG | OKA| 55H 5.800 79%
NU614 | ISG | OKA| 55H 7.000 75%
NU622 | ISG | OKA| 55H 8,100 71%
NU626 | ISG | OKA| 55H 7.000 75%
B RT)=EE B (B K | NUs51 [ OKA[ MMY[ 558 7.900 63%
NU557 | OKA [ MMY| 558 7.900 63%

NU559 | OKA [ MMY| 558 7.900 63% | £:8.200

NU563 | OKA [ MMY| 558 7.900 63% | £:8.200
NU565 | OKA [ MMY| 558 7.600 64%
NU567 | OKA [ MMY| 558 7.600 64%
NU571 | OKA[MMY| 558 7.600 64%
NU573 | OKA[MMY| 558 7.600 64%
EET S NU552 | MMY | OKA| ™ 558 7.900 63%
NU556 | MMY | OKA| 558 7.900 63%
NU558 | MMY | OKA| 558 7.600 64%
NU560 | MMY | OKA| 558 7.600 64%
NU562_| MMY | OKA| 558 7.900 63%
NU564 | MMY | OKA| ™ 558 7.900 63%
NU566 | MMY [ OKA| 558 7.900 63%
NU572 | MMY | OKA| 558 7.900 63%
PRI =A%KE NU211 [ OKA| UEO| 558 6.900 47%
NU212 [ UEO| OKA| 558 5400 58%

JTA



TR—N—%FGIEEXR(12A4~10BEFED)

SEREAE 2019/11/21 _~
12/4-10
ES) B2 2‘4"% f\!% FH A—I—%&
T 2| AR [ . [E—0H =
T | s "
KR (BAE) =50k (AR ER) KBz (BA#E) S | NUOO1 | KIX [ OKA| 55 17,400 58% | A:17,300, £:19,500, +:19,600, H:14,600
NU005 | KIX | OKA| 55 9,200 78%
NU009 | KIX | OKA| 55 10,600 | 75% |£:13.400, £ H:11.400
NU002 | KIX | OKA| 55 10,600 | 75% [+ H:11.400
NU004 | KIX | OKA| 55 9,200 78%
NU008 | KIX | OKA| 55 17,300 | 58% |#+:17,100, H:20,000
WRECRR)=RE FHRCPME)F | NU071 | HND| ISG | 55 23,700 66% | £ H:24,700, +:25,700
NU073 | HND| ISG | 55 22700 | 68% |%:23,700, +H:24.700
BER NU070 | ISG | HND| 55 22700 | 68% |+:24,700, B:23,700
NUO76 | ISG | HND| 55 22,700 | 68% 23,700, H:24,700
1BRE=h 4% (IRE) BE% NUO51 [ FUK [ OKA| 55 11,200 67% B:12,300
NU053 | FUK | OKA| 55 12,300 | 64% H:13.400
NUO057 | FUK| OKA| 55 11,200 | 67% |+:11,800, H:11,500
NUO61 | FUK| OKA| 558 10,600 | 69% 11,700
NU063 | FUK| OKA| 558 10,600 | 69% 11,700
NUO065 | FUK| OKA| 558 10,600 | 69%
#B(FREF | NUOSO | OKA| FUK| 558 10,600 69%
NU052 | OKA| FUK| 558 10,600 | 69%
NU054 | OKA| FUK| 558 10,600 | 69%
NU058 | OKA| FUK| 558 11,700 | 65% :12,800
NU060 | OKA| FUK| 558 11,700 | 65% 12,000, B:12,400
NU062 | OKA| FUK| 558 11,200 | 67% |+:11,500, H:11,800
RRECAR)=8H FECRE)% | NU021 | HND| MMY| 55H 23,200 65% H:27.200
oEE NU022 [ MMY [ HND| 55H 23,200 65% |+ H:27,200
KR (BFE) =R AMR(BSFE)% | NU0s3 | KIX | ISG | 55H 14,700 75% 13700
GIEH NU086 | ISG | KIX | 55H 14,700 | 75% [A:13,700
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 55H 18,500 62% |+ H:22,300
SEB(RT S | NUO36 | OKA[KMQ| 558 18,500 62% | H:22.300
BEE(PE) =R GRH) | REE (AR | NU043 | NGO| OKA| 55H 15,500 67% B:17.100
NU045 [ NGO| OKA| 558 17,800 | 62% H:19,500
NU047 [ NGO| OKA| 558 15200 | 67% H:16,800
NU049 [ NGO| OKA| 558 15200 | 67% 18,400, + H:16,800
h#B (T K | NU042 | oKA|NGO[ s5R 13,600 | 71% 15,200, £:14,100, H:16,300
NU044 | OKA| NGO| 558 18,000 | 61% |+ H:19,600
NU046 | OKA| NGO| 558 15300 | 67% |A%:17,100, :15,900, B:18,200
NU048 | OKA| NGO| 558 13,800 | 70% |A£:15500, £:14.400, H:16,600
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 55H 14,900 64%
NUO016 | OKA| OKJ| 558 14,900 | 64%
4B (R =F1E NU601 | OKA[ ISG | 55H 7.400 78% | RKA:7.100
NU605 | OKA[ ISG | 55H 8400 70% | A kIk:8,100
NU607 | OKA| ISG | 55H 5.800 79%
NU609 | OKA[ ISG | 55H 5.800 79%
NU617 | OKA[ ISG | 55H 7.400 73% | kK:7,000, k:7.100
NU621 | OKA[ ISG | 55H 5.800 79%
NU625 | OKA| ISG | 55H 7.000 75% |%:7.100. £ H:7.300
aiER NU600 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU608 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU610 | ISG | OKA| 55H 5.800 79%
NU612 | ISG | OKA| 55H 5.800 79%
NU614 | ISG | OKA| 55H 7.300 74% | RIKK:7,000, £:7.100
NU622 | ISG | OKA| 55H 8400 70% | kIkA:8,100
NU626 | ISG | OKA| 55H 7.300 74% | RIKK:7,000, £:7.100
B RT)=EE B (B K | NUs51 [ OKA[ MMY[ 558 8,200 62% | kIKAK:7.900
NU557 | OKA [ MMY| 558 8,200 62% | KIKAK:7.900
NU559 | OKA [ MMY| 558 8,200 62% | A kIK:7.900
NU563 | OKA [ MMY| 558 8,200 62% | A kIK:7.900
NU565 | OKA [ MMY| 558 7.900 63% | kIKAK:7.600
NU567 | OKA [ MMY| 558 7.600 64%  |&+H:7.900
NU571 | OKA[MMY| 558 7.600 644 |&+H:7.900
NU573 | OKA[MMY| 558 7.600 64% |4
EET S NU552 | MMY | OKA| ™ 558 8,200 62% | .
NU556 | MMY | OKA| 558 8,200 62% | kIKAK:7.900
NU558 | MMY | OKA| 558 7.900 63% | kIKAK:7.600
NU560 | MMY | OKA| 558 7.900 63% | KIKAK:7.600
NU562_| MMY | OKA| 558 8,200 62% | kIkAK:7.900
NU564 | MMY | OKA| ™ 558 8200 62% | kIKAK:7.900
NU566 | MMY [ OKA| 558 8,200 62% | kIKA:7.900
NU572 | MMY | OKA| 558 7.900 63%
PRI =A%KE NU211 [ OKA| UEO| 558 6.900 47%
NU212 [ UEO| OKA| 558 5400 58%

JTA



[ZR—I—%BHEEXR(12AN~1TEEES)

SEREAE 2019/11/21 _~
12/11-17
ES) B2 2‘4"% f\!% FH A==k
T 2| AR [ . [E—0H =
T | s "
KR (BAE) =50k (AR ER) KBz (BA#E) S | NUOO1 | KIX [ OKA| 55 19,600 53% | F:17.400, :X:18,400, A:20.,100, £:19,500, H:14,600
NU005 | KIX | OKA| 55 9,200 78%
NU009 | KIX | OKA| 55 10,600 | 75% |£:13.400, £ H:11.400
NU002 | KIX | OKA| 55 10,600 | 75% [+ H:11.400
NU004 | KIX | OKA| 55 9,200 78%
NU008 | KIX | OKA| 55 17.300 | 58% 18,100, #+:17,100, H:20,000
WRECRR)=RE RECFIE)S | NUO71 | HND[ ISG | 55 23,700 66% 25,700, H:24,700
NU073 | HND| ISG | 55 22,700 | 68% 23,700, + H:24,700
BEH NU070 | ISG | HND| 55 22,700 | 68% 24,700, H:23,700
NUO76 | ISG | HND| 55 22700 | 68% |+:23,700, B:24,700
1BRE=h 4% (IRE) BE% NUO51 [ FUK [ OKA| 55 11,200 67% H:12.300
NU053 | FUK | OKA| 55 12,300 | 64% H:13,400
NUO057 | FUK| OKA| 55 11,200 | 67% H:11,500, £:11,800
NUO61 | FUK| OKA| 558 10,600 | 69% [+:11,700
NU063 | FUK| OKA| 558 10,600 | 69% [+:11,700
NUO065 | FUK| OKA| 558 10,600 | 69%
#B(FREF | NUOSO | OKA| FUK| 558 10,600 69%
NU052 | OKA| FUK| 558 10,600 | 69%
NU054 | OKA| FUK| 558 10,600 | 69%
NU058 | OKA| FUK| 558 11,700 | 65% |+ H:12,800
NU060 | OKA| FUK| 558 11,700 | 65% | +:12,000, H:12,400
NU062 | OKA| FUK| 558 11,200 | 67% |+:11,500, H:11,800
RRECAR)=8H FECRE)% | NU021 | HND| MMY| 55H 23,200 65% H:27.200
oEE NU022 [ MMY [ HND| 55H 23,200 65% |+ H:27,200
KR (BFE) =R KRR (BS#E)% | NU083 | KIX | ISG | 55H 17,900 69% 13,700, &+ H:14,700
GIEH NU086 | ISG | KIX | 558 16700 | 71% |A:13.700. &+ H:14,700
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 55H 18,500 62% |+ H:22,300
SEB(RT S | NUO36 | OKA[KMQ| 558 18,500 62% | H:22.300
BEE(PE) =R GRH) | REE (AR | NU043 | NGO| OKA| 55H 15,500 67% B:17.100
NU045 [ NGO| OKA| 558 17,800 | 62% H:19,500
NU047 [ NGO| OKA| 558 15200 | 67% H:16,800
NU049 [ NGO| OKA| 558 15200 | 67% 18,400, + H:16,800
h#B (T K | NU042 | oKA|NGO[ s5R 13,600 | 71% 15,200, £:14,100, H:16,300
NU044 | OKA| NGO| 558 18,000 | 61% |+ H:19,600
NU046 | OKA| NGO| 558 15300 | 67% |A%:17,100, :15,900, B:18,200
NU048 | OKA| NGO| 558 13,800 | 70% |A£:15500, £:14.400, H:16,600
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 55H 14,900 64% | K:21,500
NUO016 | OKA| OKJ| 558 14,900 | 64%
4B (R =F1E NU601 | OKA[ ISG | 55H 7.400 78% | RKA:7.100
NU605 | OKA[ ISG | 55H 8,600 69% 200, 7k :8.400
NU607 | OKA| ISG | 55H 7.100 74% | A:7.200
NU609 | OKA[ ISG | 55H 7.100 74% | A:7.200
NU617 | OKA[ ISG | 55H 7.400 73% [ RKA:7.100
NU621 | OKA[ ISG | 55H 7.100 74% | A:7.300, £:7,200
NU625 | OKA| ISG | 55H 7.000 75% |%:7.100. £ H:7.300
aiER NU600 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU608 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU610 | ISG | OKA| 55H 7.100 74%
NU612 | ISG | OKA| 55H 7.100 74%
NU614 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU622 | ISG | OKA| 55H 8,600 69% | kokA:8,200
NU626 | ISG | OKA| 55H 7.300 74%
B RT)=EE B (B K | NUs51 [ OKA[ MMY[ 558 8.800 59% | kIKkA:8500
NU557 | OKA [ MMY| 558 8.800 59% | kIKkA:8500
NU559 | OKA [ MMY| 558 8.800 59% | A kJK:8500
NU563 | OKA [ MMY| 558 8.800 59% | A kJK:8500
NU565 | OKA [ MMY| 558 8500 60% | kIKk7K:8.200
NU567 | OKA [ MMY| 558 8,200 624 |&+H:8500
NU571 | OKA[MMY| 558 8,200 624 |&+H:8500
NU573 | OKA[MMY| 558 8,200 62% |4
EET S NU552 | MMY | OKA| ™ 558 8.800 59% | ,
NU556 | MMY | OKA| 558 8.800 59% | KIKAK:8,500
NU558 | MMY | OKA| 558 8500 60% | kIKk7K:8.200
NU560 | MMY | OKA| 558 8500 60% | kIKk7K:8.200
NU562_| MMY | OKA| 558 8.800 59% | kIKAK:8,500
NU564 | MMY | OKA| ™ 558 8.800 59% | kIKA:8,500
NU566 | MMY [ OKA| 558 8.800 59% | kIKAK:8,500
NU572 | MMY | OKA| 558 8500 60%
PRI =A%KE NU211 [ OKA| UEO| 558 6.900 47%
NU212 [ UEO| OKA| 558 5400 58%

JTA



[R—IR—%BHEEXR(12A18~24BEES)

SEREAE 2019/11/21 _~
12/18-24
ES) B2 2‘4"% f\!% FH A==k
T 2| AR [ . [E—0H =
T | s "
KR (BAE) =50k (AR ER) KBz (BA#E) S | NUOO1 | KIX [ OKA| 55 19,600 53% | F:17.400, :X:18,400, A:20.,100, £:19,500, H:14,600
NU005 | KIX | OKA| 55 9,200 78%
NU009 | KIX | OKA| 55 10,600 | 75% |£:13.400, £ H:11.400
NU002 | KIX | OKA| 55 10,600 | 75% [+ H:11.400
NU004 | KIX | OKA| 55 9,200 78%
NU008 | KIX | OKA| 55 17.300 | 58% 18,100, #+:17,100, H:20,000
WRECRR)=RE RECFIE)S | NUO71 | HND[ ISG | 55 23,700 66% 25,700, H:24,700
NU073 | HND| ISG | 55 22,700 | 68% 23,700, + H:24,700
BEH NU070 | ISG | HND| 55 22,700 | 68% 24,700, H:23,700
NUO76 | ISG | HND| 55 22700 | 68% |+:23,700, B:24,700
1BRE=h 4% (IRE) BE% NUO51 [ FUK [ OKA| 55 11,200 67% H:12.300
NU053 | FUK | OKA| 55 12,300 | 64% H:13,400
NUO057 | FUK| OKA| 55 11,200 | 67% H:11,500, £:11,800
NUO61 | FUK| OKA| 558 10,600 | 69% [+:11,700
NU063 | FUK| OKA| 558 10,600 | 69% [+:11,700
NUO065 | FUK| OKA| 558 10,600 | 69%
#B(FREF | NUOSO | OKA| FUK| 558 10,600 69%
NU052 | OKA| FUK| 558 10,600 | 69%
NU054 | OKA| FUK| 558 10,600 | 69%
NU058 | OKA| FUK| 558 11,700 | 65% |+ H:12,800
NU060 | OKA| FUK| 558 11,700 | 65% | +:12,000, H:12,400
NU062 | OKA| FUK| 558 11,200 | 67% |+:11,500, H:11,800
RRECAR)=8H FECRE)% | NU021 | HND| MMY| 55H 23,200 65% H:27.200
oEE NU022 [ MMY [ HND| 55H 23,200 65% |+ H:27,200
KR (BFE) =R KRR (BS#E)% | NU083 | KIX | ISG | 55H 17,900 69% 13,700, &+ H:14,700
GIEH NU086 | ISG | KIX | 558 16700 | 71% |A:13.700. &+ H:14,700
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 55H 18,500 62% |+ H:22,300
SEB(RT S | NUO36 | OKA[KMQ| 558 18,500 62% | H:22.300
BEE(PE) =R GRH) | REE (AR | NU043 | NGO| OKA| 55H 15,500 67% B:17.100
NU045 [ NGO| OKA| 558 17,800 | 62% H:19,500
NU047 [ NGO| OKA| 558 15200 | 67% H:16,800
NU049 [ NGO| OKA| 558 15200 | 67% 18,400, + H:16,800
h#B (T K | NU042 | oKA|NGO[ s5R 13,600 | 71% 15,200, £:14,100, H:16,300
NU044 | OKA| NGO| 558 18,000 | 61% |+ H:19,600
NU046 | OKA| NGO| 558 15300 | 67% |A%:17,100, :15,900, B:18,200
NU048 | OKA| NGO| 558 13,800 | 70% |A£:15500, £:14.400, H:16,600
FEIL=3#8 GIRER) NUO11 [ OKJ| OKA| 55H 14,900 64% | K:21,500
NUO016 | OKA| OKJ| 558 14,900 | 64%
4B (R =F1E NU601 | OKA[ ISG | 55H 7.400 78% | RKA:7.100
NU605 | OKA[ ISG | 55H 8,600 69% 200, 7k :8.400
NU607 | OKA| ISG | 55H 7.100 74% | A:7.200
NU609 | OKA[ ISG | 55H 7.100 74% | A:7.200
NU617 | OKA[ ISG | 55H 7.400 73% [ RKA:7.100
NU621 | OKA[ ISG | 55H 7.100 74% | A:7.300, £:7,200
NU625 | OKA| ISG | 55H 7.000 75% |%:7.100. £ H:7.300
aiER NU600 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU608 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU610 | ISG | OKA| 55H 7.100 74%
NU612 | ISG | OKA| 55H 7.100 74%
NU614 | ISG | OKA| 55H 7.300 74% | RIKA:7,000, £:7.100
NU622 | ISG | OKA| 55H 8,600 69% | kokA:8,200
NU626 | ISG | OKA| 55H 7.300 74%
B RT)=EE B (B K | NUs51 [ OKA[ MMY[ 558 8.800 59% | kIKkA:8500
NU557 | OKA [ MMY| 558 8.800 59% | kIKkA:8500
NU559 | OKA [ MMY| 558 8.800 59% | A kJK:8500
NU563 | OKA [ MMY| 558 8.800 59% | A kJK:8500
NU565 | OKA [ MMY| 558 8500 60% | kIKk7K:8.200
NU567 | OKA [ MMY| 558 8,200 624 |&+H:8500
NU571 | OKA[MMY| 558 8,200 624 |&+H:8500
NU573 | OKA[MMY| 558 8,200 62% |4
EET S NU552 | MMY | OKA| ™ 558 8.800 59% | ,
NU556 | MMY | OKA| 558 8.800 59% | KIKAK:8,500
NU558 | MMY | OKA| 558 8500 60% | kIKk7K:8.200
NU560 | MMY | OKA| 558 8500 60% | kIKk7K:8.200
NU562_| MMY | OKA| 558 8.800 59% | kIKAK:8,500
NU564 | MMY | OKA| ™ 558 8.800 59% | kIKA:8,500
NU566 | MMY [ OKA| 558 8.800 59% | kIKAK:8,500
NU572 | MMY | OKA| 558 8500 60%
PRI =A%KE NU211 [ OKA| UEO| 558 6.900 47%
NU212 [ UEO| OKA| 558 5400 58%

JTA



[R—/IR—%BHEEXR(10A30~3I1BEES)

SEREAE 2019/11/21 _~
10/30 | 10/31
=40 4 E% ?\!E Eiguﬁ A——5@ | 2/ {—%#®
=R B | EBALE
KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX | OKA[ 55 19,700 | 253800
NU005 | KIX | OKA| 55 11,400 | 20,300
NU009 | KIX | OKA| 55 19,100 | 14.300
NU002 | KIX | OKA| 55 11,600 | 13.200
NU004 | KIX | OKA| 55 9,200 9,900
NU008 | KIX | OKA| 55 17,300 | 19.100
WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG [ 55 26,200 | 31,100
NUO73 | HND | ISG | 55 25,200
BER NU070 | ISG | HND| 55 25,200
NUO76 | ISG | HND| 55 27,200
1BRE=h 4% (IRE) FHEES NUO51 | FUK | OKA| 55 16.600
NU053 | FUK | OKA| 55 18,000
NUO057 | FUK| OKA[ 55 18,000
NUO61 | FUK| OKA| 558 14,500
NU063 | FUK| OKA| 558 15,100
NU065 | FUK| OKA| 558 14,700
(R F | NUOSO | OKA| FUK | 55H 11,900
NU052 | OKA| FUK| 558 11,200
NU054 | OKA| FUK| 558 11,700
NU058 | OKA| FUK| 558 14,000
NU060 | OKA| FUK| 558 14,500
NU062 | OKA| FUK| 558 15,500
RRECAR)=8H RECRE)%E | NU021 | HND| MMY| 558 28,700
oEE NU022 [ MMY[ HND| 558 28,700
KR (BFE) =R AMR(BAFE)% | NU083 | KIX | ISG| 55H 23,100
RIEF NU086 [ ISG [ KIX | 55H 18,300
MR=3EE GIRER) AT NU037 [ KMQ[ OKA| 55H 22,300
ShEB(IREE | NU036 | OKA|KMQ| 55H 22,300
BEE (PE) =R GRH) | AEE (AR | NU043 | NGO| OKA[ 55H 13,800
NU045 | NGO| OKA| 558 16,000
NU047 [ NGO| OKA| 558 13,600
NU049 [ NGO| OKA| 558 23,800
Sh#B(ARE) % | NU042 | OKA|NGO| 55H 14,700
NU044 | OKA| NGO| 558 18,700
NU046 | OKA| NGO| 558 16,500
NU048 | OKA| NGO| 558 14,900
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 55H 22,800
NU016 | OKA| OKJ| 558 16,800
4B (R =F1E NU601 | OKA[ ISG | 558 7.200
NU605 | OKA[ ISG | 558 8700
NU607 | OKA[ ISG | 558 5500
NU609 | OKA[ ISG | 558 5500
NU617 | OKA[ ISG | 558 7.200
NU621 | OKA[ ISG | 558 5500
NU625 | OKA[ ISG | 558 7.200
aiER NU600 | ISG [ OKA| 558 7.000
NU608 | ISG | OKA| 55R 7.000
NU610 | ISG [ OKA| 558 5500
NU612 | ISG | OKA| 55R 5500
NU614 | ISG | OKA| 558 7.000
NU622 | ISG | OKA| 558 8,200
NU626 | ISG | OKA| 558 7.000
B RT)=EE PHB (B K | NUs51 | OKA| MMY| 55 8700
NU557 | OKA[MMY| 558 8700
NU559 | OKA [ MMY| 558 8700
NU563 | OKA [ MMY| 558 8700
NU565 | OKA [ MMY| 558 7.600
NU567 | OKA [ MMY| 558 7.600
NU571 | OKA[MMY| 558 7.600
NU573 | OKA[MMY| 558 7.600
EET S NU552_| MMY | OKA| 558 8700
NU556 | MMY | OKA| 558 8700
NU558 | MMY | OKA| 558 7.600
NU560 | MMY | OKA| 558 7.600
NU562 | MMY | OKA| 558 8700
NU564 | MMY| OKA| 558 8700
NU566_| MMY | OKA| 558 8700
NU572 | MMY| OKA| 558 8700
PRI =A%KE NU211 [ OKA| UEO| 558 7.300
NU212 [ UEO[ OKA| 558 6,600

JTA



[R—N—%FIEEXR(1A1~3ABED)

SEREAE 2019/11/21 _~
1/1 11/2 11/3
=40 4 E% ?\!E Eiguﬁ A——5% | 2—1—%8 | 2——%8
=R B | EBALE e
KR (BAE) =50k (AR ER) KR (BA#E) S | NUOO1 | KIX | OKA[ 55 20800 | 17.300 | 16.300
NU005 | KIX | OKA| 55 11500 | 9.200 | 10.200
NU009 | KIX | OKA| 55 12,700 | 11,500 | 11.500
NU002 | KIX | OKA| 55 12700 | 11,500 | 14.300
NU004 | KIX | OKA| 55 9900 | 15100 | 22,100
NU008 | KIX | OKA| 55 19,100 | 20,100 | 25,800
WRECRR)=RE SRR CFIE)$E | NUO71 | HND| ISG [ 55 26200 | 26200 | 24,700
NUO73 | HND | ISG | 55 24,200 25,200
BER NU070 | ISG | HND| 55 25,200
NUO76 | ISG | HND| 55 26,200
1BRE=h 4% (IRE) FHEES NUO51 | FUK | OKA| 55 13,400
NU053 | FUK | OKA| 55 14,500
NUO057 | FUK| OKA[ 55 15,600
NUO61 | FUK| OKA| 558 12,100
NU063 | FUK| OKA| 558 11,800
NU065 | FUK| OKA| 558 13,200
(R F | NUOSO | OKA| FUK | 55H 11,900
NU052 | OKA| FUK| 558 11,900
NU054 | OKA| FUK| 558 12,500
NU058 | OKA| FUK| 558 12,800
NU060 | OKA| FUK| 558 12,800
NU062 | OKA| FUK| 558 12,300
RRECAR)=8H RECRE)%E | NU021 | HND| MMY| 558 28,700
oEE NU022 [ MMY[ HND| 558 28,700
KR (BFE) =R AMR(BAFE)% | NU083 | KIX | ISG| 55H 18,300
RIEF NU086 [ ISG [ KIX | 55H 18,300
MR=3EE GIRER) AT NU037 [ KMQ[ OKA| 55H 26,900
ShEB(IREE | NU036 | OKA|KMQ| 55H 22,300
BEE (PE) =R GRH) | AEE (AR | NU043 | NGO| OKA[ 55H 28,000
NU045 | NGO| OKA| 558 33,100
NU047 [ NGO| OKA| 558 26,000
NU049 [ NGO| OKA| 558 19,800
Sh#B(ARE) % | NU042 | OKA|NGO| 55H 15,800
NU044 | OKA| NGO| 558 20,300
NU046 | OKA| NGO| 558 17,600
NU048 | OKA| NGO| 558 16,100
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 55H 22,300
NU016 | OKA| OKJ| 558 22,800
4B (R =F1E NU601 | OKA[ ISG | 558 8,000
NU605 | OKA[ ISG | 558 9,000
NU607 | OKA[ ISG | 558 9,000
NU609 | OKA[ ISG | 558 9,000
NU617 | OKA[ ISG | 558 8,000
NU621 | OKA[ ISG | 558 7.900
NU625 | OKA[ ISG | 558 7.900
aiER NU600 | ISG [ OKA| 558 7.000
NU608 | ISG | OKA| 55R 7.000
NU610 | ISG [ OKA| 558 6,600
NU612 | ISG | OKA| 55R 6,600
NU614 | ISG | OKA| 558 7.000
NU622 | ISG | OKA| 558 8300
NU626 | ISG | OKA| 558 7.000
B RT)=EE PHB (B K | NUs51 | OKA| MMY| 55 8700
NU557 | OKA[MMY| 558 8700
NU559 | OKA [ MMY| 558 8700
NU563 | OKA [ MMY| 558 8700
NU565 | OKA [ MMY| 558 7.600
NU567 | OKA [ MMY| 558 7.600
NU571 | OKA[MMY| 558 7.600
NU573 | OKA[MMY| 558 7.600
EET S NU552_| MMY | OKA| 558 8700
NU556 | MMY | OKA| 558 8700
NU558 | MMY | OKA| 558 7.600
NU560 | MMY | OKA| 558 7.600
NU562 | MMY | OKA| 558 8700
NU564 | MMY| OKA| 558 8700
NU566_| MMY | OKA| 558 8700
NU572 | MMY| OKA| 558 8700
PRI =A%KE NU211 [ OKA| UEO| 558 8,000
NU212 [ UEO[ OKA| 558 6,000

JTA



[R—/—5%1% 1 :EER(11H20~238EFES) JTA
EEERE . 2019/11/21 ~

11/20 | 11/21 11/22 | 11/23
=40 4 vﬂ‘j’% ﬂi ﬁiglﬁ A——5@ | 2—/—5%® | 2——5%B | 2/ %@
=R B | EBALE e e
KR (BAE) =50k (AR ER) KBz (BAZE) S | NUOO1 | KIX [ OKA il 19,500 | 25800 [ 17.300 | 17.300
NU005 | KIX | OKA | 10200 [ 18,800 | 9,200 9,200
NU009 | KIX | OKA i_| 15300 [ 14700 | 11.600 | 11,600
NU002 | KIX | OKA i_| 11,600 [ 12700 | 12800 | 14,100
NU004 | KIX | OKA i 9,200 9200 | 14900 | 21,100
NU008 | KIX | OKA i | 17.300 [ 17.900 | 19.800 | 25,900
WRECRR)=RE RECFIE)$E | NUO71 | HND| ISG il 26,200 | 31,100 26,200
NU073 | HND | ISG i | 25200 | 29,200
wER NU070 | ISG | HND | 25.200
NUO76 | ISG | HND i | 27.200
1BRE=h 4% (IRE) FHEES NUO51_| FUK | OKA i 13,500
NU053 | FUK | OKA | 14,000
NUO057 | FUK | OKA | 14,000
NUO61_| FUK | OKA i | 11,200
NU063 | FUK | OKA i | 12,100
NUO065 | FUK | OKA i | 11,200
(R F [ NUOS0 | OKA| FUK i 11,200
NUO052 | OKA| FUK i | 11,200
NUO054 | OKA| FUK | 12,700
NUO058 | OKA| FUK | 12,700
NU060 | OKA| FUK | 12,700
NU062 | OKA| FUK | 11,500
RRECAR)=8H EECRHE)SE | NU021 | HND | MMY i 28,700
HE R NU022 | MMY | HND | 28,700
KR (BFE) =R AR (BSFE) % | NU083 | KIX | ISG i 23,100
GIEH NU086 | ISG | KIX | 18,300
MR=3EE GIRER) IMRFE NU037 [ KMQ| OKA ] 22,300
ShEB(IREE | NU036 | OKA| KMQ i 22,300
BEE(PE)=3EGRH) | HE(PED R | NU043 | NGO | OKA i 15,500
NU045 | NGO | OKA | 17.800
NU047 | NGO | OKA | 15,200
NU049 | NGO | OKA | 23,800
Fh#B(ARE) & | NU042 | OKA| NGO i 15,200
NU044 | OKA| NGO | 18,700
NU046 | OKA| NGO | 17,100
NU048 | OKA| NGO | 15,500
FEIL=3#8 GIRER) NUO11 | OKJ [ OKA i 20,400
NUO016 | OKA| OKJ | 16,800
4B (R =F1E NU601 | OKA[ 1SG i 7.200
NU605 | OKA| 1SG i 8,700
NU607 | OKA| 1SG i 5,500
NU609 | OKA| 1SG i 5,500
NU617 | OKA[ 1SG i 7.200
NU621 | OKA[ 1SG i 5,500
NU625 | OKA| 1SG i 7.200
aiER NU600 | ISG | OKA i 7.000
NUG608 | ISG | OKA i 7.000
NU610 | 1SG | OKA i 5,500
NU612 | ISG | OKA i 5,500
NU614 | 1SG | OKA i 7.000
NU622 | ISG | OKA i 8,200
NU626 | ISG | OKA i 7.000
B RT)=EE PHB (B K | NUS51 | OKA| MMY i 8,700
NU557 | OKA | MMY’ i 8,700
NU559 | OKA | MMY’ i 8,700
NU563 | OKA | MMY’ i 8,700
NU565 | OKA | MMY’ i 7.600
NU567 | OKA | MMY’ i 7.600
NU571 | OKA | MMY' i 7.600
NU573 | OKA | MMY’ i 7.600
B NU552 | MMY | OKA i 8700
NU556 | MMY | OKA i 8,700
NU558 | MMY | OKA i 7.600
NU560 | MMY | OKA i 7.600
NU562 | MMY | OKA i 8,700
NU564 | MMY | OKA i 8,700
NU566 | MMY | OKA i 8,700
NU572 | MMY | OKA i 8,700
PRI =A%KE NU211 | OKA| UEO i 7.300
NU212 [ UEO| OKA i 6,600




TYILSEBIEER(10A25~11 H8ARES)

SEREAE 2019/11/21 _~
10/25-29,11/4-8
] B4 2‘4"% f\!% FH _ VIVESRF
PN — W=
| #iziE "
KR (BAE) =50k (AR ER) KBz (BAFE) S | NU0O1 | KIX [ OKA| 75 15,900 59% |#1:18,000, H:13,000
NU005 | KIX | OKA[ 75 8,700 78%
NU009 | KIX | OKA[ 75 11,000 | 72% [+H:12.300
NU002 | KIX | OKA[ 75 11,000 | 72% [+H:12.300
NU004 | KIX | OKA[ 75 8,700 78%
NU008 | KIX | OKA| 75 15900 | 59% £:15,700, H:18,400
WRECRR)=RE RECPIE)S | NUO71 | HND[ ISG | 75 23,200 66%
NUO73 | HND| ISG | 75 23200 | 66%
wER NU070 | ISG [ HND| 75 23200 | 66%
NUO76 | ISG | HND| 75 23200 | 66% |+
1BRE=h 4% (IRE) FHEES NUO51 [ FUK [ OKA[ 75 10,900 65%
NU053 | FUK | OKA[ 75 11500 | 63% 12,500
NUO057 | FUK| OKA| 75 11,500 | 63% 112,500, H:11,900
NUO61 | FUK| OKA| 758 10,600 | 66% |+ H:11,600
NU063 | FUK| OKA| 758 10,600 | 66% 11,600
NUO065 | FUK| OKA| 758 10,600 | 66%
(R F | NUOSO | OKA| FUK| 758 10,600 66%
NU052 | OKA| FUK| 758 10,600 | 66%
NU054 | OKA| FUK| 758 11,200 | 64% |4
NU058 | OKA| FUK| 758 11,500 | 63% |+:12,100, H:12,500
NU060 | OKA| FUK| 758 11,500 | 63% |+:12,100, H:12,500
NU062 | OKA| FUK| 758 10,900 | 65% |+:11,600, H:11,900
RRECAR)=8H FECRE)% | NUo21 | HND| MMY| 75H 24,200 62% H:26,200
oEE NU022 [ MMY [ HND| 75H 24,200 62% H:26,200
KR (BFE) =R KMR(BAFE)% | Nuos3 | KIX | ISG | 75H 17,700 68% | +:19.500. H:18,800
GIEH NU086 | ISG | KIX | 758 17,700 3 18,400, H:19.600
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 75H 17,400
ShEB(IREE | NU036 | OKA|KMQ| 75H 17,400
BEE(PE) =R GREH) | RHEE (AR | NU043 | NGO| OKA| 75H 12,300
NU045 [ NGO| OKA| 758 14,300
NU047 [ NGO| OKA| 758 12,000 13,200
NU049 [ NGO| OKA| 758 12,000 17,500, + H:13,200
h#B(ARE) % | NU042 | OKA|NGO| 75H 13,000 14,500, 1:13.400. B:15,600
NU044 | OKA| NGO| 758 18,100 | 59% |+ H:19,700
NU046 | OKA| NGO| 758 14,800 | 66% |H£:16,300, £:15,100, H:17,400
NU048 | OKA| NGO| 758 13,300 | 70% |A%:14,700, £:13,600, B:15,800
L= 48 (FRE) NUOT1 | OKJ| OKA| 758 16,300 | 58% |£::20,900, £:22,000, H:16.600
NU016 | OKA| OKJ| 758 16,300 | 58% |H:22,700
4B (R =F1E NU601 | OKA[ ISG | 75H 5.900 78% | kIKA:5,600
NU605 | OKA[ ISG | 75H 7.300 724 |&+H:7.600
NU607 | OKA[ ISG | 75H 5300 80%
NU609 | OKA[ ISG | 75H 5300 80%
NU617 | OKA[ ISG | 75H 5.900 78% | K:5,600
NU621 | OKA[ ISG | 75H 5300 80%
NU625 | OKA[ ISG | 75H 5,600 79% | H:5,900
aiER NU600 | ISG | OKA| 758 5.900 78% | kIKA:5,600
NU608 | ISG | OKA| 75H 5.900 78% | kIKA:5,600
NU610 | ISG | OKA| 758 5300 80%
NU612 | ISG | OKA| 75H 5300 80%
NU614 | ISG | OKA| 75H 5.900 78% | RIKAK:5.600
NU622 | ISG | OKA| 75H 7.600 71% | RIKA:7.300
NU626 | ISG | OKA| 75H 5.900 78% | KIKA:5.600
B RT)=EE B (B K | NUs51 [ OKA[MMY[ 758 6.900 66% | KIKAK:6.500
NU557 | OKA [ MMY| 758 6.900 66% | KIKAK:6.500
NU559 | OKA [ MMY| 758 6.900 66% | A kJK:6.500
NU563 | OKA [ MMY | 758 6.900 66% | A kJK:6,500
NU565 | OKA [ MMY | 758 5.800 T1% | RIKA:5.400
NU567 | OKA [ MMY| 758 5400 73% |&+H:5800
NU571 | OKA[MMY[ 758 5400 73% |&+H:5800
NU573 | OKA[MMY| 758 5400 73% |4
EET S NU552_| MMY | OKA| ™ 758 6.900 66% | ,
NU556 | MMY [ OKA| 758 6.900 66% | KIKAK:6.500
NU558 | MMY | OKA| 758 5.800 T1% | RIKA:5.400
NU560 | MMY | OKA| ™ 758 5.800 T1% | RIKA:5.400
NU562_| MMY | OKA| ™ 758 6.900 66% | kIKAK:6.500
NU564 | MMY | OKA| ™ 758 6.900 66% | kIKAK:6.500
NU566 | MMY [ OKA| 758 6.900 66% | kIKAK:6.500
NU572 | MMY | OKA| ™ 758 6500 68%
PRI =A%KE NU211 [ OKA| UEO| 758 5400 56%
NU212 [ UEO[ OKA] 758 4300 65%

JTA



TSR IEER(TAI~19BEES)

SEREAE 2019/11/21 _~
11/9-19
] B4 2‘4"% f\!% FH _ VIVESRF
PN — W=
| #iziE "
KR (BAE) =50k (AR ER) KBz (BAFE) S | NU0O1 | KIX [ OKA| 75 15,900 59% |#1:18,000, H:13,000
NU005 | KIX | OKA[ 75 8,700 78%
NU009 | KIX | OKA[ 75 11,000 | 72% [+H:12.300
NU002 | KIX | OKA[ 75 11,000 | 72% [+H:12.300
NU004 | KIX | OKA[ 75 8,700 78%
NU008 | KIX | OKA| 75 15900 | 59% |#+:15700, H:18.400
WRECRR)=RE RECPIE)S | NUO71 | HND[ ISG | 75 23,200 66% | +:26.200. H:25,.200
NUO73 | HND| ISG | 75 23200 | 66% 124,200, 1 H:25.200
wER NU070 | ISG [ HND| 75 23200 | 66% :25,200
NUO76 | ISG | HND| 75 23200 | 66% :24,200, + H:25.200
1BRE=h 4% (IRE) FHEES NUO51 [ FUK [ OKA[ 75 10,900 65% 11,900
NU053 | FUK | OKA[ 75 11500 | 63% 12,500, A:12,000
NUO057 | FUK| OKA| 75 11,500 | 63% :12,500, A:12,000, H:11,900
NUO61 | FUK| OKA| 758 10,600 | 66% |+ H:11,600
NU063 | FUK| OKA| 758 10,600 | 66% 11,600
NUO065 | FUK| OKA| 758 10,600 | 66%
(R F | NUOSO | OKA| FUK| 758 10,600 66%
NU052 | OKA| FUK| 758 10,600 | 66%
NU054 | OKA| FUK| 758 11,200 | 64% |4
NU058 | OKA| FUK| 758 11,500 | 63% |+:12,100, H:12,500
NU060 | OKA| FUK| 758 11,500 | 63% |+:12,100, H:12,500
NU062 | OKA| FUK| 758 10,900 | 65% |+:11,600, H:11,900
RRECAR)=8H FECRE)% | NUo21 | HND| MMY| 75H 24,200 62% H:26,200
oEE NU022 [ MMY [ HND| 75H 24,200 62% H:26,200
KR (BFE) =R KMR(BAFE)% | Nuos3 | KIX | ISG | 75H 17,700 68% | +:19.500. H:18,800
GIEH NU086 | ISG | KIX | 758 17,700 | 68% 18,400, H:19.600
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 75H 17,400 63%
ShEB(IREE | NU036 | OKA|KMQ| 75H 17,400 63%
BEE(PE) =R GREH) | RHEE (AR | NU043 | NGO| OKA| 75H 12,300 72% |4
NU045 [ NGO| OKA| 758 14,300 | 68% |4
NU047 [ NGO| OKA| 758 12,000 | 73% |4
NU049 [ NGO| OKA| 758 12,000 | 73% |A:13.900. £:17,500, + B:13,200
B (T K | NU042 [ oKA[NGo[ 75R 14500 | 67% |Xsk:13,000, A:13,200, +:13,400, H:15.600
NU044 | OKA| NGO| 758 18,100 | 59% |+ H:19,700
NU046 [ OKA[NGO| 75H 16,300 63% | k7K:14,800, Z:15,000, +:15,100. H:17.400
NU048 [ OKA[NGO| 75H 14,700 67% | k7K:13,300, Z:13,500, +:13,600. H:15.800
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 75H 16,600 58% | £:21,700, £:22,700
NU016 | OKA| OKJ| 758 16,600 | 58% |H:22,700
4B (R =F1E NU601 | OKA[ ISG | 75H 5.900 78% | kIKA:5,600
NU605 | OKA[ ISG | 75H 7.300 724 |&+H:7.600
NU607 | OKA[ ISG | 75H 5300 80%
NU609 | OKA[ ISG | 75H 5300 80%
NU617 | OKA[ ISG | 75H 5.900 78% | £:6.200
NU621 | OKA[ ISG | 75H 5300 80%
NU625 | OKA[ ISG | 75H 5,600 79% | H:5,900
aiER NU600 | ISG | OKA| 758 5.900 78% | kIKA:5,600
NU608 | ISG | OKA| 75H 5.900 78% | kIKA:5,600
NU610 | ISG | OKA| 758 5300 80%
NU612 | ISG | OKA| 75H 5300 80%
NU614 | ISG | OKA| 75H 5.900 78% | RIKAK:5.600
NU622 | ISG | OKA| 75H 7.600 71% | RIKA:7.300
NU626 | ISG | OKA| 75H 5.900 78% | KIKA:5.600
B RT)=EE B (B K | NUs51 [ OKA[MMY[ 758 6.900 66% | KIKAK:6.500
NU557 | OKA [ MMY| 758 6.900 66% | KIKAK:6.500
NU559 | OKA [ MMY| 758 6.900 66% | A kJK:6.500
NU563 | OKA [ MMY | 758 6.900 66% | A kJK:6,500
NU565 | OKA [ MMY | 758 5.800 T1% | RIKA:5.400
NU567 | OKA [ MMY| 758 5400 73% |&+H:5800
NU571 | OKA[MMY[ 758 5400 73% |&+H:5800
NU573 | OKA[MMY| 758 5400 73% |4
EET S NU552_| MMY | OKA| ™ 758 6.900 66% | ,
NU556 | MMY [ OKA| 758 6.900 66% | KIKAK:6.500
NU558 | MMY | OKA| 758 5.800 T1% | RIKA:5.400
NU560 | MMY | OKA| ™ 758 5.800 T1% | RIKA:5.400
NU562_| MMY | OKA| ™ 758 6.900 66% | kIKAK:6.500
NU564 | MMY | OKA| ™ 758 6.900 66% | kIKAK:6.500
NU566 | MMY [ OKA| 758 6.900 66% | kIKAK:6.500
NU572 | MMY | OKA| ™ 758 6500 68%
PRI =A%KE NU211 [ OKA| UEO| 758 5400 56%
NU212 [ UEO[ OKA] 758 4300 65%

JTA



TS5 RBIEER(11A24~30BEED)

SEREAE 2019/11/21 _~
11/24-30
] B4 2‘4"% f\!% FH _ VIVESRF
PN — W=
| #iziE "
KR (BAE) =50k (AR ER) KBz (BAFE) S | NU0O1 | KIX [ OKA| 75 15,900 59% |#1:18,000, H:13,000
NU005 | KIX | OKA[ 75 8,700 78%
NU009 | KIX | OKA[ 75 11,000 | 72% [+H:12.300
NU002 | KIX | OKA[ 75 11,000 | 72% [+H:12.300
NU004 | KIX | OKA[ 75 8,700 78%
NU008 | KIX | OKA| 75 15900 | 59% |#+:15700, H:18.400
WRECRR)=RE RECPIE)S | NUO71 | HND[ ISG | 75 23,200 66% | A 26,200, H:25,200
NUO73 | HND| ISG | 75 23200 | 66% |A: 24,200, + H:25,200
RiER NU070 [ ISG [ HND| 75 23,200 66% | A :25,200
NUO76 | ISG | HND| 75 23200 | 66% |H:24.200, + H:25.200
1BRE=h 4% (IRE) FHEES NUO51 [ FUK [ OKA[ 75 10,900 65% 11,900
NU053 | FUK | OKA[ 75 12,000 | 62% 12,500, B:11,500
NUO057 | FUK| OKA| 75 12,000 | 62% 112,500, H:11,900
NUO61 | FUK| OKA| 758 10,600 | 66% |+ H:11,600
NU063 | FUK| OKA| 758 10,600 | 66% 11,600
NUO065 | FUK| OKA| 758 10,600 | 66%
(R F | NUOSO | OKA| FUK| 758 10,600 66%
NU052 | OKA| FUK| 758 10,600 | 66%
NU054 | OKA| FUK| 758 11,200 | 64% |4
NU058 | OKA| FUK| 758 11,500 | 63% |+:12,100, H:12,500
NU060 | OKA| FUK| 758 11,500 | 63% |+:12,100, H:12,500
NU062 | OKA| FUK| 758 10,900 | 65% |+:11,600. H:11,900
RRECAR)=8H FECRE)% | NUo21 | HND| MMY| 75H 24,200 62%
oEE NU022 [ MMY [ HND| 75H 24,200 62%
KR (BFE) =R KBz (BAFE)S | NU0S3 | KIX [ ISG | 758 17,700 68%
RIEF NU08e [ ISG [ KIX | 75H 17,700 68%
MR=3EE GIRER) IMRFE NU037 [KMQ| OKA| 75H 17,400 63%
ShEB(IREE | NU036 | OKA|KMQ| 75H 17,400 63%
BEE(PE) =R GREH) | RHEE (AR | NU043 | NGO| OKA| 75H 14,200 68%
NU045 [ NGO| OKA| 758 16,400 | 63%
NU047 [ NGO| OKA| 758 13,900 | 68%
NU049 [ NGO| OKA| 758 13,900 | 68% H:13,200
B (T K | NU042 [ oKA[NGo[ 75R 13,200 | 70% |:14,500, #:14,700, +:13,400, H:15,600
NU044 [ OKA[NGO| 75H 18,100 59% | k7K:16,500, + H:19,700
NU046 | OKA| NGO| 758 15000 [ 66% |A:16.300, #:16,500, +:15,100, H:17.400
NU048 | OKA| NGO| 758 13500 [ 69% |A:14.700, #:14900, +:13,600, H:15800
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 75H 16,600 58% | KJK:14,400, %:23,400, £:24,500
NU016 | OKA| OKJ| 758 16,600 | 58% |kok:14,400, H:24500
4B (R =F1E NU601 | OKA[ ISG | 75H 5.900 78% | kIKA:5,600
NU605 | OKA[ ISG | 75H 7.300 724 |&+H:7.600
NU607 | OKA[ ISG | 75H 5300 80%
NU609 | OKA[ ISG | 75H 5300 80%
NU617 | OKA[ ISG | 75H 6.200 76% | A H:5.900
NU621 | OKA[ ISG | 75H 5300 80%
NU625 | OKA[ ISG | 75H 5,600 79% | H:5,900
aiER NU600 | ISG | OKA| 758 5.900 78% | kIKA:5.400
NU608 | ISG | OKA| 75H 5.900 78% | kIKA:5.400
NU610 | ISG | OKA| 758 5300 80%
NU612 | ISG | OKA| 75H 5300 80%
NU614 | ISG | OKA| 75H 5.900 78% | KIKAK:5.400
NU622 | ISG | OKA| 75H 7.600 71% | RIKA:7.300
NU626 | ISG | OKA| 75H 5.900 78% | KIKAK:5.400
B RT)=EE B (B K | NUs51 [ OKA[MMY[ 758 6.900 66% | KIKAK:6.500
NU557 | OKA [ MMY| 758 6.900 66% | KIKAK:6.500
NU559 | OKA [ MMY| 758 6.900 66% | A kJK:6.500
NU563 | OKA [ MMY | 758 6.900 66% | A kJK:6,500
NU565 | OKA [ MMY | 758 5.800 T1% | RIKA:5.400
NU567 | OKA [ MMY| 758 5400 73% |&+H:5800
NU571 | OKA[MMY[ 758 5400 73% |&+H:5800
NU573 | OKA[MMY| 758 5400 73% |4
EET S NU552_| MMY | OKA| ™ 758 6.900 66% | ,
NU556 | MMY [ OKA| 758 6.900 66% | KIKAK:6.500
NU558 | MMY | OKA| 758 5.800 T1% | RIKA:5.400
NU560 | MMY | OKA| ™ 758 5.800 T1% | RIKA:5.400
NU562_| MMY | OKA| ™ 758 6.900 66% | kIKAK:6.500
NU564 | MMY | OKA| ™ 758 6.900 66% | kIKAK:6.500
NU566 | MMY [ OKA| 758 6.900 66% | kIKAK:6.500
NU572 | MMY | OKA| ™ 758 6500 68%
PRI =A%KE NU211 [ OKA| UEO| 758 5400 56%
NU212 [ UEO[ OKA] 758 4300 65%

JTA



TSR GIERR(12A1~3BEES)

SEREAE 2019/11/21 _~
12/1-3
ES) B2 2‘4"% f\!% FH VIVESRF
T 2| AR [ . [E—0H =
T | s "

KR (BAE) =50k (AR ER) KBz (BAFE) S | NU0O1 | KIX [ OKA| 75 16,900 59% | A:15,900
NU005 | KIX | OKA[ 75 8,300 80%
NU009 | KIX | OKA[ 75 10500 | 75%
NU002 | KIX | OKA[ 75 10500 | 75%
NU004 | KIX | OKA[ 75 8,300 80%
NU008 | KIX | OKA| 75 15900 | 62%
WRECRR)=RE RECPIE)S | NUO71 | HND[ ISG | 75 22,200 68%
NUO73 | HND| ISG | 75 21,200 | 70%
wER NU070 | ISG [ HND| 75 21,200 | 70%
NUO76 | ISG | HND| 75 21,200 | 70%
1BRE=h 4% (IRE) FHEES NUO51 [ FUK [ OKA[ 75 10,600 69%
NU053 | FUK | OKA[ 75 11,700 | 65%
NUO057 | FUK| OKA| 75 10,600 | 69%
NUO61 | FUK| OKA| 758 10,100 | 70%
NU063 | FUK| OKA| 758 10,100 | 70%
NUO065 | FUK| OKA| 758 10,100 | 70%
(R F | NUOSO | OKA| FUK| 758 10,100 70%
NU052 | OKA| FUK| 758 10,100 | 70%
NU054 | OKA| FUK| 758 10,100 [ 70%
NU058 | OKA| FUK| 758 11,200 | 67%
NU060 | OKA| FUK| 758 11,200 | 67%
NU062 | OKA| FUK| 758 10,600 | 69%
RRECAR)=8H FECRE)% | NUo21 | HND| MMY| 75H 22,200 66%
Eh% NU022 [ MMY| HND| 758 22200 | 66%
KR (BFE) =R KMR(BAFE)% | Nuos3 | KIX | ISG | 75H 13,700 76%
RIEF NU08e [ ISG [ KIX | 75H 13,700 76%
MR=3EE GIRER) AT NU037 [KMQ| OKA| 75H 14,300 7%
ShEB(IREE | NU036 | OKA|KMQ| 75H 14,300 7%
BEE(PE) =R GREH) | RHEE (AR | NU043 | NGO| OKA| 75H 14,900 68%
NU045 [ NGO| OKA| 758 17,200 | 63%
NU047 [ NGO| OKA| 758 14,700 | 68%
NU049 [ NGO| OKA| 758 14,700 | 68%
h#B(ARE) % | NU042 | OKA|NGO| 75H 13,200 72%
NU044 | OKA| NGO| 758 17,400 | 63%
NU046 | OKA| NGO| 758 15000 | 68%
NU048 | OKA| NGO| 758 13,500 | 71%
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 75H 14,400 65%
NU016 | OKA| OKJ| 758 14,400 | 65%
4B (R =F1E NU601 | OKA[ ISG | 75H 6700 76%

NU605 | OKA[ ISG | 75H 7500 73% | A:7.800
NU607 | OKA[ ISG | 75H 5300 81%
NU609 | OKA[ ISG | 75H 5300 81%
NU617 | OKA[ ISG | 75H 6700 76%
NU621 | OKA[ ISG | 75H 5300 81%
NU625 | OKA[ ISG | 75H 6,000 78%
aiER NU600 | ISG | OKA| 758 5.800 79%
NU608 | ISG | OKA| 75H 5.800 79%
NU610 | ISG | OKA| 758 5300 81%
NU612 | ISG | OKA| 75H 5300 81%
NU614 | ISG | OKA| 75H 5.800 79%
NU622 | ISG | OKA| 75H 7500 73%
NU626 | ISG | OKA| 75H 6,000 78%
B RT)=EE B (B K | NUs51 [ OKA[MMY[ 758 6.900 68%
NU557 | OKA [ MMY| 758 6.900 68%

NU559 | OKA [ MMY| 758 6.900 68% |£:7.200

NU563 | OKA [ MMY | 758 6.900 68% | £:7.200
NU565 | OKA [ MMY | 758 6700 69%
NU567 | OKA [ MMY| 758 6700 69%
NU571 | OKA[MMY[ 758 6700 69%
NU573 | OKA[MMY| 758 6700 69%
EET S NU552_| MMY | OKA| ™ 758 6.900 68%
NU556 | MMY [ OKA| 758 6.900 68%
NU558 | MMY | OKA| 758 6700 69%
NU560 | MMY | OKA| ™ 758 6700 69%
NU562_| MMY | OKA| ™ 758 6.900 68%
NU564 | MMY | OKA| ™ 758 6.900 68%
NU566 | MMY [ OKA| 758 6.900 68%
NU572 | MMY | OKA| ™ 758 6.900 68%
PRI =A%KE NU211 [ OKA| UEO| 758 5400 58%
NU212 [ UEO[ OKA] 758 4300 67%

JTA



TS5 RBIEER(12A4~10BEES)

SEREAE 2019/11/21 _~
12/4-10
ES) B2 2‘4"% f\!% FH VIVESRF
T 2| AR [ . [E—0H =
T | s "
KR (BAE) =50k (AR ER) KBz (BAFE) S | NU0O1 | KIX [ OKA| 75 16,900 59% | A:15,900, £:18,000, +:19,000, H:14,100
NU005 | KIX | OKA[ 75 8,300 80%
NU009 | KIX | OKA[ 75 10,500 | 75% |£:13,200, £ H:11.300
NU002 | KIX | OKA[ 75 10,500 | 75% [+ H:11,300
NU004 | KIX | OKA[ 75 8,300 80%
NU008 | KIX | OKA| 75 15900 | 62% |#+:15700, H:18.400
WRECRR)=RE FHRCPE)F | NU071 [ HND| ISG | 75 22,200 68% | % H:23,200, F:24,200
NUO73 | HND| ISG | 75 21,200 | 70% |#:22,200, +H:23.200
BEH NU070 | ISG [ HND| 75 21,200 | 70% |+:23,200, B:22,200
NUO76 | ISG | HND| 75 21,200 | 70% 22,200, H:23,200
1BRE=h 4% (IRE) BE% NUO51 [ FUK [ OKA[ 75 10,600 69% B:11,700
NU053 | FUK | OKA[ 75 11,700 | 65% H:12,800
NUO057 | FUK| OKA| 75 10600 | 69% |+:11,500, H:11,200
NUO61 | FUK| OKA| 758 10,100 [ 70% 10,900
NU063 | FUK| OKA| 758 10,100 [ 70% 10,900
NUO065 | FUK| OKA| 758 10,100 [ 70% 10,900
(R F | NUOSO | OKA| FUK| 758 10,100 70% 10.900
NU052 | OKA| FUK| 758 10,100 | 70% 10,900
NU054 | OKA| FUK| 758 10,100 [ 70% 10,900
NU058 | OKA| FUK| 758 11,200 | 67% :12,300
NU060 | OKA| FUK| 758 11,200 | 67% 11,700, B:12,000
NU062 | OKA| FUK| 758 10,600 | 69% |+:11,200, H:11,500
RRECAR)=8H FECRE)% | NUo21 | HND| MMY| 75H 22,200 66% H:26,200
oEE NU022 [ MMY [ HND| 75H 22,200 66% H:26,200
KR (BFE) =R KMR(BAFE)% | Nuos3 | KIX | ISG | 75H 13,700 76% 12,600
GiE % NU086 | ISG | KIX | 758 13,700 | 76% |7:12.600
MR=3EE GIRER) AT NU037 [KMQ| OKA| 75H 14,300 7%
ShEB(IREE | NU036 | OKA|KMQ| 75H 14,300 7%
AEE(PE=EEE) | BEECPE) R | _NU043 [NGO| OKA| 75H 14,900 68% B:16,500
NU045 [ NGO| OKA| 758 17,200 | 63% H:18,900
NU047 [ NGO| OKA| 758 14,700 | 68% H:16,200
NU049 [ NGO| OKA| 758 14700 | 68% 17,500, + H:16.200
SRR (FRE) % | NUo42 | OKA[NGO[ 75 14,300 69% 7KA:13,200. +:13,500
NU044 | OKA| NGO| 758 17,400 | 63% |+ H:19,000
NU046 | OKA| NGO| 758 15000 | 68% |H£:16,500. £:15,200, H:17,600
NU048 [ OKA[NGO| 75H 14,600 69% | AUKA:13,500, £:13,700
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 75H 14,400 65%
NU016 | OKA| OKJ| 758 14,400 | 65%
4B (R =F1E NU601 | OKA[ ISG | 75H 7.000 75% | kIKA:6,700
NU605 | OKA[ ISG | 75H 7.800 72% | A KIK:7.500
NU607 | OKA[ ISG | 75H 5300 81%
NU609 | OKA[ ISG | 75H 5300 81%
NU617 | OKA[ ISG | 75H 7.000 75% | KAK:5,800, k:6.700
NU621 | OKA[ ISG | 75H 5300 81%
NU625 | OKA[ ISG | 75H 6,000 78% | £:6,200, £ H:6,300
aiER NU600 | ISG | OKA| 758 5.800 79%
NU608 | ISG | OKA| 75H 5.800 79%
NU610 | ISG | OKA| 758 5300 81%
NU612 | ISG | OKA| 75H 5300 81%
NU614 | ISG | OKA| 75H 5.800 79%
NU622 | ISG | OKA| 75H 7.800 72% | RIKA:7.500
NU626 | ISG | OKA| 75H 6.300 77% | RIKAK:6,000, £:6,200
B RT)=EE SPHE (W) % | NUS51 | OKA[MMY| 758 7.200 66% K
NU557 | OKA [ MMY| 758 7.200 66% X
NU559 | OKA [ MMY| 758 7.200 66%
NU563 | OKA [ MMY | 758 7.200 66%
NU565 | OKA [ MMY | 758 7.000 67%
NU567 | OKA [ MMY| 758 6700 69%
NU571 | OKA[MMY[ 758 6700 69%
NU573 | OKA[MMY| 758 6700 69%
EET S NU552_| MMY | OKA| ™ 758 7.200 66%
NU556 | MMY [ OKA| 758 7.200 66%
NU558 | MMY | OKA| 758 7.000 67%
NU560 | MMY | OKA| ™ 758 7.000 67%
NU562_| MMY | OKA| ™ 758 7.200 66%
NU564 | MMY | OKA| ™ 758 7.200 66%
NU566 | MMY [ OKA| 758 7.200 66%
NU572 | MMY | OKA| ™ 758 6.900 68%
PRI =A%KE NU211 [ OKA| UEO| 758 5400 58%
NU212 [ UEO[ OKA] 758 4300 67%

JTA



)%

FSEBEER(12A11~1TBEES)

SEREAE 2019/11/21 _~
12/11-17
ES) B2 2‘4"% f\!% FH ISR F
T 2| AR [ . [E—0H =
T | s "
KR (BAE) =50k (AR ER) KBz (BAFE) S | NU0O1 | KIX [ OKA| 75 18,000 57% | /:16.900, :X:17.900, :18,700, £:19,000, H:14,100
NU005 | KIX | OKA[ 75 8,300 80% | KIKA:8.700
NU009 | KIX | OKA[ 75 10,500 | 75% |£:13,200, £ H:11.300
NU002 | KIX | OKA[ 75 10,500 | 75% [+ H:11,300
NU004 | KIX | OKA| 75 8,300 80% | KIKA:8,70
NU008 | KIX | OKA| 75 15900 | 62% . £+£:15,700, H:18.400
WRECRR)=RE RECPIE)S | NUO71 | HND[ ISG | 75 22,200 68% :23,200
NUO73 | HND| ISG | 75 21,200 | 70% 22,200, £ H:23.200
wER NU070 | ISG [ HND| 75 21,200 | 70% :22,200
NUO76 | ISG | HND| 75 21,200 | 70% :23,200
1BRE=h 4% (IRE) BE% NUO51 [ FUK [ OKA[ 75 10,600 69% B:11,700
NU053 | FUK | OKA[ 75 11,700 | 65% |+ H:12.800
NUO057 | FUK| OKA| 75 10600 | 69% |A:10900, £:11,500, H:11,200
NUO61 | FUK| OKA| 758 10,100 | 70% [+:10,900
NU063 | FUK| OKA| 758 10,100 | 70% [+:10,900
NUO065 | FUK| OKA| 758 10,100 | 70% |+:10,900
(R F | NUOSO | OKA| FUK| 758 10,100 70% 10.900
NU052 | OKA| FUK| 758 10,100 | 70% 10,900
NU054 | OKA| FUK| 758 10,100 [ 70% 10,900
NU058 | OKA| FUK| 758 11,200 | 67% [+ H:12,300
NU060 | OKA| FUK| 758 11,200 | 67% |+:11,700, H:12,000
NU062 | OKA| FUK| 758 10,600 | 69% |+:11,200, H:11,500
RRECAR)=8H FECRE)% | NUo21 | HND| MMY| 75H 22,200 66% H:26,200
oEE NU022 [ MMY [ HND| 75H 22,200 66% |+ H:26,200
KR (BFE) =R KMR(BAFE)% | Nuos3 | KIX | ISG | 75H 17,400 70% 12,600, &+ H:13,700
GIEH NU086 | ISG | KIX | 758 16,000 [ 72% [A:12,600, &+ FH:13,700
MR=3EE GIRER) AT NU037 [KMQ| OKA| 75H 14,300 7%
ShEB(IREE | NU036 | OKA|KMQ| 75H 14,300 7%
AEE(PE=EEE) | BEECPE) R | _NU043 [NGO| OKA| 75H 14,900 68% B:16,500
NU045 [ NGO| OKA| 758 17,200 | 63% H:18,900
NU047 [ NGO| OKA| 758 14,700 | 68% H:16,200
NU049 [ NGO| OKA| 758 14700 | 68% 17,500, + H:16.200
SRR (FRE) % | NUo42 | OKA[NGO[ 75 14,300 69% 7KA:13,200. +:13,500
NU044 | OKA| NGO| 758 17,400 | 63% |+ H:19,000
NU046 | OKA| NGO| 758 15000 | 68% |H£:16,500. £:15,200, H:17,600
NU048 [ OKA[NGO| 75H 14,600 69% | AJKA:13,500, £:13,700
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 75H 14,400 65% | A:21,000
NU016 | OKA| OKJ| 758 14,400 | 65%
4B (R =F1E NU601 | OKA[ ISG | 75H 7.000 75% | KIKA:6,700. £:7.300
NU605 | OKA[ ISG | 75H 7.600 724 |&+H:7.900
NU607 | OKA[ ISG | 75H 6.900 75% | A:7.000
NU609 | OKA[ ISG | 75H 6.900 75% | A:7,000
NU617 | OKA[ ISG | 75H 7.000 75% | KIKA:6,700. £:7.300
NU621 | OKA[ ISG | 75H 6.900 75% | H:7.100. £:7,000
NU625 | OKA[ ISG | 75H 6,000 78% | £:6,200, £ H:6,300
aiER NU600 | ISG | OKA| 758 5.800 79%
NU608 | ISG | OKA| 75H 5.800 79%
NU610 | ISG | OKA| 758 6.900 75%
NU612 | ISG | OKA| 75H 6.900 75%
NU614 | ISG | OKA| 75H 5.800 79%
NU622 | ISG | OKA| 75H 7.600 72% | F:7,800, £+ H:7.900
NU626 | ISG | OKA| 75H 6.900 75% |£:7.100
B RT)=EE B (B K | NUs51 [ OKA[MMY[ 758 8,000 62% | kIKA:7,700
NU557 | OKA [ MMY| 758 8,000 62% | kIKA:7.700
NU559 | OKA [ MMY| 758 8,000 62% | A kIK:7.700
NU563 | OKA [ MMY | 758 8,000 62% | A kIK:7.700
NU565 | OKA [ MMY | 758 7.600 64% | kIKAK:7.300
NU567 | OKA [ MMY| 758 7.300 66% |&+H:7.600
NU571 | OKA[MMY[ 758 7.300 66% |&+H:7.600
NU573 | OKA[MMY| 758 7.300 66% |4
EET S NU552_| MMY | OKA| ™ 758 8,000 62% | .
NU556 | MMY [ OKA| 758 8,000 62% | KIKAK:7.700
NU558 | MMY | OKA| 758 7.600 64% | kIKAK:7.300
NU560 | MMY | OKA| ™ 758 7.600 64% | kIKAK:7.300
NU562_| MMY | OKA| ™ 758 8,000 62% | kIKA:7.700
NU564 | MMY | OKA| ™ 758 8,000 62% | kIKA:7.700
NU566 | MMY [ OKA| 758 8,000 62% | kIKA:7.700
NU572 | MMY | OKA| ™ 758 7.700 64%
PRI =A%KE NU211 [ OKA| UEO| 758 5400 58%
NU212 [ UEO[ OKA] 758 4,600 64%

JTA



TS %RBIEER(12A18~24BEED)

SEREAE 2019/11/21 _~
12/18-24
ES) B2 2‘4"% f\!% FH VILESRE
T 2| AR [ . [E—0H =
T | s "
KR (BAE) =50k (AR ER) KBz (BAFE) S | NU0O1 | KIX [ OKA| 75 18,000 57% | /:16.900, :X:17.900, :18,700, £:19,000, H:14,100
NU005 | KIX | OKA[ 75 8,300 80% | KIKA:8.700
NU009 | KIX | OKA[ 75 10,500 | 75% |£:13,200, £ H:11.300
NU002 | KIX | OKA[ 75 10,500 | 75% [+ H:11,300
NU004 | KIX | OKA| 75 8,300 80% | KIKA:8,70
NU008 | KIX | OKA| 75 15900 | 62% . £+£:15,700, H:18.400
WRECRR)=RE RECPIE)S | NUO71 | HND[ ISG | 75 22,200 68% :23,200
NUO73 | HND| ISG | 75 21,200 | 70% 22,200, £ H:23.200
wER NU070 | ISG [ HND| 75 21,200 | 70% :22,200
NUO76 | ISG | HND| 75 21,200 | 70% :23,200
1BRE=h 4% (IRE) BE% NUO51 [ FUK [ OKA[ 75 10,600 69% B:11,700
NU053 | FUK | OKA[ 75 11,700 | 65% |+ H:12.800
NUO057 | FUK| OKA| 75 10600 | 69% |A:10900, £:11,500, H:11,200
NUO61 | FUK| OKA| 758 10,100 | 70% [+:10,900
NU063 | FUK| OKA| 758 10,100 | 70% [+:10,900
NUO065 | FUK| OKA| 758 10,100 | 70% |+:10,900
(R F | NUOSO | OKA| FUK| 758 10,100 70% 10.900
NU052 | OKA| FUK| 758 10,100 | 70% 10,900
NU054 | OKA| FUK| 758 10,100 [ 70% 10,900
NU058 | OKA| FUK| 758 11,200 | 67% [+ H:12,300
NU060 | OKA| FUK| 758 11,200 | 67% |+:11,700, H:12,000
NU062 | OKA| FUK| 758 10,600 | 69% |+:11,200, H:11,500
RRECAR)=8H FECRE)% | NUo21 | HND| MMY| 75H 22,200 66% H:26,200
oEE NU022 [ MMY [ HND| 75H 22,200 66% |+ H:26,200
KR (BFE) =R KMR(BAFE)% | Nuos3 | KIX | ISG | 75H 17,400 70% 12,600, &+ H:13,700
GIEH NU086 | ISG | KIX | 758 16,000 [ 72% [A:12,600, &+ FH:13,700
MR=3EE GIRER) AT NU037 [KMQ| OKA| 75H 14,300 7%
ShEB(IREE | NU036 | OKA|KMQ| 75H 14,300 7%
AEE(PE=EEE) | BEECPE) R | _NU043 [NGO| OKA| 75H 14,900 68% B:16,500
NU045 [ NGO| OKA| 758 17,200 | 63% H:18,900
NU047 [ NGO| OKA| 758 14,700 | 68% H:16,200
NU049 [ NGO| OKA| 758 14700 | 68% 17,500, + H:16.200
SRR (FRE) % | NUo42 | OKA[NGO[ 75 14,300 69% 7KA:13,200. +:13,500
NU044 | OKA| NGO| 758 17,400 | 63% |+ H:19,000
NU046 | OKA| NGO| 758 15000 | 68% |H£:16,500. £:15,200, H:17,600
NU048 [ OKA[NGO| 75H 14,600 69% | AJKA:13,500, £:13,700
FEIL=3#8 GIRER) NUo11 [ OKJ[ OKA| 75H 14,400 65% | A:21,000
NU016 | OKA| OKJ| 758 14,400 | 65%
4B (R =F1E NU601 | OKA[ ISG | 75H 7.000 75% | KIKA:6,700. £:7.300
NU605 | OKA[ ISG | 75H 7.600 724 |&+H:7.900
NU607 | OKA[ ISG | 75H 6.900 75% | A:7.000
NU609 | OKA[ ISG | 75H 6.900 75% | A:7,000
NU617 | OKA[ ISG | 75H 7.000 75% | KIKA:6,700. £:7.300
NU621 | OKA[ ISG | 75H 6.900 75% | H:7.100. £:7,000
NU625 | OKA[ ISG | 75H 6,000 78% | £:6,200, £ H:6,300
aiER NU600 | ISG | OKA| 758 5.800 79%
NU608 | ISG | OKA| 75H 5.800 79%
NU610 | ISG | OKA| 758 6.900 75%
NU612 | ISG | OKA| 75H 6.900 75%
NU614 | ISG | OKA| 75H 5.800 79%
NU622 | ISG | OKA| 75H 7.600 72% | F:7,800, £+ H:7.900
NU626 | ISG | OKA| 75H 6.900 75% |£:7.100
B RT)=EE B (B K | NUs51 [ OKA[MMY[ 758 8,000 62% | kIKA:7,700
NU557 | OKA [ MMY| 758 8,000 62% | kIKA:7.700
NU559 | OKA [ MMY| 758 8,000 62% | A kIK:7.700
NU563 | OKA [ MMY | 758 8,000 62% | A kIK:7.700
NU565 | OKA [ MMY | 758 7.600 64% | kIKAK:7.300
NU567 | OKA [ MMY| 758 7.300 66% |&+H:7.600
NU571 | OKA[MMY[ 758 7.300 66% |&+H:7.600
NU573 | OKA[MMY| 758 7.300 66% |4
EET S NU552_| MMY | OKA| ™ 758 8,000 62% | .
NU556 | MMY [ OKA| 758 8,000 62% | KIKAK:7.700
NU558 | MMY | OKA| 758 7.600 64% | kIKAK:7.300
NU560 | MMY | OKA| ™ 758 7.600 64% | kIKAK:7.300
NU562_| MMY | OKA| ™ 758 8,000 62% | kIKA:7.700
NU564 | MMY | OKA| ™ 758 8,000 62% | kIKA:7.700
NU566 | MMY [ OKA| 758 8,000 62% | kIKA:7.700
NU572 | MMY | OKA| ™ 758 7.700 64%
PRI =A%KE NU211 [ OKA| UEO| 758 5400 58%
NU212 [ UEO[ OKA] 758 4,600 64%

JTA



IS5 RB I EER(10A30~31BEED)

SEREAE 2019/11/21 _~

10/30 10/31
ES) B2 9\5% ﬂi Eigﬂﬁ YIESRTE | DINES %G

=R EEE e

KR (BAE) =50k (AR ER) KBz (BAZE) S | NUOO1 | KIX [ OKA 17.900 23,800
NU005 | KIX | OKA 10,400 19,300

NU009 | KIX | OKA 17,100 13,300

NU002 | KIX | OKA 11,000 12,800

NU004 | KIX | OKA 8,700 9,700

NU008 | KIX | OKA 15,700 17,700

WRECRR)=RE RECFIE)$E | NUO71 | HND| ISG 24,200 27,100
NU073 | HND | ISG 24,200 25,200

BER NU070 | ISG | HND 23,200 23,200

NUO76 | ISG | HND 23,200 24,200

1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA 15,600 21,600
NU053 | FUK | OKA 17,000 21,600

NUO057 | FUK | OKA 17,000 20,100

NUO61_| FUK | OKA 13,500 14,600

NU063 | FUK | OKA 14,100 14,300

NUO065 | FUK | OKA 13,700 12,600

(R F [ NUOS0 | OKA| FUK 11,400 11,400

NUO052 | OKA| FUK 10,700 12,000

NUO054 | OKA| FUK 11,200 12,000

NUO058 | OKA| FUK 13,500 13,800

NU060 | OKA| FUK 14,000 12,500

NU062 | OKA| FUK 15,000 11,900

RRECAR)=8H RECRE)E | NU021 | HND | MMY 26,700 27,700
oEE NU022 [ MMY [ HND 26,700 26,700

KR (BFE) =R AMR(BAFE) % | NU083 | KIX | ISG 22,600 23,600
RIEF NU086 [ ISG [ KIX 17.700 17,700

MR=3EE GIRER) IMRFE NU037 [ KMQ| OKA 21,600 26,400
SPEBE(ARER) R | NU036 | OKA| KMQ 21,600 21,600
BEE(PE)=3EGRH) | HE(PED R | NU043 | NGO | OKA 13,500 33,100
NU045 | NGO | OKA 15,600 36,800

NU047 | NGO | OKA 13,200 29,500

NU049 | NGO | OKA 23,300 22,300

Fh#B(ARE) & | NU042 | OKA| NGO 14,500 13,400

NU044 | OKA| NGO 18,100 19,700

NU046 | OKA| NGO 16,300 15,100

NU048 | OKA| NGO 14,700 13,600

FEIL=3#8 GIRER) [EES NUO11 | OKJ [ OKA 22,300 29,200
#MOBTSE | NUO16 | OKA| OKJ 16.300 16,300

4B (R =F1E (B K | NUs0T | OKA| ISG 5,900 7,200
NU605 | OKA [ 1SG 7.600 8,200

NU607 | OKA[ 1SG 5,300 8,200

NU609 | OKA[ 1SG 5,300 8,200

NU617 | OKA[ 1SG 5,900 7,200

NU621 | OKA[ 1SG 5,300 7.100

NU625 | OKA [ 1SG 5,600 7.100

BEH NU600 | ISG | OKA 5,900 6,200

NU608 | 1SG | OKA 5,900 6,200

NU610 | 1SG | OKA 5,300 5,800

NU612 | ISG | OKA 5,300 5,800

NU614 | 1SG | OKA 5,900 6,200

NU622 | 1SG | OKA 7600 7500

NU626 | 1SG | OKA 5,900 6,200

B RT)=EE PHB (B K | NUS51 | OKA| MMY 8,100 8,100
NU557 | OKA | MMY' 8,100 8100

NU559 | OKA [ MMY' 8,100 8100

NU563 | OKA [ MMY' 8,100 8,100

NU565 | OKA | MMY' 6,700 5,800

NU567 | OKA [ MMY' 6,700 6,700

NU571 | OKA | MMY' 6,700 5,800

NU573 | OKA [ MMY' 6,700 5,800

EET S NU552 | MMY | OKA 8,100 8100

NU556_| MMY | OKA 8,100 8,100

NU558 | MMY | OKA 6,700 6,700

NU560 | MMY | OKA 6,700 6,700

NU562_| MMY | OKA 8,100 8100

NU564 | MMY | OKA 8,100 8100

NU566_| MMY | OKA 8,100 8100

NU572_| MMY | OKA 8,100 8100

PHE (I =AKRE NU211 [ OKA| UEO 5,800 5,800
NU212 | UEO[ OKA 5,600 4,900

JTA



TSR GIERER(1MA1~3BEED)

SEREAE 2019/11/21 _~
11/1 11/2 11/3
ES) B2 9\5% ﬂi Eigﬂﬁ YNSRI | DIESEE | IS EE
=R B e R
KR (BAE) =50k (AR ER) KBz (BAZE) S | NUOO1 | KIX [ OKA 19.800 15,900 16,200
NU005 | KIX | OKA 11,400 8,700 10,100
NU009 | KIX | OKA 12,300 11,000 11,400
NU002 | KIX | OKA 12,300 11,000 13,300
NU004 | KIX | OKA 9,700 14,100 21,100
NU008 | KIX | OKA 17,700 19,100 24,800
WRECRR)=RE RECFIE)$E | NUO71 | HND| ISG 24,200 24,200 23,200
NU073 | HND | ISG 23,200 23,200
BER NU070 | ISG | HND 23,200 24,200
NUO76 | ISG | HND 24,200 27,100
1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA 12,600 11,900
NU053 | FUK | OKA 13,700 12,500
NUO057 | FUK | OKA 14,800 12,500
NUO61_| FUK | OKA 11,300 10,600
NU063 | FUK | OKA 11,000 10,600
NUO065 | FUK | OKA 12,400 10,600
(R F [ NUOS0 | OKA| FUK 11,600 10,600
NUO052 | OKA| FUK 11,600 10,600
NUO054 | OKA| FUK 12,100 11,200
NUO058 | OKA| FUK 12,500 14,600
NU060 | OKA| FUK 12,500 14,600
NU062 | OKA| FUK 11,900 15,700
RRECAR)=8H RECRE)E | NU021 | HND | MMY 26,700 26,700
oEE NU022 [ MMY [ HND 26,700 27,700
KR (BFE) =R AMR(BAFE) % | NU083 | KIX | ISG 17,700 17,700
RIEF NU086 [ ISG [ KIX 17,700 20,600
MR=3EE GIRER) AT NU037 [ KMQ| OKA 26,400 17,400
SPEEGRE S | NUO36 | OKA | KMQ 21,600 17,400
BEE(PE)=3EGRH) | HE(PED R | NU043 | NGO | OKA 21,500 12,300
NU045 | NGO | OKA 32,600 14,300
NU047 | NGO | OKA 25,500 12,000
NU049 | NGO | OKA 19,300 12,000
Fh#B(ARE) & | NU042 | OKA| NGO 15,600 15,600
NU044 | OKA| NGO 19,700 32,600
NU046 | OKA| NGO 17,400 29,500
NU048 | OKA| NGO 15,800 25,500
FEIL=3#8 GIRER) [EES NUO11 | OKJ [ OKA 21,800 16,300
#MOBTSE | NUO16 | OKA| OKJ 22,300 21,800
4B (R =F1E (B K | NUs0T | OKA| ISG 7.200 5,900
NU605 | OKA [ 1SG 8,200 7.300
NU607 | OKA[ 1SG 8,200 5300
NU609 | OKA[ 1SG 8,200 5300
NU617 | OKA[ 1SG 7.200 5,900
NU621 | OKA[ 1SG 7.100 5300
NU625 | OKA [ 1SG 7.100 5,600
BEH NU600 | ISG | OKA 6,200 5,900
NU608 | 1SG | OKA 6,200 5,900
NU610 | 1SG | OKA 5,800 5300
NU612 | ISG | OKA 5,800 5300
NU614 | 1SG | OKA 6,200 5,900
NU622 | 1SG | OKA 7500 7,600
NU626 | 1SG | OKA 6,200 5,900
B RT)=EE PHB (B K | NUS51 | OKA| MMY 8,100 8,100
NU557 | OKA | MMY' 8,100 8100
NU559 | OKA [ MMY' 8,100 8,100
NU563 | OKA [ MMY' 8,100 8,100
NU565 | OKA | MMY' 6,700 6,700
NU567 | OKA [ MMY' 6,700 5,400
NU571 | OKA | MMY' 6,700 5,400
NU573 | OKA [ MMY' 6,700 5,400
EET S NU552 | MMY | OKA 8,100 6,900
NU556_| MMY | OKA 8,100 6,900
NU558 | MMY | OKA 6,700 5,800
NU560 | MMY | OKA 6,700 5,800
NU562_| MMY | OKA 8,100 8100
NU564 | MMY | OKA 8,100 6,900
NU566_| MMY | OKA 8,100 6,900
NU572_| MMY | OKA 8,100 6500
PHE (I =AKRE NU211 [ OKA| UEO 7,000 5400
NU212 | UEO[ OKA 4,900 4,300

JTA



TS5 RBIEER(11A20~23BEED)

SEREAE 2019/11/21 _~

11/20 11/21 11/22 11/23
] B4 ,ﬁ% ﬂi Eigﬂﬁ DIESEE | DNESER [ DIESEE | YIESRE

=R e R e R

KR (BAE) =50k (AR ER) KBz (BAZE) S | NUOO1 | KIX [ OKA 19,000 23,800 16,300 15,900
NU005 | KIX | OKA 9,700 17,800 8,200 8,700

NU009 | KIX | OKA 13,800 13,700 10,600 11,000

NU002 | KIX | OKA 11,000 12,300 12,300 13,100

NU004 | KIX | OKA 8,700 8,700 13,900 20,100

NU008 | KIX | OKA 15,700 15,700 18,800 24,900

WRECRR)=RE RECFIE)$E | NUO71 | HND| ISG 24,700 27,600 24,700 24,700
NU073 | HND | ISG 23,700 26,700 23,700 23,700

wER NU070 | ISG | HND 23,700 24,700 25,700 26,700

NUO76 | ISG | HND 25,700 25,700 26,700 27,600

1BRE=h 4% (IRE) FHEES NUO51 | FUK [ OKA 12,400 19.100 14,700 11,900
NU053 | FUK | OKA 13,500 19,100 14,700 12,500

NUO057 | FUK | OKA 13,500 18,600 14,000 12,500

NUO61_| FUK | OKA 10,600 14,500 11,600 10,600

NU063 | FUK | OKA — 13,500 11,600 10,600

NUO065 | FUK | OKA — 13,900 11,600 10,600

(R F [ NUOS0 | OKA| FUK 10,600 11,600 11,600 14,100

NUO052 | OKA| FUK 10,600 11,600 11,600 15,500

NUO054 | OKA| FUK 12,100 12,100 12,100 19,500

NUO058 | OKA| FUK 12,100 12,100 17,800 21,800

NU060 | OKA| FUK 12,100 12,100 17,800 21,800

NU062 | OKA| FUK 10,900 11,600 17,100 21,100

RRECAR)=8H FRCRHE)%E | NU021 | HND | MMY 26,700 27,700 26,700 24,700
oEE NU022 [ MMY [ HND 26,700 26,700 27,700 27,700

KR (BFE) =R AR (BSFE) % | NU083 | KIX | ISG 22,300 23,300 20,500 19,500
RIEF NU086 [ ISG [ KIX 17,700 17.700 17,700 23,300

MR=3EE GIRER) IMRFE NU037 [ KMQ| OKA 21,600 27,800 21,600 17.400
SPEEGRE S | NUO36 | OKA | KMQ 21,600 21,600 21,600 32,400

AEE(PE) =B EE) | BEE(PE)R [ _NU043 | NGO | OKA 14,900 32,600 13,500 13,500
NU045 | NGO | OKA 17,200 36,800 15,600 15,600

NU047 | NGO | OKA 14,700 29,500 13,200 13,200

NU049 | NGO | OKA 23,300 25,500 13,200 13,200

SPER(IRE S | _NU042 | OKA [ NGO 14,700 13.400 15,600 26,500

NU044 | OKA| NGO 18,100 19,700 27,500 37,800

NU046 | OKA| NGO 16,500 15,100 26,500 32,200

NU048 | OKA| NGO 14,900 13,600 21,300 23,300

FEIL=3#8 GIRER) [EE:S NUO11 | OKJ [ OKA 19,900 29,200 19,300 16.300
#MOBTSE | NUO16 | OKA| OKJ 16,300 16.300 19,900 29,200

4B (R =F1E (B K | NUs0T | OKA| ISG 5,900 7,200 7,200 6,500
NU605 | OKA [ 1SG 7,600 8,200 8,200 7500

NU607 | OKA[ 1SG 5300 8,200 8,200 7500

NU609 | OKA[ 1SG 5300 8,200 8,200 7500

NU617 | OKA[ 1SG 6,200 7.200 7,200 6,500

NU621 | OKA[ 1SG 5300 7.100 7.100 6400

NU625 | OKA [ 1SG 5,600 7.100 7.100 6400

BEH NU600 | ISG | OKA 5,900 6,200 6,700 6,700

NU608 | 1SG | OKA 5,900 6,200 6,700 6,700

NU610 | 1SG | OKA 5300 5,800 6,300 6,300

NU612 | ISG | OKA 5300 5,800 6,300 6,300

NU614 | 1SG | OKA 5,900 6,200 6,700 6,700

NU622 | 1SG | OKA 7,600 7500 8,000 8,000

NU626 | 1SG | OKA 5,900 6,200 6,700 6,700

B RT)=EE PHB (B K | NUS51 | OKA| MMY 8,100 8,100 6,900 8,100
NU557 | OKA | MMY' 8100 8,100 6,900 8,100

NU559 | OKA [ MMY' 8100 6.900 6,900 8,100

NU563 | OKA [ MMY' 8,100 8,100 6,900 8,100

NU565 | OKA | MMY' 6,700 6,700 5,800 6,700

NU567 | OKA [ MMY' 6,700 5,800 5,800 6,700

NU571 | OKA | MMY' 6,700 5,800 6,700 6,700

NU573 | OKA [ MMY' 6,700 5,800 5,800 6,700

EET S NU552 | MMY | OKA 8100 8,100 8100 6,900

NU556_| MMY | OKA 8,100 8,100 6,900 8,100

NU558 | MMY | OKA 6,700 6,700 6,700 6,700

NU560 | MMY | OKA 6,700 5,800 6,700 6,700

NU562_| MMY | OKA 8100 8,100 8100 8,100

NU564 | MMY | OKA 8100 6.900 8100 8,100

NU566_| MMY | OKA 8100 6.900 6,900 6.900

NU572_| MMY | OKA 8100 6.900 6,900 8,100

PRI =A%KE NU211 | OKA| UEO 5,800 5,800 5,800 7.000
NU212 | UEO[ OKA 6,400 6.400 4,900 4300

JTA
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07252911748
] we [HE|28 ﬂ»:mnc
= 7
% ERE wE g e
EL e RACB01 | OKA [ MMY 11.800 B K K:11,500 44% [ B k710,900
RAG804 | MMY | OKA S 811800 46% | & T H:11.200
FE-BE RAG833 | MMY| 1SG 11200 21%
Mmv] 156 11.200 21%
1SG | MY 11.200 21%
1SG | MY 11.200 21%
OKA| UEO 8000 374 500
OKA[ UEO 8000 374 900
OKA[ UEO 8000 374 900
OKA[ UEO 500 | 31% 8000 374 900
OKA[ UEO 500 | 31% 8000 374 900
OKA[ UEO 500 | 31% 8,000 374 500
AkE% | RACS72| UEO| OKA 500 | 31% 8,000 ars 900
UEO| OKA 500 | 31% 8000 374 900
UEO| OKA 500 | 31% 8000 374 900
UEO| OKA 500 | 31% 8000 374 900
UEO| OKA 500 | 31% 8000 374 900
UEO| OKA 500 | 31% 8000 374 900
OKA| RNJ 150 | 25%
RN [ OKA 150 | 25%
OKA| ASJ 050 | 25%
ASJ[ OKA 25%
ik (FLE) OKA 40% 19.700 [ 4t%
SEESE | RACT2 40% 19700 ] 41%




THEEI511/3/7 BER(11AI~19ABRS)

EHEEMB 2019/11/21 ~

17919
=M mg |HE|2E FWG{78 5170
= =8 [ T8 [anm w i s
I | WABR | 77 FHES
EL e RACB01 | OKA [ MMY &8 | 11800 B K K:11,500 44% [ B k710,900
RACB04 | MMY| OKA L] S 811800 46% | & T H:11.200
FE-BE RAC833 | MMY] 15G 3EEL | 11.200 21%
Mmv] 156 3EH_| 11.200 21%
1SG | MY 3EH_| 11.200 21%
1SG | MY 3EH_| 11.200 21%
OKA[ UEO 368 _| 8000 374 500
OKA| UEO 3E#_| 8000 374 900
OKA| UEO 3,500 | 3E#_| 8000 374 900
OKA[ UEO 3500 | 31% 368 _| 8000 374 900
OKA[ UEO 3500 | 314 3681|8000 374 900
OKA[ UEO 3500 | 315 3E#_| 8000 374 500
AkE% | RACS72| UEO| OKA 8,500 [ 31% 3B | 8000 37% 900
UEO| OKA 3500 | 31% 3681|8000 374 900
UEO| OKA 3500 | 31% 368 _| 8000 374 900
UEO| OKA 3500 | 31% 3E#_| 8000 374 900
UEO| OKA 3500 | 31% 3E#_| 8000 374 900
UEO| OKA 500 | 31% 3E#_| 8000 374 900
OKA| RNJ 150 | 25%
RN [ OKA 150 | 25%
OKA| ASJ 050 | 25%
ASJ[ OKA 25%
R (B R) 5 OKA 40% 3B [ 19700 [ 4i%
SEERE | RACT2 0% 3EE | 19700 | afs




THEEI511/3/7 5BER (11 A24~30BEERS)

EHEEMB 2019/11/21 ~

7172430
= @5 ég gg 5 ﬁﬁﬁﬁwu FWG{78 Wﬁ[ﬂnc
RE % R 7
AR ERE F5I= % ERE wE _ﬂE!é g e
G B RAG801 | OKA 700|408 11.800 A KK 1500 [11.200 AXAK10900
RACB04 | MMY 2,700 |_40% S+ H:11.800 [10.900 &£ H:11.200
BE-ER RAGC833 | MMY 1.700 | _18% 11200 [10.800
MY 1700 | _18% 11.200 [ 10,800
1SG 1700 | _18% 11.200 [ 10,800
1SG | MY 1700 | 184 11.200 [ 10,800
OKA| UEO 500 8000 7 500
OKA[ UEO 500 8000 I 900
OKA[ UEO 500 8000 I 900
OKA[ UEO 500 8000 [ 900
OKA[ UEO 500 8000 [ 900
OKA[ UEO 500 8,000 I 500
Ak&% [ RAce72| UEO] OKA 500 8,000 [ 7 900
UEO| OKA 500 8000 I 900
UEO| OKA 500 8000 I 900
UEO| OKA 500 8000 I 900
UEO| OKA 500 8000 I 900
UEO| OKA 500 | 8000 900
OKA 150 | 30%
RN 150 | 30%
OKA 050 | 284
ASJ[ OKA 050 |_28%
R (B R) 5 OKA 800 | 43% 19700 | 4d% 19.600 | 44%
5HMEE | RACT2A 800 | 434 19700 | 4% 19,600 | _a4%
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2713
wa ég zq_z ‘ ;;EWA - 7%&’}475 A ;%‘l:wc
E— B | @mm|E— =
BAH | i s mamm | T psix il B kel
RAGB01 | OKA | MMY 000 | 39% W | 12000 | aa% |A12:300 46%_[A:11.700
RACB04 | MMY| OKA 3000 |_39% #E | 12000 6%
RAC833 | MMY] 15G 200 [ _14% 3EE_| 11.800 184
Mmv] 156 200 |14 3EH_| 11.800 184
1SG | MY 200 |14 3EHT_| 11.800 184
1SG | MY 200 | 145 3EHT_| 11.800 184
OKA| UEO 9,100 | 294 3E#_| 9000 314
OKA[ UEO 9100 | 294 3E#_| 9000 314
OKA[ UEO 9100 | 294 3E#_| 9000 314
OKA[ UEO 9100 | 294 3E#_| 9000 314
OKA[ UEO 5100 | 294 3E#_| 9000 314
OKA[ UEO 9100 | 294 3E#_| 9000 314
AkE% | RACS72| UEO| OKA 9,100 [ 29% 3B [ 9000 31%
UEO| OKA 9100 | 294 3E#_| 9000 314
UEO| OKA 9100 | 294 368 _| 9000 314
UEO| OKA 9100 | 294 3E#_| 9000 314
UEO| OKA 9100 | 294 3E#_| 9000 314
UEO| OKA [o.100 [ 204 368 _| 9000 314
OKA| RNJ 350 | 23%
RN [ OKA 350 | 23%
OKA| ASJ 200 [ o
ASJ[ OKA 200 o
R (B R) 5 OKA 800 [ 4% 3B [ 20700 [ 4i%
SHEE | RACT2A 800 a1 3EET | 20700 41%
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27410
=h mg |HE|EE BIG7A FWG{78 5170
- ErTIR e ECE E—DH[ P E—7H[ W
— [ RS EIEES
EL e RACB01 | OKA [ MMY 000 | 39% B 7K:12,000 45% [ B k711,400
RACB04 | MMY| OKA 3000 |_39% $1 812300 46%_|&TH:11.700
BE-EH RAC833 | MMY [ ISG! 200 [ 14% 18%
Mmv] 156 200 |14 184
1SG | MY 200 |14 184
1SG | MY [12.200 [ 145 3EE | 11.800 8%
OKA| UEO [9.100 [ 20% 3EE | 9000 3%
OKA[ UEO 9100 | 294 3EE | 9000 3%
OKA[ UEO 9100 | 294 3EE | 9000 3%
OKA[ UEO 9100 | 294 3EE | 9000 3%
OKA[ UEO 5100 | 294 3EE | 9000 3%
OKA[ UEO 9100 | 294 3EE | 9000 3%
AkE% | RACS72| UEO| OKA 9,100 [ 29% 3B [ 9000 31%
UEO| OKA 9100 | 294 3EE | 9000 3%
UEO| OKA 9100 | 294 3EE | 9000 3%
UEO| OKA 9100 | 294 3EE | 9000 3%
UEO| OKA 9100 | 294 3EE | 9000 3%
UEO| OKA 100 | 29% 3EE | 9000 3%
OKA| RNJ 350 | 23%
RN [ OKA 350 | 23%
OKA| ASJ 200 [ o
ASJ[ OKA 200 o
R (B R) 5 OKA 800 [ 4% 3B [ 20700 [ 4i%
SEERE | RACT2 800 a1 3EEL | 20700 | ats
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12/11-17
] ma ég gg 1#_;[_&47»& ﬁ‘_&’}na @’l:wc
8 =5 £ €71 €51
mamm | FEH | i = MAME [EL il EA | iz kel
4 (FER) % | RACBO1 | OKA 800 35% L] 42% | A K7K:12,000 : 800 A kK:11.500
BER RACB04 | MMY 13,800 | 35% L] $1 812300 [11.500 & 1511800

HERE RAC833 | MMY 000 1% 3B | 13.800
RAC837 | MMY 000 1% 3B | 13.800
BiER RAC834 | ISG 000 1% 3B | 13.800
RACB38| ISG 1,000 | 1% 3B AT 3,800 |

8 () 5 | RACBT1 | OKA 800 |16 3EE [Tf0.100 [ 22%

RAG873 | OKA 800 | _16% 3EE [ 0100 [ 22%

RAG875 | OKA 800 | _16% 3EEL [ 0100 [ 22%

RAG879 | OKA 800 | _16% 3EE [f0.100 [ 22%

RAG881 | OKA 800 | _16% 3EE [ 0100 [ 22%

RACB83 | OKA 800 |_16% [T0.100 [ 228

k&% | RACSI2[ UEO 0,800 [ 16% [ 10.100 [ 22%

RACB74 | UEO 800 |_16% [To.100 [ 225

RACB76 | UEO 800 |_16% [ 0100 [ 228

RACB80 | UEO 800 |_16% [T0.100 [ 228

RACB82| UEO 800 |_16% [T0.100 [ 225

RAC884 | UEO 0800 | 16% 100 22%

R GBI =518 RAC815| OKA 850 | 154 —

RAC816 | RNJ 850 15% —

RAC853 | OKA 150 15% —
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AKRES 286 400 35% 7400 43% 87,7
288 400 | 35% 7400 | 43% [®EBTI
288 400 | 35% 7400 | 43% [REEIN
288 400 | 35% 7400 | 43% [®EEI
288 400 | 35% 7400 | 43% [®EEI
288 600 | 49% 900 54% |t B:6,501
PR OBER) =5 hiE (RER) 2 286 700 44% 600 45%
5@ 288 700 | 44% 600 | 45%
SR ORER)-BXRE | HRGRER) % 286 16,000 43% 800 43%
BEIAER 286 16,000 43% 800 43%
EIC R # (3%) % | RAC721 | OKA| OGN| 288 19300 | 45% 900 | 46%
5IES | RACT24| OGN| OKA| 288 19300 | 45% 900 | 46%

RAC



T%BEI5 NBER(12818~24ARES)

BEEAE 2019/11/21 _~
12/18-24 -
HEe | B ER/ITA 4478
=40 B2
=E| 2B FH E—58 T 4 E—58
g | T | g il masm | TR | ya il
R BE) == E # (HE) 3t | RACBO1 | OKA[ MMY| 28E 300 | 52% | A koK:10,000 9,700 54% | kokA:9.400
BER RAC804 | MMY[ OKA| 288 000 | 53% | &+ H:10,300 400 56% |+ 09,700
BE-EE B&% | RACS33 | MMY| ISG | 28H 300 7 100 | 29%
RAC837 | MMY| ISG | 28H 300 7 100 | 29%
HIEX | RACS34| ISG | MMY| 28H 300 7 100 | 29%
RAC838 | ISG | MMY| 28H 300 7 100 | 29%
EROBE) =AKE RAC! OKA[ UEO| 288 ,600 49% 5900 54% £ B:6.500
RAC873 | OKA| UEO| 28H 400 | 35% 7400 | 43% [REBTI
RAC875 | OKA| UEO| 28H 400 | 35% 7400 | 43% [®EBTI
RAC879 | OKA| UEO| 28H 400 | 35% 7400 | 43% [®EBTI
| RAC881 | OKA| UEO| 2881 400 | 35% 7400 | 43% [REBTI
RAC883 | OKA| UEO| 28H 600 | 49% 5,900 54% |t B:6,501
AKRES 286 400 35% 7400 43% 87,7
288 400 | 35% 7400 | 43% [®EBTI
288 400 | 35% 7400 | 43% [REEIN
288 400 | 35% 7400 | 43% [®EEI
288 400 | 35% 7400 | 43% [®EEI
288 600 | 49% 900 54% |t B:6,501
PR OBER) =5 hiE (RER) 2 286 700 44% 600 45%
5@ 288 700 | 44% 600 | 45%
SR ORER)-BXRE | HRGRER) % 286 16,000 43% 800 43%
BEIAER 286 16,000 43% 800 43%
EIC R # (3%) % | RAC721 | OKA| OGN| 288 19300 | 45% 900 | 46%
5IES | RACT24| OGN| OKA| 288 19300 | 45% 900 | 46%

RAC



[EBE5 1 ESER (10830~31 B ES)

EEHEAR 2019/11/21  ~
PN P 70/30 10/31

- ss |ux|oE TN R | 3y A] o570 | AT A] EHHTE

T | e | EFE | @Ea | wmE | SEa

(BB =B h#8 (FRER) 5 | RAC801 | OKA| MMY[ 28 45 B Rl 9,900 9,500 9,900 9,500

FEE RAC804 [ MMY| OKA| 28 45 B Rl 9,900 9,500 9,900 9,500

BE-EG BER RAC833 | MMY| IsG | 28 4581 | 10300 10,100 10,800 10,600
RAC837 [ MMY| IsG | 28 45681 | 10,300 10,100 10,800
wER RAC834 | ISG [ MMY| 28 45681 | 10,300 10,100 10,800
RAC838 | ISG [ MMY| 28 45681 | 10,300 10,100 10,800
SPEGRE)=AXE | 4B K [ RACSTI | OKA| UEO| 28 45 B Rl 6,900 6,500 7,300
RAC873 | OKA[ UEO| 28 45E T 7.800 7,700 8,300
RAC875 | OKA[ UEO| 28 45E T 7.800 7,700 8,300
RAC879 | OKA[ UEO| 28 45E T 7.800 7,700 7.800
RAC881 | OKA[ UEO| 28 45E T 7.800 7,700 7.800
RAC883 | OKA[ UEO| 28 45E T 7.300 6,700 6,900
AKRBH RAC872 [ UEO| OKA| 28 45 B8l 8,300 8,100 8,300
RAC874 | UEO| OKA| 28R 45881 7,800 7,700 8,300
RAC876 | UEO| OKA| 28R 45881 7,800 7,700 8,300
RAC880 | UEO| OKA| 28R 45881 7,800 7,700 8,300
RAC882 | UEO| OKA| 28R 45881 7,800 7,700 7,800
RAC884 | UEO| OKA| 28R 45E T 6,900 6,500 6,900
R (RER) =5 4 (FBE) % | RAC815 | OKA| RNJ| 28H 45 B8l 9,900 9,800 11,150
i RAC816 | RNJ| OKA| 28R 45881 9,900 9,800 11,150
R (RE)=EEKRS | PHEIBE) 5 | RACSS3 | OKA| ASJ| 28H 45 B8l 16,200 16.000 19,000
HEKREHK [ RACS54| ASJ[ OKA| 28H 45 B8l 16,200 16.000 19,000
SHEE(IRE) =53BE | A4 GRE) K | RACT21 | OKA| OGN| 28H 45 B8l 18,800 18,400 19,500
538E% | RAC724 | OGN[ OKA| 28R 45881 | 18,800 18,400 19,500

RAC



MEFE5 1EER(1MA1~3BEES)

EEHEAR 2019/11/21  ~
PR AP /1 1172 11/3

=R B4 ;‘ig% fgﬁ el Taialad FABIMTA| k18547 B| K£184MTA| 18547 B[ k18517 A| %8417
T e | e | EFS | EEE | wRE | SRE | SRS | SRS

(BB =B h#8 (FRER) 5 | RAC801 | OKA| MMY[ 28 45 B Rl 9,900 9,500 9,900 9,500 9,900 9,500
TS RAC804 [ MMY| OKA| 28 45E T 9,900 9,500 9,000 8,000 9,000 8,000

RiE=EH BEER RAC833 [ MMY| 1SG | 28 45 B Rl 10,800 10.600 10,300 10.100 10,800 10,600
RAC837 [ MMY| IsG | 28 456081 | 10,800 10,600 10,300 10100 | 10,800 | 10,600

wER RAC834 [ 1SG [MMY| 28 45681 | 10,800 10,600 10,300 10100 | 10,800 | 10,600

RAC838 | ISG [ MMY| 28 456081 | 10,800 10,600 10,300 10100 | 10,800 | 10,600

SPEGRE)=AXE | 4B K [ RACSTI | OKA| UEO| 28 45 B Rl 7,300 6,700 6,600 5,900 6,600 5,900
RAC873 | OKA[ UEO| 28 45E T 7.800 7,700 8,300 8,100 7,700 7,400

RAC875 | OKA[ UEO| 28 45E T 8,300 8,100 8,300 8,100 7,700 7,400

RAC879 | OKA[ UEO| 28 45E T 7.800 7,700 8,300 8,100 8,300 8,100

RAC881 | OKA[ UEO| 28 45E T 7.800 7,700 8,300 8,100 8,300 8,100

RAC883 | OKA[ UEO| 28 45E T 6,900 6,500 7,300 6,700 7,300 6,700

AKRBH RAC872 [ UEO| OKA| 28 45 B8l 8,300 8,100 8,300 8,100 7,700 7,400

RAC874 | UEO| OKA 45E T 8,300 8,100 7,700 7,400 8,300 8,100

RAC876 | UEO| OKA 45E T 8,300 8,100 8,300 8,100 8,300 8,100

RAC880 | UEO| OKA 45E T 8,300 8,100 7,700 7,400 8,300 8,100

RAC882 | UEO| OKA 45E T 7,800 7,700 7,700 7,400 7,700 7,400

RAC884 | UEO| OKA 45E T 6,900 6,500 6,600 5,900 6,600 5,900

R (RER) =5 48 (FRE) 5 | RACB15 | OKA| RNJ 45 B8l 11,150 11,000 9,700 9,600 11,150 11,000
i RAC816 | RNJ| OKA 45EET | 11150 11,000 9,700 9,600 11,150 | 11,000

B RE) -EXXRE | P#B(FNF) % | RAC53 | OKA[ ASJ 45 B8l 19,000 18,700 16,000 15,800 19,000 18,700
BEABR | RAC854 | ASJ| OKA 45EET | 19,000 18,700 16,000 15800 | 19,000 | 18,700

SR (RER) =5E | M8 GIRE) K | RACT21 [ OKA[ OGN 45 B8l 19,500 19.400 18,800 18,400 19,500 19.400
53E% | RAC724 | OGN[ OKA 45EET | 19,500 19,400 18,800 18400 | 19500 | 19,400

RAC



TEBE5 EER (11H20~2381B %)

EEHEAR 2019/11/21  ~
PR AP 11/20 11721 11/22 11/23

=R B4 ,,%% fgﬁ el Taialad FABITA| 18547 B| 18T A| 18547 B[ k1857 A| %£18417 B| £ 1BIMT A %£18517B
e | e | TRE | ERE | ERE | SRa | SR | SRE | SRE | 8RS

(BB =B h#8 (FRER) 5 | RAC801 | OKA| MMY[ 28 45 B Rl 9,900 9,500 9,900 9,500 9,900 9,500 9,900 9,500
TS RAC804 | MMY[ OKA| 28 45E T 9,300 8,300 9,300 8,300 9,300 8,300 9,000 8,000

RiE=EH BEER RAC833 [ MMY| 1SG | 28 45 B Rl 10,300 10.100 10,800 10.600 10.800 10,600 10,800 | 10,600
RAC837 [ MMY| IsG | 28 45681 | 10,300 10,100 10,800 10600 | 10800 | 10,600 | 10,800 | 10,600

wER RAC834 [ 1SG [MMY| 28 45681 | 10,300 10,100 10,800 10600 | 10800 | 10,600 | 10,800 | 10,600

RAC838 | ISG [ MMY| 28 45681 | 10,300 10,100 10,800 10600 | 10800 | 10,600 | 10,800 | 10,600

SPEGRE)=AXE | 4B K [ RACSTI | OKA| UEO| 28 45 B Rl 6,900 6,500 6,900 6,500 7,300 6,700 7,300 6,700
RAC873 | OKA[ UEO| 28 45E T 8,300 8,100 8,300 8,100 8,300 8,100 8,300 8,100

RAC875 | OKA[ UEO| 28 45E T 8,300 8,100 8,300 8,100 8,300 8,100 8,300 8,100

RAC879 | OKA[ UEO| 28 45E T 7.800 7,700 7.800 7,700 7.800 7,700 8,300 8,100

RAC881 | OKA[ UEO| 28 45E T 7.800 7,700 7.800 7,700 7.800 7,700 8,300 8,100

RAC883 | OKA[ UEO| 28 45E T 6,900 6,500 6,900 6,500 6,900 6,500 7,300 6,700

AkB% | RAC872| UEO| OKA[ 28 45E181 8,300 8,100 7,800 7,700 8,300 8,100 7,700 7,400

RAC874 | UEO| OKA 45E T 8,300 8,100 8,300 8,100 7,800 7,700 7,700 7,400

RAC876 | UEO| OKA 45E T 8,300 8,100 8,300 8,100 8,300 8,100 8,300 8,100

RAC880 | UEO| OKA 45E T 8,300 8,100 8,300 8,100 8,300 8,100 7,700 7,400

RAC882 | UEO| OKA 45E T 8,300 8,100 7,800 7,700 7,800 7,700 8,300 8,100

RAC884 | UEO| OKA 45881 7,300 6,700 6,900 6,500 6,900 6,500 7,300 6,700

R (RER) =5 48 (FRE) 5 | RACB15 | OKA| RNJ 45 B8l 9,900 9,800 11,150 11,000 11,150 11,000 11,150 | 11,000
i RAC816 | RNJ| OKA 45881 9,900 9,800 11,150 11,000 | 11,150 | 11,000 | 11,150 | 11,000

B RE) -EXXRE | P#B(FNF) % | RAC53 | OKA[ ASJ 45 B8l 16,200 16.000 19,000 18,700 19,000 18,700 19,000 | 18,700
BEABR | RAC854 | ASJ| OKA 45EET | 16,200 16,000 19,000 18,700 | 19,000 | 18,700 | 19,000 | 18,700

SPEE(IRE)=53E | H#EGRE) K | RACT21 | OKA| OGN 45 B8l 18,800 18,400 19,500 19.400 19,500 19.400 19,500 | 19,400
53E% | RAC724 | OGN[ OKA 45881 | 18,800 18,400 19,500 19400 | 19,500 | 19400 | 19,500 | 19,400

RAC



[R—IR—%BEER(10A25~11 A8HEES)

SEREAE 2019/11/21 ~
10/25-29,11/4-8
HE|EE| FH A—"—%H
=] gy | L2 —
L =l LS L — g;g e
B -EE 4l (FRE) % | RACS0T | OKA[ MMY[ 55E 81 8,000 61% | A Kk:7.600
EER RAC804 | MMY | OKA[ 55 B Al 7,600 62% | %+ H:8,000
BE-EE EEE RAC833 | MMY| ISG | 55EAT | 10,000 26%
RAC837 | MMY| ISG | 55HET | 10000 | 26%
RiER RAC834 | ISG | MMY| 55H & 10.000 26%
RAC838| ISG | MMY| 55HET | 10000 | 26%
PR =A XS 4 () % | RAC871 | OKA| UEO| 55E 81 5,400 56% |4
RAC873 | OKA| UEO| 55HAT | 6.400 48% |3
RAC875 | OKA| UEO| 55HAT | 6.400 48% |3
RAC879 | OKA| UEO| 55HRT | 6.400 48% |3
RAC881| OKA| UEO| 55HAT | 6.400 48% |3
RAC883 | OKA| UEO| 55E&ff 5,400 56% |4
AkBF | RAC872| UEO| OKA| 55HAT | 6400 48% |3
RAC874| UEO | OKA| 55HET | 6,400 48% |3
RAC876 | UEO | OKA| 55HET | 6,400 48% |4
RAC880 | UEO | OKA| 55HET | 6,400 48% |3
RAC882 | UEO | OKA| 55HET | 6,400 48% |3
RAC884 | UEO | OKA| 55HET | 5400 56% |4
SHR ) =53 ¥ (IB®) 5 | RAC815| OKA| RNJ| 55HET | 9,200 43% |3
5% RAC816 | RNJ | OKA| 55HET | 9,200 43% |3
(BB -BEAS | AEFH R | RACSS3 | OKA| ASJ| 55HET | 15200 | 43% |4
BWEKBR | RAC854| ASJ| OKA| 55HET | 15200 | 43% |4
(BB -5HE | AHEGET R | RACT21 | OKA| OGN| 55HET | 18000 | 46%
E#MER | RACT24| OGN| OKA| 55HHT | 18000 | 46%




[R—N—%FIEEXRN1AI~19BEED)

SEREAE 2019/11/21 ~
11/9-19
HE|EE| FH A—"—%H
=] gy | L2 —
L =l LS L — g;g e
B -EE 4l (FRE) % | RACS0T | OKA[ MMY[ 55E 81 8,000 61% | A Kk:7.600
EER RAC804 | MMY | OKA[ 55 B Al 7,600 62% | %+ H:8,000
BE-EE EEE RAC833 | MMY| ISG | 55EAT | 10,000 26%
RAC837 | MMY| ISG | 55HET | 10000 | 26%
RiER RAC834 | ISG | MMY| 55H & 10.000 26%
RAC838| ISG | MMY| 55HET | 10000 | 26%
PR =A XS 4 () % | RAC871 | OKA| UEO| 55E 81 5,400 56% |4
RAC873 | OKA| UEO| 55HAT | 6.400 48% |3
RAC875 | OKA| UEO| 55HAT | 6.400 48% |3
RAC879 | OKA| UEO| 55HRT | 6.400 48% |3
RAC881| OKA| UEO| 55HAT | 6.400 48% |3
RAC883 | OKA| UEO| 55E&ff 5,400 56% |4
AkBF | RAC872| UEO| OKA| 55HAT | 6400 48% |3
RAC874| UEO | OKA| 55HET | 6,400 48% |3
RAC876 | UEO | OKA| 55HET | 6,400 48% |4
RAC880 | UEO | OKA| 55HET | 6,400 48% |3
RAC882 | UEO | OKA| 55HET | 6,400 48% |3
RAC884 | UEO | OKA| 55HET | 5400 56%
SHR ) =53 ¥ (IB®) 5% | RAC815| OKA| RNJ| 55HET | 9400 42%
5% RAC816 | RNJ | OKA| 55HET | 9400 42% | A
R (RE) =EEKRS | PHEIRH) S | RACSS3 | OKA| AsJ| S55BE] 15,400 42% | A
| | #®EXB% |RAC854| ASJ|OKA| S55HAI 15,400 42% | A
(BB -5HE | AHEGET R | RACT21 | OKA| OGN| 55HET | 18000 | 46%
E#MER | RACT24| OGN| OKA| 55HHT | 18000 | 46%




[R—/IR—%BHEEXR(11A24~30BEES)

SEREAE 2019/11/21 ~
11/24-30
HE|EE| FH A—"—%H
=] gy | L2 —
L =l LS L — g;g e
B -EE 4l (FRE) % | RACS0T | OKA[ MMY[ 55E 81 8,000 61% | A Kk:7.600
EER RAC804 | MMY | OKA[ 55 B Al 7,600 62% | %+ H:8,000
BE-EE EEE RAC833 | MMY| ISG | 55EAT | 10,000 26%
RAC837 | MMY| ISG | 55HET | 10000 | 26%
RiER RAC834 | ISG | MMY| 55H & 10.000 26%
RAC838| ISG | MMY| 55HET | 10000 | 26%
PR =A XS 4 () % | RAC871 | OKA| UEO| 55E 81 5,400 56% |4
RAC873 | OKA| UEO| 55HAT | 6.400 48% |3
RAC875 | OKA| UEO| 55HAT | 6.400 48% |3
RAC879 | OKA| UEO| 55HRT | 6.400 48% |3
RAC881| OKA| UEO| 55HAT | 6.400 48% |3
RAC883 | OKA| UEO| 55E&ff 5,400 56% |4
AkBF | RAC872| UEO| OKA| 55HAT | 6400 48% |3
RAC874| UEO | OKA| 55HET | 6,400 48% |3
RAC876 | UEO | OKA| 55HET | 6,400 48% |4
RAC880 | UEO | OKA| 55HET | 6,400 48% |3
RAC882 | UEO | OKA| 55HET | 6,400 48% |3
RAC884 | UEO | OKA| 55HET | 5400 56%
SHR ) =53 ¥ (IB®) 5% | RAC815| OKA| RNJ| 55HET | 9400 42%
5% RAC816 | RNJ | OKA| 55HET | 9400 42% | A
R (RE) =EEKRS | PHEIRH) S | RACSS3 | OKA| AsJ| S55BE] 15,400 42% | A
| | #®EXB% |RAC854| ASJ|OKA| S55HAI 15,400 42% | A
(BB -5HE | AHEGET R | RACT21 | OKA| OGN| 55HET | 18000 | 46%
E#MER | RACT24| OGN| OKA| 55HHT | 18000 | 46%




[R—N—%FIEEXR(12A1~3BABESD)

SEREAE - 2019/11/21 ~
12/1-3
HE|EE| FH A—"—%H
=48] B2 | 5 g
i | = | AR EEE éu—a?g s

B -EE 4l (FRE) % | RACS0T | OKA[ MMY[ 55E 81 8,200 62% | K:8,500
EER RAC804 | MMY | OKA[ 55 B Al 8,200 62%
BE-EE BER RAC833 | MMY| ISG | 55E T | 10,000 30%
RAC837 | MMY| ISG | 55HET | 10000 | 30%
RiER RAC834 | ISG | MMY| 55H & 10.000 30%
RAC838| ISG | MMY| 55HET | 10000 | 30%
PERE) =AKE | (IR K | RACSTI | OKA| UEO| S55B 8] 5,400 58%
RAC873 | OKA| UEO| 55HAT | 6.400 50%
RAC875 | OKA| UEO| 55HAT | 6.400 50%
RAC879 | OKA| UEO| 55HRT | 6.400 50%
RAC881| OKA| UEO| 55HAT | 6.400 50%
RAC883 | OKA| UEO| 55E&ff 5,400 58%
AkBF | RAC872| UEO| OKA| 55HAT | 6400 50%
RAC874| UEO | OKA| 55HET | 6,400 50%
RAC876 | UEO | OKA| 55HET | 6,400 50%
RAC880 | UEO | OKA| 55HET | 6,400 50%
RAC882 | UEO | OKA| 55HET | 6,400 50%
RAC884 | UEO | OKA| 55HET | 5400 58%
SHR ) =53 ¥ (IB®) 5% | RAC815| OKA| RNJ| 55HET | 9400 46%
5% RAC816 | RNJ | OKA| 55HET | 9400 46%
(BB -BEAS | A@EH R | RACSS3 | OKA| ASJ| 55HET | 15400 | 45%
BEKRBH | RAC854| ASJ| OKA| 55HET | 15400 | 45%
(BB -5HE | HEGET R | RACT21 | OKA| OGN| 55HET | 18000 | 49%
E#MER | RACT24| OGN[ OKA| 55EHT | 18000 | 49%




TR—N—%FGIEEXR(12A4~10BEFED)

SEREAE 2019/11/21 ~
12/4-10
HE|EE| FH A—1\—%fF
R BE | | zm | mAmm e oy
LEES "
R -EE 4l (FRE) % | RACS0T | OKA[ MMY[ 55E 81 8,500 60% | A 4K:8,200
EER RAC804 | MMY | OKA[ 55 B Al 8,200 62% |+ H:8.500
BE-EE BER RAC833 | MMY| ISG | 55E T | 10,000 30%
RAC837 | MMY| ISG | 55HET | 10000 | 30%
"ER RAC834 | ISG | MMY| 55H & 10.000 30%
RAC838| ISG | MMY| 55HET | 10000 | 30%
PERE) =AKE | (IR K | RACSTI | OKA| UEO| S55B 8] 5,400 58% |4
RAC873 | OKA| UEO| 55HAT | 6.400 50% |4
RAC875 | OKA| UEO| 55HAT | 6.400 50% |4
RAC879 | OKA| UEO| 55HRT | 6.400 50% |4
RAC881| OKA| UEO| 55HAT | 6.400 50% |4
RAC883 | OKA| UEO| 55E&ff 5,400 58% |4
AkBF | RAC872| UEO| OKA| 55HAT | 6400 50% |4
RAC874| UEO | OKA| 55HET | 6,400 50% |4
RAC876 | UEO | OKA| 55HET | 6,400 50% |4
RAC880 | UEO | OKA| 55HET | 6,400 50% |4
RAC882 | UEO | OKA| 55HET | 6,400 50% |4
RAC884 | UEO | OKA| 55HAT 5,400 58% |4
SHR ) =53 ¥ (IB®) 5% | RAC815| OKA| RNJ| 55HET | 9400 46% |4
5% RAC816 | RNJ | OKA| 55HET | 9400 46% |4
(BB -BEAS | AEFRH R | RACSS3 | OKA| ASJ| 55HET | 15400 | 45% |4
BWEKBR | RAC854| ASJ| OKA| 55HET | 15400 | 45% |4
(BB -5HE | HEGET R | RACT21 | OKA| OGN| 55HET | 18000 | 49%
E#MER | RACT24| OGN[ OKA| 55EHT | 18000 | 49%




[ZR—I—%BHEEXR(12AN~1TEEES)

SEREAE 2019/11/21 ~
12/11-17
HE|EE| FH A—"—%H
=] gy | L2
L =l LS L — éu—all;g e
B -EE 4l (FRE) % | RACS0T | OKA[ MMY[ 55E 81 9,100 57% | A K7k:8.800
EER RAC804 | MMY | OKA[ 55 B Al 8,800 59% |£+H:9,100
BE-EE BER RAC833 | MMY| ISG | 55E T | 10,000 30%
RAC837 | MMY| ISG | 55HET | 10000 | 30%
RiER RAC834 | ISG | MMY| 55H & 10.000 30%
RAC838| ISG | MMY| 55HET | 10000 | 30%
PR =A XS 4 () % | RAC871 | OKA| UEO| 55E 81 5,400 58% |4
RAC873 | OKA| UEO| 55HAT | 6.400 50% |4
RAC875 | OKA| UEO| 55HAT | 6.400 50% |4
RAC879 | OKA| UEO| 55HRT | 6.400 50% |4
RAC881| OKA| UEO| 55HAT | 6.400 50% |4
RAC883 | OKA| UEO| 55E&ff 5,400 58% |4
AkBF | RAC872| UEO| OKA| 55HAT | 6400 50% |4
RAC874| UEO | OKA| 55HET | 6,400 50% |4
RAC876 | UEO | OKA| 55HET | 6,400 50% |4
RAC880 | UEO | OKA| 55HET | 6,400 50% |4
RAC882 | UEO | OKA| 55HET | 6,400 50% |4
RAC884 | UEO | OKA| 55HET | 5400 58% |4
SHR ) =53 ¥ (IB®) 5% | RAC815| OKA| RNJ| 55HET | 9400 46% |3
5% RAC816 | RNJ | OKA| 55HET | 9400 46% |3
(BB -BEAS | AEFRH R | RACSS3 | OKA| ASJ| 55HET | 15400 | 45% |4
BWEKBR | RAC854| ASJ| OKA| 55HET | 15400 | 45% |4
(BB -5HE | AHEGRB R | RACT21 | OKA| OGN| 55HET | 18500 | 47%
E#MER | RACT24| OGN[ OKA| 55EHT | 18500 | 47%




[R—IR—%BHEEXR(12A18~24BEES)

SEREAE 2019/11/21 ~
12/18-24
HE|EE| FH A—"—%H
=] gy | L2
L =l LS L — éu—all;g e
B -EE 4l (FRE) % | RACS0T | OKA[ MMY[ 55E 81 9,100 57% | A K7k:8.800
EER RAC804 | MMY | OKA[ 55 B Al 8,800 59% |£+H:9,100
BE-EE BER RAC833 | MMY| ISG | 55E T | 10,000 30%
RAC837 | MMY| ISG | 55HET | 10000 | 30%
RiER RAC834 | ISG | MMY| 55H & 10.000 30%
RAC838| ISG | MMY| 55HET | 10000 | 30%
PR =A XS 4 () % | RAC871 | OKA| UEO| 55E 81 5,400 58% |4
RAC873 | OKA| UEO| 55HAT | 6.400 50% |4
RAC875 | OKA| UEO| 55HAT | 6.400 50% |4
RAC879 | OKA| UEO| 55HRT | 6.400 50% |4
RAC881| OKA| UEO| 55HAT | 6.400 50% |4
RAC883 | OKA| UEO| 55E&ff 5,400 58% |4
AkBF | RAC872| UEO| OKA| 55HAT | 6400 50% |4
RAC874| UEO | OKA| 55HET | 6,400 50% |4
RAC876 | UEO | OKA| 55HET | 6,400 50% |4
RAC880 | UEO | OKA| 55HET | 6,400 50% |4
RAC882 | UEO | OKA| 55HET | 6,400 50% |4
RAC884 | UEO | OKA| 55HET | 5400 58% |4
SHR ) =53 ¥ (IB®) 5% | RAC815| OKA| RNJ| 55HET | 9400 46% |3
5% RAC816 | RNJ | OKA| 55HET | 9400 46% |3
(BB -BEAS | AEFRH R | RACSS3 | OKA| ASJ| 55HET | 15400 | 45% |4
BWEKBR | RAC854| ASJ| OKA| 55HET | 15400 | 45% |4
(BB -5HE | AHEGRB R | RACT21 | OKA| OGN| 55HET | 18500 | 47%
E#MER | RACT24| OGN[ OKA| 55EHT | 18500 | 47%




[R—/IR—%BHEEXR(10A30~3I1BEES)

SEREAE 2019/11/21 ~
10/30 | 10/31
=pg B ;-j‘i’% gui %*&]m A=/ =548 | R—i—5i§
EE 22 BAR ] mam | mnm
(BB =B h#8 (FRER) 5 | RAC801 | OKA | MMY| 55E & 9,100 9,100
FEE RAC804 | MMY| OKA| 55E &1 9,100 9,100
EBE-mG BER RAC833 | MMY| ISG | 55H &1 | 10000 | 10500
RAC837 | MMY| ISG | 55H &1 | 10000 | 10500
BER RAC834| ISG | MMY| 55H&l | 10000 | 10500
RAC838| ISG | MMY| 55H&l | 10000 | 10500
B =AKE h#8(FRE) 5 | RAC871 | OKA| UEO| 55 6,000 6,600
RAC873| OKA| UEO| 55B &1 | 6.800 8,000
RAC875 | OKA| UEO| 55B &1 | 6.800 8,000
RAC879 | OKA| UEO| 55B &1 | 6.800 6,800
RAC881| OKA| UEO| 55B &1 | 6.800 6,800
RAC883 | OKA| UEO| 55B &1 | 6.600 6,000
ARBR RAC872 | UEO | OKA| 55B 8l 8,000 8,000
RAC874 | UEO | OKA| 55B &1 | 6.800 8,000
RAC876 | UEO | OKA| 55B &1 | 6.800 8,000
RAC880 | UEO | OKA| 55B &1 | 6.800 8,000
RAC882 | UEO | OKA| 55B &1 | 6.800 6,800
RAC884 | UEO | OKA| 55B &1 | 6,000 6,000
R (RER) =5 h#8(FRE) % | RACS15 | OKA| RNJ| 55 9,400 10,600
5 5 RAC816 | RNJ | OKA| 55B &l 9,400 10,600
R (RE) =EEKRS | PHEIRH S | RACSS3 | OKA| AsJ| 55BN 15,400 18,100
EEKEK | RACS54| ASJ | OKA| 55B AT 15,400 18,100
R (R =5 BE h#B () % | RACT21 | OKA| OGN| 55H I 18,000 19.300
E3RER | RACT24| OGN[ OKA| 55H AT | 18,000 | 19,300

RAC



[R——%BEER11B1~3AEBED)

SEREAE 2019/11/21 ~
1/1 11/2 11/3
=pg B ;-j‘i’% gui %*&]m A—/S—548 | A—1 58 | A —5
EE| 22 BAUR | anm | snm | eea
(BB =B i (FRER) % | RACBOT | OKA [ MMY il 9,100 9,100 9,100
FEE RAC804 | MMY | OKA il 9,100 7,600 7,600
BE-EG BER RAC833 | MMY| IsG | 10,500 | 10,000 | 10500
RAC837 | MMY| IsG i | 10,500 [ 10,000 | 10500
wER RAC834 | ISG | MMY. | 10,500 | 10,000 | 10500
RAC838 | ISG | MMY. i | 10,500 | 10,000 | 10500
B =AKE i (%) % | RAC871 | OKA | UEO il 6,600 5,400 5,400
RAC873 | OKA | UEO | 6.800 8,000 6,400
RAC875 | OKA | UEO | 8.000 8,000 6,400
RAC879 | OKA [ UEO | 6800 8,000 8,000
RAC881 | OKA [ UEO | 6800 8,000 8,000
RAC883 | OKA [ UEO | 6.000 6,600 6,600
ARBR RAC872 | UEO | OKA i 8,000 8,000 6,400
RAC874 | UEO | OKA | 8000 6,400 8,000
RAC876 | UEO | OKA | 8000 8,000 8,000
RAC880 | UEO | OKA | 8000 6,400 8,000
RAC882 | UEO | OKA | 6.800 6,400 6,400
RAC884 | UEO | OKA | 6000 5,400 5,400
R (RER) =5 i (FRE) % | RAC815 | OKA | RNJ i 10,600 9,200 10,600
i RAC816 | RNJ | OKA i | 10,600 | 9200 | 10,600
B ORE) -EXXRE | P GRE) % | RACSS3 | OKA| ASJ i 18,100 15,200 18,100
BEKRBE | RAC854 | ASJ | OKA i 18,100 15,200 18,100
R (R =5 BE P48 (FRE) % | RACT21 | OKA| OGN i 19.300 18,000 19.300
SRER RAC724 | OGN| OKA i 19.300 18,000 19.300

RAC



[R—/IR—%BHEEXR(11A20~23BEES)

SEREAE 2019/11/21 ~
11/20 11/21 11/22 11/23
=40 B2 ;'ﬁbﬁ §|J§ ﬁigm A—r—5%f8 | A% | R~/ —%& | R/ —%i§
= B | EAE | EEE | 868
(BB =B i (FRER) % | RACBOT | OKA [ MMY il 9,100 9,100 9,100 9,100
FEE RAC804 | MMY | OKA il 8,000 8,000 8,000 7,600
RiE=EH BEER RAC833 | MMY | ISG il 10.000 10500 10500 10,500
RAC837 | MMY| 1SG i_| 10000 [ 10500 [ 10500 | 10500
wER RAC834 | ISG | MMY i | 10000 [ 10500 [ 10,500 | 10500
RAC838 | ISG | MMY i | 10000 [ 10500 [ 10,500 | 10500
B =AKE i (%) % | RAC871 | OKA | UEO il 6,000 6,000 6,600 6,600
RAC873 | OKA| UEO | 8.000 8,000 8,000 8,000
RAC875 | OKA | UEO | 8.000 8,000 8,000 8,000
RAC879 | OKA| UEO | 6800 6,800 6,800 8,000
RAC881 | OKA | UEO | 6800 6,800 6,800 8,000
RAC883 | OKA | UEO | 6.000 6,000 6,000 6,600
ARBR RAC872 | UEO | OKA i 8,000 6,800 8,000 6,400
RAC874 | UEO | OKA | 8,000 8,000 6,800 6,400
RAC876 | UEO | OKA | 8,000 8,000 8,000 8,000
RAC880 | UEO | OKA | 8,000 8,000 8,000 6,400
RAC882 | UEO | OKA | 8,000 6,800 6,800 8,000
RAC884 | UEO | OKA | 6.600 6,000 6,000 6,600
R (RER) =5 Fh#8(FRE) 5 | RAC815 | OKA| RNJ i 9,400 10,600 10,600 10,600
i RAC816 | RNJ | OKA i 9,400 10,600 | 10,600 | 10,600
B ORE) -EXXRE | P GRE) % | RACSS3 | OKA| ASJ i 15,400 18,100 18,100 18,100
BEKRBE | RAC854 | ASJ | OKA i 15,400 18,100 18,100 18,100
R (R =5 BE P48 (FRE) % | RACT21 | OKA| OGN i 18,000 19.300 19,300 19,300
SRER RAC724 | OGN| OKA i 18.000 19.300 19.300 19.300

RAC



TYILSEBIEER(10A25~11 H8ARES)

SEREAE - 2019/11/21 ~
10/25-29,11/4-8
HE|EE| FH ISR F
=48] B2 | 5 g —
i | 2| MAMR EEE g;g s
B -EE P8 (IR ¢ | RAC801 [ OKA| MMY| 75E 81 7,400 63% | A Aok:7.100
EER RAC804 | MMY | OKA[ 75 B8 6,900 66% | &+ H:7,200
BE-EE EEE RAC833 | MMY| I1SG | 7588 9,900 27%
RAC837 | MMY| ISG | 751 9,900 27%
"ER RAC834 | ISG | MMY| 75H & 9,900 27%
RAC838 | ISG | MMY| 75H I 9,900 27%
PERE) =AXE | (IR K | RACSTI | OKA| UEO| 75B 8] 4,300 65% |4 :4,900
RAC873 | OKA| UEO | 7581 5,400 56% |4 15,800
RAC875 | OKA| UEO | 7581 5,400 56% |4 15,800
RAC879 | OKA| UEO | 75881 5,400 56% |4 15,800
RAC881| OKA| UEO| 7581 5,400 56% |4 15,800
RAC883 | OKA| UEO| 75HET | 4300 65% |4 :4,900
AkBF | RACS72| UEO| OKA| 758 A1 5,400 56% |4 15,800
RAC874 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC876 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC880 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC882 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC884 | UEO | OKA| 75HET | 4300 65% |4 :4,900
SHR ) =53 ¥ (IB®) % | RAC815| OKA[ RNJ| 75HET | 9,000 TE :9,200
5% RAC816 | RNJ | OKA[ 75HET | 9,000 TE :9,200
(BB -BEAS | A@EH R | RACSS3 | OKA| ASJ| 75HET | 14400 | 46%
BEKRBH | RAC854| ASJ| OKA| 75HET | 14400 [ 46%
(BB -5HE | AHEGEB R | RACT21 | OKA| OGN| 75HE1 | 17.700 | 47%
E#MER | RACT24[ OGN[ OKA| 758 #T | 17.700 | 47%




TSR BLIEER(11AI~198EFES)

SEREAE - 2019/11/21 ~
11/9-19
HE|EE| FH ISR F
=48] B2 | 5 g —
i | 2| MAMR EEE g;g s
B -EE P8 (IR ¢ | RAC801 [ OKA| MMY| 75E 81 7,400 63% | A Aok:7.100
EER RAC804 | MMY | OKA[ 75 B8 6,900 66% | &+ H:7,200
BE-EE EEE RAC833 | MMY| I1SG | 7588 9,900 27%
RAC837 | MMY| ISG | 751 9,900 27%
"ER RAC834 | ISG | MMY| 75H & 9,900 27%
RAC838 | ISG | MMY| 75H I 9,900 27%
PERE) =AXE | (IR K | RACSTI | OKA| UEO| 75B 8] 4,300 65% |4 :4,900
RAC873 | OKA| UEO | 7581 5,400 56% |4 15,800
RAC875 | OKA| UEO | 7581 5,400 56% |4 15,800
RAC879 | OKA| UEO | 75881 5,400 56% |4 15,800
RAC881| OKA| UEO| 7581 5,400 56% |4 15,800
RAC883 | OKA| UEO| 75HET | 4300 65% |4 :4,900
AkBF | RACS72| UEO| OKA| 758 A1 5,400 56% |4 15,800
RAC874 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC876 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC880 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC882 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC884 | UEO | OKA| 75HET | 4300 65% |+ H:4,900
SHR ) =53 ¥ (IE®) 5 | RAC815| OKA[ RNJ| 75HET | 9,200 43% X 7K:9.000
5% RAC816 | RNJ | OKA[ 75HET | 9,200 43% | A X7K:9.000
(BB -BEAS | A@EH R | RACSS3 | OKA| ASJ| 75HET | 14400 | 46%
BEKRBH | RAC854| ASJ| OKA| 75HET | 14400 [ 46%
(BB -5HE | AHEGEB R | RACT21 | OKA| OGN| 75HE1 | 17.700 | 47%
E#MER | RACT24[ OGN[ OKA| 758 #T | 17.700 | 47%




LSRG IEER (11 A24~30BEFES)

SEREAE - 2019/11/21 ~
11/24-30
HE|EE| FH ISR F
=48] B2 | 5 g —
i | 2| MAMR EEE g;g s
B -EE P8 (IR ¢ | RAC801 [ OKA| MMY| 75E 81 7,400 63% | A Aok:7.100
EER RAC804 | MMY | OKA[ 75 B8 6,900 66% | &+ H:7,200
BE-EE EEE RAC833 | MMY| I1SG | 7588 9,900 27%
RAC837 | MMY| ISG | 751 9,900 27%
"ER RAC834 | ISG | MMY| 75H & 9,900 27%
RAC838 | ISG | MMY| 75H I 9,900 27%
PERE) =AXE | (IR K | RACSTI | OKA| UEO| 75B 8] 4,300 65% |4 :4,900
RAC873 | OKA| UEO | 7581 5,400 56% |4 15,800
RAC875 | OKA| UEO | 7581 5,400 56% |4 15,800
RAC879 | OKA| UEO | 75881 5,400 56% |4 15,800
RAC881| OKA| UEO| 7581 5,400 56% |4 15,800
RAC883 | OKA| UEO| 75HET | 4300 65% |4 :4,900
AkBF | RACS72| UEO| OKA| 758 A1 5,400 56% |4 15,800
RAC874 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC876 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC880 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC882 | UEO | OKA| 75HAT 5,400 56% |4 15,800
RAC884 | UEO | OKA| 75HET | 4300 65% |+ H:4,900
SHR ) =53 ¥ (IE®) 5 | RAC815| OKA[ RNJ| 75HET | 9,200 43% X 7K:9.000
5% RAC816 | RNJ | OKA[ 75HET | 9,200 43% | A X7K:9.000
(BB -BEAS | A@EH R | RACSS3 | OKA| ASJ| 75HET | 14400 | 46%
BEKRBH | RAC854| ASJ| OKA| 75HET | 14400 [ 46%
(BB -5HE | AHEGEB R | RACT21 | OKA| OGN| 75HE1 | 17.700 | 47%
E#MER | RACT24[ OGN[ OKA| 758 #T | 17.700 | 47%




TSR GIERR(12A1~3BEES)

SEREAE - 2019/11/21 ~
12/1-3
HE|EE| FH ISR F
=48] B2 | 5 g
i | = | AR EEE éu—a?g s

B -EE P8 (IR ¢ | RAC801 [ OKA| MMY| 75E 81 7,500 65% | A:7.800
EER RAC804 | MMY | OKA[ 75 B8 7.200 66%
BE-EE EEE RAC833 | MMY| I1SG | 7588 9,900 30%
RAC837 | MMY| ISG | 75HET | 9,900 30%
"ER RAC834 | ISG | MMY| 75H & 9,900 30%
RAC838 | ISG | MMY| 75H I 9,900 30%
PERE) =AXE | (IR K | RACSTI | OKA| UEO| 75B 8] 4,300 67%
RAC873 | OKA| UEO | 7581 5,400 58%
RAC875 | OKA| UEO | 7581 5,400 58%
RAC879 | OKA| UEO | 75881 5,400 58%
RAC881| OKA| UEO| 7581 5,400 58%
RAC883 | OKA| UEO| 75BAT | 4.300 67%
AkBF | RACS72| UEO| OKA| 758 A1 5,400 58%
RAC874 | UEO | OKA| 75HAT 5,400 58%
RAC876 | UEO | OKA| 75HAT 5,400 58%
RAC880 | UEO | OKA| 75HAT 5,400 58%
RAC882 | UEO | OKA| 75HAT 5,400 58%
RAC884 | UEO | OKA| 75HET | 4300 67%
SHR ) =53 ¥ (IE®) 5 | RAC815| OKA[ RNJ| 75HET | 9,200 47%
5% RAC816 | RNJ | OKA[ 75HET | 9,200 47%
(BB -BEAS | A@EH R | RACSS3 | OKA| ASJ| 75HET | 14400 | 48%
BEKRBH | RAC854| ASJ| OKA| 75HET | 14400 | 48%
(BB -5HE | HEGRT R | RACT21 | OKA| OGN| 75HE1 | 17.700 | 49%
E#MER | RACT24[ OGN[ OKA| 758 #T | 17.700 | 49%




LS EGFIEER (12A4~10BHEFED)

SEREAE 2019/11/21 ~
12/4-10
HE|EE| FH ISR F
=] gy | L2
L ke LR LY p— éu_ﬁ?g e

B -EE P8 (IR ¢ | RAC801 [ OKA| MMY| 75E 81 7.800 63% | A K7k:7.500

EER RAC804 | MMY | OKA[ 75 B8 7.200 66% |+ H:7,500
BE-EE BER RAC833 | MMY| I1SG | 7588 9,900 30%
RAC837 | MMY| ISG | 75HET | 9,900 30%
"ER RAC834 | ISG | MMY| 75H & 9,900 30%
RAC838 | ISG | MMY| 75H I 9,900 30%
PERE) =AXE | (IR K | RACSTI | OKA| UEO| 75B 8] 4,300 67%
RAC873 [ OKA| UEO| 75E#I 5,400 58%
RAC875 | OKA| UEO| 75E#I 5,400 58%
RAC879 | OKA| UEO| 75E#I 5,400 58%
RAC881 | OKA| UEO| 75E#I 5,400 58%
RAC883 | OKA| UEO| 75B#I1 | 4.300 67%
AkBF | RACS72| UEO| OKA| 758 A1 5,400 58%
RAC874 | UEO | OKA| 75HAT 5,400 58%
RAC876 | UEO | OKA| 75HAT 5,400 58%
RAC880 | UEO | OKA| 75HAT 5,400 58%
RAC882 | UEO | OKA| 75HAT 5,400 58%
RAC884 | UEO | OKA| 75HET | 4300 67%
SHR ) =53 ¥ (IE®) 5 | RAC815| OKA[ RNJ| 75HET | 9,200 47%
5% RAC816 | RNJ | OKA[ 75HET | 9,200 47%
B GRE) =EXKE | PMGRB S | RAC853 | OKA| ASJ| 75E AT | 14400 | 48%
BEKRBH | RAC854| ASJ| OKA| 75HET | 14400 | 48%
(BB -5HE | HEGRT R | RACT21 | OKA| OGN| 75HE1 | 17.700 | 49%
E#MER | RACT24[ OGN[ OKA| 758 #T | 17.700 | 49%




LS EBIEER(12A11~1TEEES)

SEREAE 2019/11/21 ~
12/11-17
HE|EE| FH ISR F
=] gy | L2
L ke LR LY p— éu—all;g e

B -EE P8 (IR ¢ | RAC801 [ OKA| MMY| 75E 81 8,400 61% | A Aok:8,100

EER RAC804 | MMY | OKA[ 75 B8 8,100 62% |+ H:8400
BE-EE EEE RAC833 | MMY| I1SG | 7588 9,900 30%
RAC837 | MMY| ISG | 75HET | 9,900 30%
"ER RAC834 | ISG | MMY| 75H & 9,900 30%
RAC838 | ISG | MMY| 75H I 9,900 30%
PERE) =AXE | (IR K | RACSTI | OKA| UEO| 75B 8] 4,600 64%
RAC873 | OKA| UEO | 7581 5,400 58%
RAC875 | OKA| UEO | 7581 5,400 58%
RAC879 | OKA| UEO | 75881 5,400 58%
RAC881| OKA| UEO| 7581 5,400 58%
RAC883 | OKA| UEO| 75BT | 4600 64%
AkBF | RACS72| UEO| OKA| 758 A1 5,400 58%
RAC874 | UEO | OKA| 75HAT 5,400 58%
RAC876 | UEO | OKA| 75HAT 5,400 58%
RAC880 | UEO | OKA| 75HAT 5,400 58%
RAC882 | UEO | OKA| 75HAT 5,400 58%
RAC884 | UEO | OKA| 75HET | 4,600 64%
SHR ) =53 ¥ (IE®) 5 | RAC815| OKA[ RNJ| 75HET | 9,200 47%
5% RAC816 | RNJ | OKA[ 75HET | 9,200 47%
(BB -BEAS | A@EH R | RACSS3 | OKA| ASJ| 75HET | 14400 | 48%
BEKRBH | RAC854| ASJ| OKA| 75HET | 14400 | 48%
(BB -5HE | AHEGET R | RACT21 | OKA| OGN| 75HE1 | 18200 | 48%
E#MER | RACT24[ OGN[ OKA| 758 #T | 18200 | 48%




TS %RBIEER(12A18~24BEED)

SEREAE 2019/11/21 ~
12/18-24
HE|EE| FH ISR F
=] gy | L2
L ke LR LY p— éu—all;g e

B -EE P8 (IR ¢ | RAC801 [ OKA| MMY| 75E 81 8,400 61% | A Aok:8,100

EER RAC804 | MMY | OKA[ 75 B8 8,100 62% |+ H:8400
BE-EE EEE RAC833 | MMY| I1SG | 7588 9,900 30%
RAC837 | MMY| ISG | 75HET | 9,900 30%
"ER RAC834 | ISG | MMY| 75H & 9,900 30%
RAC838 | ISG | MMY| 75H I 9,900 30%
PERE) =AXE | (IR K | RACSTI | OKA| UEO| 75B 8] 4,600 64%
RAC873 | OKA| UEO | 7581 5,400 58%
RAC875 | OKA| UEO | 7581 5,400 58%
RAC879 | OKA| UEO | 75881 5,400 58%
RAC881| OKA| UEO| 7581 5,400 58%
RAC883 | OKA| UEO| 75BT | 4600 64%
AkBF | RACS72| UEO| OKA| 758 A1 5,400 58%
RAC874 | UEO | OKA| 75HAT 5,400 58%
RAC876 | UEO | OKA| 75HAT 5,400 58%
RAC880 | UEO | OKA| 75HAT 5,400 58%
RAC882 | UEO | OKA| 75HAT 5,400 58%
RAC884 | UEO | OKA| 75HET | 4,600 64%
SHR ) =53 ¥ (IE®) 5 | RAC815| OKA[ RNJ| 75HET | 9,200 47%
5% RAC816 | RNJ | OKA[ 75HET | 9,200 47%
(BB -BEAS | A@EH R | RACSS3 | OKA| ASJ| 75HET | 14400 | 48%
BEKRBH | RAC854| ASJ| OKA| 75HET | 14400 | 48%
(BB -5HE | AHEGET R | RACT21 | OKA| OGN| 75HE1 | 18200 | 48%
E#MER | RACT24[ OGN[ OKA| 758 #T | 18200 | 48%




IS5 RB I EER(10A30~31BEED)

SEREAE 2019/11/21 ~

10/30 10/31
=40 B2 ;‘ig% EIJE T " DIESEE| VISR E

EE| 2B BAUR | e | mem

(BB =B h#8 (FRER) 5 | RACSO1 | OKA | MMY| 75E R 8,400 8,400
FEE RAC804 | MMY| OKA| 75 & 8,400 8,400

RiE=EH BEER RAC833 | MMY| I1SG | 75 9,900 10,300
RAC837 | MMY| ISG | 75881 9,900 10,300

BER RAC834 [ ISG | MMY[ 75H %] 9,900 10,300

RAC838| ISG | MMY[ 7581 9,900 10,300

B =AKE P48 (FER) 5 | RACS71 | OKA| UEO| 75B AT 4,900 5,600
RAC873 | OKA| UEO| 75B AT 5,800 7,000

RAC875 | OKA| UEO| 7581 5,800 7,000

RAC879 | OKA| UEO| 7581 5,800 5,800

RAC881| OKA| UEO| 75B AT 5,800 5,800

RAC883 | OKA| UEO| 75BAT 5,600 4,900

ARBR RAC872 | UEO | OKA| 758 il 7,000 7,000

RAC874 | UEO| OKA| 75H % 5,800 7,000

RAC876 | UEO| OKA| 75B % 5,800 7,000

RAC880 | UEO| OKA| 75E % 5,800 7,000

RAC882 | UEO| OKA| 75H % 5,800 5,800

RAC884 | UEO| OKA| 75H % 4,900 4,900

R (RER) =5 P48 (FRE) % | RACS15 | OKA| RNJ| 75E AT 9,200 10,400
5 5 RAC816 | RNJ | OKA| 75B il 9,200 10,400

R (RE)=EEKRE | P PH S | RACS53 | OKA| AsJ| 75HT 14,400 17,100
HEKEK | RACS54| ASJ| OKA| 758l 14,400 17,100

R (R =5 BE P48 (FRE) % | RACT21 | OKA| OGN| 75B 8T 17,700 19,200
SRER RAC724| OGN| OKA| 758 i 17,700 19,200

RAC



TSR GIERER(1MA1~3BEED)

SEREAE 2019/11/21 ~

1/1 11/2 11/3
) B4 9&3% EIJZ’E ﬂ'ﬂm YIESHE [ VIS EB | DS

EE 22| BAUR | gpem | ommm | osnm

(BB =B h#8 (FRER) 5 | RACSO1 | OKA | MMY| 75E R 8,400 8.400 8,400
FEE RAC804 | MMY| OKA| 75 & 8,400 6,900 6,900

BE-EG BER RAC833 | MMY| ISG | 7581 10,300 9,900 10,300
RAC837 | MMY| ISG | 75881 10,300 9,900 10,300

wER RAC834 | ISG | MMY[ 7581 10,300 9,900 10,300

RAC838| ISG | MMY[ 7581 10,300 9,900 10,300

B =AKE P48 (FER) 5 | RACS71 | OKA| UEO| 75B AT 5,600 4,300 4,300
RAC873 | OKA| UEO| 75B AT 5,800 7,000 5,400

RAC875 | OKA| UEO| 7581 7.000 7,000 5,400

RAC879 | OKA| UEO| 7581 5,800 7,000 7,000

RAC881| OKA| UEO| 75B AT 5,800 7,000 7,000

RAC883 | OKA| UEO| 75BAT 4,900 5,600 5,600

ARBR RAC872 | UEO | OKA| 758 il 7,000 7.000 5,400

RAC874 | UEO| OKA| 75H % 7,000 5,400 7,000

RAC876 | UEO| OKA| 75B % 7,000 7,000 7,000

RAC880 | UEO| OKA| 75E % 7,000 5,400 7,000

RAC882 | UEO| OKA| 75H % 5,800 5,400 5,400

RAC884 | UEO| OKA| 75H % 4,900 4,300 4,300

R (RER) =5 P48 (FRE) % | RACS15 | OKA| RNJ| 75E AT 10,400 9,000 10,400
i RAC816 | RNJ| OKA| 75E % 10,400 9,000 10,400

R (RE)=EEKRE | P PH S | RACS53 | OKA| AsJ| 75HT 17,100 14,400 17,100
HEKEK | RACS54| ASJ| OKA| 758l 17,100 14,400 17,100

R (R =5 BE P48 (FRE) % | RACT21 | OKA| OGN| 75B 8T 19,200 17.700 19,200
SRER RAC724| OGN| OKA| 758 i 19,200 17.700 19,200

RAC



TS5 RBIEER(11A20~23BEED)

SEREAE 2019/11/21 ~

11/20 11/21 11/22 11/23
=40 B2 ;‘ig% EIJE ﬂ‘-’ﬂIE YIESEE | DIESEG| DS EB| VISR E

EE| 22| BAUR | gpm | ommm | omam | osam

(BB =B i (FRER) % | RACBOT | OKA [ MMY il 8,400 8.400 8,400 8,400
FEE RAC804 | MMY | OKA il 7,200 7.200 7,200 6,900

RiE=EH BEER RAC833 | MMY| 1SG il 9,900 10.300 10,300 10,300
RAC837 | MMY| IsG i 9,900 10,300 10,300 10,300

wER RAC834 | ISG | MMY. i 9,900 10,300 10,300 10,300

RAC838 | ISG | MMY. i 9,900 10,300 10,300 10,300

B =AKE i (%) % | RAC871 | OKA | UEO il 4,900 4,900 5,600 5,600
RAC873 | OKA | UEO i 7.000 7,000 7,000 7,000

RAC875 | OKA | UEO i 7.000 7,000 7,000 7,000

RAC879 | OKA [ UEO i 5,800 5,800 5,800 7,000

RAC881 | OKA [ UEO i 5,800 5,800 5,800 7,000

RAC883 | OKA [ UEO i 4,900 4,900 4,900 5,600

ARBR RAC872 | UEO | OKA i 7,000 5,800 7,000 5.400

RAC874 | UEO | OKA i 7,000 7,000 5,800 5,400

RAC876 | UEO | OKA i 7,000 7,000 7,000 7,000

RAC880 | UEO | OKA i 7,000 7,000 7,000 5,400

RAC882 | UEO | OKA i 7,000 5,800 5,800 7,000

RAC884 | UEO | OKA i 5,600 4,900 4,900 5,600

R (RER) =5 S GRE) £ | RAC815 | OKA| RNJ i 9,200 10,400 10,400 10,400
i RAC816 | RNJ | OKA il 9,200 10,400 10,400 10,400

B ORE) -EXXRE | P GRE) % | RACSS3 | OKA| ASJ i 14,400 17.100 17,100 17,100
BEKRBE | RAC854 | ASJ | OKA i 14,400 17.100 17,100 17,100

R (R =5 BE P48 (FRE) % | RACT21 | OKA| OGN i 17,700 19,200 19,200 19,200
SRER RAC724 | OGN| OKA i 17,700 19,200 19,200 19,200

RAC



